Equipment

Part N b D inti List Price
art Number escription Effective March 1, 2008
ICE MAKERS
629087922 KIT-ADAP ED2XX 30" X330/530/63 $524.18
629087924 KIT-ADAP DF/ED300 30" X330/530 $674.98
629087925 KIT-ADAP DF2XX 30" X330/530/63 $690.55
629087926 KIT-ADAP ED300 30" X330/530/63 $742.48
629087927 KIT-ADAP ED2XX 30" X330/530/63 $788.88
629087930 KIT-ADAP ED175 22" X322/522 GR $442.00
629087932 KIT-ADAP ED100/150 22" X322/52 $499.11
629087933 KIT-ADAP DF2XX 22" X322-522 GR $435.10
629087934 KIT-ADAP DF175 22" X322/522 GR $468.74
629087935 KIT-ADAP DF150 22" X322/522 GR $562.63
629087937 KIT-ADAP ED2XX 22" X322/522 BL $422.42
629087938 KIT-ADAP ED175 22" X322/522 BL $560.05
629087940 KIT-ADAP ED100/150 22" X322/52 $688.94
629087942 KIT-ADAP ED2XX 30.00" X1030/12 $525.43
629087943 KIT-ADAP ED300 30.00" X1030/12 $709.18
629087952 KIT-ADAP ED300 44" X1444/1844 $1,067.28
161768012 KIT ADP 22" UNT B430 & B530AP $75.99
161768013 KIT ADP 22" UNIT B530P $88.85
161768014 KIT ADP 30" UNIT ON 842 NEW $99.36
161768015 KIT ADP 30" UNT B1048P & S BIN $190.21
161768019 ADAPTER BIN 30" B842P & S BIN $118.07
630000233 KIT SPLASH GUARD 4 EVP $19.11
630000234 KIT SPLASH GUARD SINGLE EVAP $10.52
630000237 KIT ADP 500/700WIL F/430/530AP $533.98
630000239 KIT ADP 500/700WIL DUAL F/842P $536.45
630000240 KIT ADP 1000WIL F/842P/SS $292.84
630000241 KIT ADP 500/700/1000 WIL DUAL $344.04
631500007 KIT ADP 1000WIL 1048SS CTR HOL $364.76
631500076 KIT ADP 44" VNT B1048P & S BIN $41.74
631500084 KIT STACKING X SERIES $258.73
631500126 KIT GRAPHIC 23H X 22W GENERIC $136.00
631500180 KIT SVC FRONT PANEL ASY 1230AC $235.59
B28 BAGGER W/SEAL TAPE DISPENSER $649.26
BG8 BAG ICE 8LBS 11X19 (1000/CASE) $340.43
TR2 TAPE SEALING 1 ROLL FOR B28 $16.70
569200172 BIN-ICE STORAGE 1315# SBB 48" $5,610.00
B1048P BIN ICE STORAGE 1048# GRAY 48" $1,899.00
B1048PXTRM BIN-ICE STORAGE 1000# GRAY 48" $1,899.00
B1048SS BIN-ICE STORAGE 1000# SS 48" $2,356.00
B1048SSXTRM BIN-ICE STORAGE 1000# SS 48" E $2,356.00
B122AP BIN-ICE STORAGE 122# POLY 22" $849.00
B230AP BIN-ICE STORAGE 230# POLY 30" $868.00
B322AP BIN-ICE STORAGE 322# POLY 22" $1,172.00
B430AP BIN-ICE STORAGE 430# POLY 30" $1,158.00




B530AP BIN ICE STORAGE 530# POLY 30" $1,317.00
B530SS BIN ICE STORAGE 530# SS 30" $1,768.00
B530SS5675 BIN ICE STORAGE 530# SS 30" CU $0.00
B530SSXTRM BIN-ICE STORAGE 500# STAINLESS $1,768.00
B842P BIN-ICE STORAGE 800# GRAY 42" $1,692.00
B842SS BIN-ICE STORAGE 800# SS 42" $2,200.00
569200001 FLAKER AIR 510 115/60 C $4,817.00
569200002 FLAKER WATER 510 115/60 C $5,012.00
569200003 FLAKER AIR 512 230/50 C $5,092.00
569200005 FLAKER AIR 710 115/60 C $6,344.00
569200008 FLAKER WATER 711 240/60 C $6,641.00
569200009 FLAKER AIR 712 230/50 C $6,641.00
569200011 FLAKER AIR 712 230/50 C $5,967.00
5692000116875 FLAKER AIR 712 230/50 W CUSTOM $0.00
569200013 FLAKER AIR 1101 2240/60 $8,502.00
569200014 FLAKER WATER 1101 240/60 C $8,699.00
569200015 FLAKER AIR 1102 230/50 C $8,749.00
569200016 FLAKER WATER 1102 230/50 C $8,699.00
569200017 FLAKER REMOTE 1101 240/60 C $7,790.00
569200082 FLAKER AIR 2201 240/60 C $13,832.00
569200335 FLAKER AIR 2202 230/50 C $14,145.00
569200339 FLAKER REMOTE 2201 230/60 C $14,145.00
AF200PSC50R FLAKER SELFCON 200 230/50 C $4,889.00
AF200PSCR FLAKER AIR PAINTED CABINET $4,889.00
AF200SSCR FLAKER SELFCON 200 115/60 C $5,616.00
569200019 CHUNKLT WATER 500 115/60 C $4,544.00
569200021 CHUNKLT WATER 502 230/50 C $4,815.00
569200029 CHUNKLT AIR 702 230/50 C $6,072.00
569200030 CHUNKLT WATER 702 230/50 C $5,875.00
569200035 CHUNKLT AIR 1002 230/50 C $8,825.00
569200036 CHUNKLT WATER 1002 230/50 C $8,825.00
569200081 CHUNKLT AIR 2001 230/60 C $13,224.00
569200336 CHUNKLT AIR 2002 230/50 C $14,538.00
631600109 CHUNKLT WATER UC700W 115/60 $6,084.00
631600113 CHUNKLT AIR  UCR702A 230/50 $6,260.00
631600114 CHUNKLT AIR  UC702A 230/50 $6,260.00
320530000 SWT ROCKER TPDT ON/OF/ON 15A $35.00
631650001 DP230 ICE DISP PB 230/50 200 $4,438.00
DPP230 DP230 ICE DISP PB 120/60 200 $4,316.00
JETSPRAY UNITS
A8420 JT20 2F SSL 120/60 BASE OWH $2,257.00
A8422 JWT202 2F SSL 120/60 BASE 2WH $2,918.00
A8430 JT20 2F SSL 230/50 BASE OWH $2,269.00
A8430083 JT20 2F SSL 230/50 BASE OWH $2,386.00
A8432 JWT202 2F SSL 230/50 BASE 2WH $2,953.00
A8450 JT20 2F SSL 240/60 BASE OWH $2,292.00
A8530 JT30 3F SSL 120/60 BASE OWH $2,838.00
A8540 JT30 3F SSL 230/50 BASE OWH $2,877.00
A8560 JT30 3F SSL 240/60 BASE OWH $2,885.00
A8701 JS7 1F SSL 120/60 UNIT OWH 5GA $1,614.00
A8711 JS7 1F SSL 230/50 UNIT OWH 5GA $1,651.00




A8712083 JS7 1F SSL 230/50 BASE OWH $0.00
A8731 JS7-W26 UNIT R134A $1,617.00
A8603 TJ3 2F SSL 120/60 UNIT OWH 5GA $2,364.00
A8651 EJ1 1F SSL 120/60 BASE OWH $1,911.00
A8652 EJ1 1F SSL 230/50 BASE OWH $1,949.00

A8652Q1653 P- EJ1 1F SSL 230/50 BASE OWH $0.00
A8661 J15 1F SSL 120/60 BASE OWH $2,153.00
A8662 J15 1F SSL 230/50 BASE OWH $2,188.00
A8663 J15 1F SSL 240/60 BASE OWH $2,188.00
A8982 BOWL-ASY 08GAL EJ1 50HZ SPRAY $550.79
S4467 BOWL 8 GAL EJ-JW $229.97
S6129 BOWL 15 GAL $480.65
S6261 BOWL-ASY 15GAL J15 50HZ SPRAY $579.28
S6562 BOWL 5 GAL JS/JT $161.31
A0881 BOWL-ASSY 03GAL JT1,2,3 FOAMY $318.24
Al1195 BOWL-ASSY 05GAL JT1,2,3 SPRAY $395.64
A3469 BOWL-ASSY 05GAL JT1,2,3 SPRAY $400.00
A4200 BOWL-ASSY 05GAL JT1,2,3 FOAMY $341.12
A6995 BOWL-ASSY 03GAL JT1,2,3 SPRAY $233.24
A7001 BOWL ASY 5 GAL LO-LEVEL W25 $207.00
A8010 BOWL-ASSY 03GAL JT1,2,3 PULPY $171.60
S4466 BOWL-ASSY 08GAL EJ1 SPRAY $804.36
S6044 BOWL-ASSY 15GAL J15 SPRAY $593.84

Parts and Accessories
LIST PRICE

Part Number

Description

Effective March 1, 2008

PARTS AND ACCESORIES

629088377 KIT ED150 FLAVOR BLAST 2FL BLK $805.00
629088378 KIT ED150 FLAVOR BLAST 4FL BLK $1,025.15
629088398 KIT ED150 FLAVOR BLAST 4FL GRE $940.00
2072 SCREW TR 10-32 PAPH 40 SS $0.42
318556000 HANGER PIPE 1/2" MINERALAC #0 $0.00
631500202 KIT INSTALLATION APEXX6 PRE-CH $0.00
631500203 KIT INSTALLATION APEXX6 PYTHON $0.00
631500205 KIT CO2 REGULATOR PANEL APEXX6 $0.00
83914001 LABEL NOTICE PRESSURE 20 PSIG $1.05
134410000 TOOL-WRENCH VALVE FLAT $2.13
134410001 TOOL-WRENCH OFFSET $3.76
160801000 SHRWD HANDWHEEL $8.15
160802000 SPRING SHRWD $1.65
160805000 SHRWD STEM ASSY $7.70
160839000 O-RING 1.10ID 139CS 90DU BU-N $1.74
160841000 VALVE SHUT-OFF CO2 CYL ALUM $51.06
160843000 SHRWD HANDWHEEL PLST $16.90
SR225 RING SNAP CATALINA 2.40 X 2.36 $2.61
SR246 RING SNAP CATALINA 2.65 X 2.60 $2.61
VPCHO002BLK HANDLE SAFETY CARRY CATALINA B $22.83
309384000 PUMP WATER 100GPH SS PRO#1604 $145.26
311601000 PUMP WATER 25GPH STN PRO#51622 $145.26
312996000 PUMP WATER 100GPH BR PRO#51304 $226.75




550275 PUMP 50 GPH STN STL PROCON $145.44
1986 CONN STACKING B-N-B PSTC TOLLE $0.76
1992 CAP END PLASTIC B-N-B  TOLLE $0.37
1BIFJ SHELF BIB 1W 1H TOL | BLK $54.03
2BIFJ SHELF BIB 2W 1H TOL | BLK $53.48

2BTSFJ SHELF BIB 2W TOL | BK SOLID TO $99.77
3BFFJ SHELF BIB 3W 1H TOL F BLK $83.83
3BIFJ SHELF BIB 3W 1H TOL | BLK $78.84

3BPM4FJ MOUNT PUMP 3B4P SLANT BLK FJET $64.28
3BTSFJ SHELF BIB 3W TOL BK SOLID TOP $116.44
771000177 C-PLT 12X18 07CR PS $1,279.39
771000200 C-PLT 08X14 07CR PS 1/2 $336.39
77510201 C-PLT 08X12 2FL PR 7/16 $173.44
77510301 C-PLT 08X12 6FL PR 7/16 $364.25
77510901 C-PLT 08X14 6FL PR 7/16 $371.68
77511001 C-PLT 08X14 7FL PR 7/16 $409.04
77511601 C-PLT 10X15 6FL PR 7/16 $487.51
77511701 C-PLT 10X15 6FL PS 7/16 $434.30
77512101 C-PLT 12X18 6FL PR 7/16 $662.41
040442000 CONN 3/8 B-N-B COKE $6.82
050501501A KIT RAPAK PCSS CONN SYS SCREW $9.66
300423000 CONN BAG-N-BOX 375 $9.66
176057215 JUMPER 265 X 15" PIN $33.74
178009007 COLLAR LOCK BALL BLK $2.20
178037000 COLLAR LOCK 2SLOT $4.78
178078040 BODY QD BALL 7/16GAS $5.67
178079039 BODY QD BALL 7/16LIQ $4.68
178164000 BODY QD TWST 7/16 BRS PLTD INS $9.35
180045000 FLOAT SNIFTER VALVE $1.50
180049000 QK-DIS BALL GAS SNIFTER GRA $27.00
180793000 BODY SNIFT VAL $13.90
274205040 QK-DIS BALL GAS 1/4MFL GRA $9.93
274206039 QK-DIS BALL LIQUID 1/4MFL BLK $9.09
274207000 QK-DIS 2PIN GAS 5/16MFL RED $13.85
274208000 QK-DIS 3PIN LIQUID 5/16MFL RED $13.85
274211000 QK-DIS 2PIN GAS 1/4MFL RED $13.27
274212000 QK-DIS 3PIN LIQUID 1/4MFL RED $7.25
274242040 QK-DIS BALL GAS 1/4BARB GRA $8.86
274243039 QK-DIS BALL LIQUID 1/4BARB BLK $11.59
274244000 QK-DIS 2PIN GAS 1/4BARB RED $9.09
274245000 QK-DIS 3PIN LIQUID 1/4BARB RED $9.09
274250047 QK-DIS 2PIN GAS 1/4MFL YEL $7.30
274251047 QK-DIS 3PIN LIQUID 1/4MFL YEL $10.23
151202039 VAL-HD PREMIX SELF-CLOSING $89.37
252458039 VAL PRMX SQUEEZE BLK $79.83
252458100 VAL PRMX SQUEEZE GEN $78.30
252539039 VAL PRMX S-CLSG YK-SHNK BLK $79.83
252539239 VAL PRMX S-CLSG YK-SHNK CC $77.53
149523101 MANIFOLD RETURN SODA 9/16 1/4F $0.00
149825000 FITG L-BRB W/.413BRB W/3/8SVL $0.00
150792100 FITG L-STD 1/4 MF X 5/16MF PL $1.06




150792200 FITG L-STD 5/16 MF (2)GRY PL $1.55
150807100 FITG STGHT 1/4 MF X 5/16MF PL $1.83

1561 FITG-SPLICER 250 X 312 STN STL $23.44
168411000 FITG ADAPTER WTR TUB WDY PTP $13.56
176017000 NUT SWIV 7/16-20 BRNI $0.51
176193000 FITG STGHT 1/4 MF X (2)BLK PL $1.66
176195100 FITG T-STD 1/4 MF X (3) BR $2.42
176205000 FITG-NIPL 375TUBE 5/16F NUT SS $2.81
183047000 FITG STGHT 1/4MPT X (2)HEVY BR $4.33
183061000 FITG STGHT 1/4MPT X 7/16-20 BR $1.38
183068000 FITG L-STD 1/4NPT X STREET BR $8.55
183268000 FITG STGHT 1/4MPTLH (2) BR $19.33
183301100 VALVE CHK W/ADAP.438 $6.32
183310000 VALVE CHK BLKHD $9.41
183334000 FITG STGHT 1/4MPTLH 7/16-20 BR $3.31
187485000 FITG L-STD 1/4MPT X 1/4 MF BR $3.94
187502000 FITG L-STD 3/8MPT X 1/4 MF BR $11.89
187999000 STEM BARB .174 FLOW REG $1.51

1971 FITG L-BRB 1/2 X 1/4MPT PL $1.87
311242000 NUT SWIV 5/8-18 BRNI $1.20
311344000 FITG-NIPL 500TUBE 5/8 NUT SST $2.62
311345000 NUT SWIV 5/8-18 BRNI $6.39
311412000 FITG STGHT 3/8MPT X 3/8 MF SS $21.06
311741000 FITG- CONN 1/4BARB FCB STN STL $13.65
311742000 FITG-SPLICER 250 X 312 STN STL $3.09
311844047 FITG STGHT 1/4 MF X 3/8 MF PL $7.78
312061000 FITG BLKHD 3/8 MF X 3/8 MF BR $5.67
320640000 FITG STGHT 1/4MPT X 1/4 FF BR $12.11
40832004 FITG STGHT 1/2MPT X 1/2MPT BR $8.86
40850001 FITG BUSH 1/8FPT X 1/4MPT BR $1.15
40850004 FITG BUSH 1/4FPT X 1/2MPT BR $7.65
47540002 FITG T-STD 1/2NPT X STREET BR $21.61

4854 FITG T-BRB 3/8 (3) CHUD SS $8.70

51280 FITG L-BRB 3/4 $6.36

53276 FITG-DRAIN ASY FOAMED RH $13.39
560001503 STEM BARB 170 X 10-32 MALE $1.76
620709065 FITG L-BRB 1/2 X 3/8BRB SS $8.64
620709066 CONN INLET 3/8 X 1/4 BARB $3.61

70800 FITG BARB 3/8 X 1/4MPT BR $1.56
77010100 NUT SWIV 7/16-20 BRNI $0.68
77010200 FITG-NIPL 108TUBE 1/4FL NUT SS $1.30
77010400 FITG-NIPL 265TUBE 1/4FL NUT SS $0.61
77010600 FITG-NIPL 156TUBE 1/4FL NUT SS $1.55
77010700 FITG- PLUG 265TUBE BARBED SST $0.76
77020200 FITG-NIPL 125TUBE 5/16F NUT SS $1.76
77020400 FITG-NIPL 265TUBE 5/16F NUT SS $0.82
77020700 FITG-NIPL 156TUBE 5/16F NUT SS $1.76
77030100 NUT SWIV 5/8-18 BRNI $1.33
77030400 FITG-NIPL 265TUBE 3/8FL NUT SS $1.27
77030405 FITG-NIPL 3/8BRB X 3/8TUBE SS $0.00
77030500 FITG-NIPL 375TUBE 3/8FL NUT SS $1.23




77030700 FITG PLUG 375TUBE BARBED SST $1.28
77040100 FITG L-SWV 1/4 FL X 1/4BRB $2.83
77040200 FITG-SPLICER 265TUBE STN STL $1.27
77040300 FITG-SPLICER 375TUBE 250ID SS $1.36
77040400 FITGL-BRB1/4X 1/4 SS $2.76
77040800 FITGL-BRB3/8X 3/8 SS $3.30
77040900 FITG L-SWV 3/8 FL X 3/8BRB $5.86
77041600 FITGL-BRB1/4X 3/8 SS $8.41
77041700 FITG-SPLICER 125TUBE STN STL $4.14
77041800 FITG-SPLICER 125 X 250 STN STL $4.14
77042200 FITG-SPLICER 250 X 500 STN STL $19.81
77042300 FITG-SPLICER 375 X 500 STN STL $5.65
77042400 FITG-SPLICER 500TUBE STN STL $3.12
77045100 FITG-CAP 1/4 FLARE BRASS HEX $0.51
77045200 FITG-CAP 1/4 FLARE SST HEX $1.14
77045400 FITG-CAP 5/16 FLARE SST HEX $3.86
77045600 FITG-CAP 3/8 FLARE SST HEX $3.62
77045800 NUT SWIV 1/2-16 SS $3.45
77045900 NUT SWIV 5/8-18 SS $3.31
77046000 FITG L-SWV 5/8-18F 1/4BRB $3.92
77046100 FITG L-SWV 1/2-16F 1/4BRB $4.10
77046500 FITG SWIV 7/16-20F 3/8BRB $3.98
77046700 FITGL-BRB1/2X 1/2 SS $7.67
77050100 FITG-VAL DOLE 1/4BRB ELB W/ORG $5.32
77050200 PLUG VAL DOLE 1/4 SST $2.50
77050300 FITG-VAL DOLE 1/4BRB STGHT SST $3.04
77051500 FITG-VAL DOLE ELB102DEGREE $4.45
77052100 FITG-VAL JUICE ELB 102DEGREE $6.53
77052102 FITG ELBOW 90 DEG 1/4" BARB $0.00
77052200 FITG-VAL DOLE 1/4BRB ELB45 SST $4.72
77053201 FITG- PUMP 1/4 SYR FJET W/ORNG $2.98
77053400 FITG- IN PUMP L 1/4BARB FJET $8.41
77053801 FITG- PUMP 3/8 SYR FJET W/ORNG $3.04
77060100 FITG T-BRB 1/4 (3) SS $5.30
77060200 FITG C-BRB 1/4 (4) SS $5.74
77060500 FITG T-STD 7/16-20M (3) SS $9.54
77060700 FITG T-BRB 1/4 X 3/8(2) SS $5.77
77060900 FITG T-BRB 3/8 (3) SS $7.41
77062000 FITG C-BRB 3/8 (4) SS $10.04
77062100 FITG T-BRB 1/4(2) X 3/8 SS $5.02
77062700 FITG T-STD 5/8-18M (3) SS $9.47
77065200 FITG T-SWV 7/16-20F 1/4BRB2 $12.24
77065700 FITG L-SWV 7/16-20F 1/4ABRB $10.58
77065900 FITG L-SWV 5/8-18F 3/8BRB $8.27
77066000 FITG L-SWV 7/16-20F 3/8BRB $8.98
77066200 FITG C-SWV 1/2-16F 1/4BRB $0.00
77067700 FITG L-SWV 7/16-20F 7/16-2M $18.50
77068200 FITG T-SWV 5/8-18F 7/165/8 $21.01
77068700 FITG T-SWV 7/16-20F 7/16-20 2 $22.54
77069300 FITG T-BRB 1/2 (3) SS $8.11
77069500 FITG T-BRB 3/8(2) X1/2 SS $14.14




77069800 FITG T-BRB 1/4(2) X 1/AMPT SS $12.18
77069900 FITG T-BRB 1/2(2) X 3/8 SS $14.67
77069901 FITG T-BRB 1/2(2) X 3/8BRB SS $19.41
77070101 FITG STGHT 7/16-20M (2) SS $3.59
77070201 FITG STGHT 7/16-20M 1/2-16M SS $2.78
77070301 FITG STGHT 1/2-16M (2) SS $3.39
77070402 FITG STGHT 5/8-18M (2) SS $3.81
77071303 FITG STGHT 7/16-20M 5/8-18F SS $10.10
77071401 FITG STGHT 7/16-2F 1/2-16M SS $6.20
77071801 FITG BLKHD 7/16-20 7/16-20 SS $5.13
77075001 FITG STGHT 1/4MPT X 7/16-20 SS $5.57
77075303 FITG STGHT 3/8MPT X 5/8-18M SS $6.35
77075802 FITG STGHT 1/4MPT X 5/8-18M SS $6.35
77080101 FITG BARB 1/4 X 7/16-20 SS $3.27
77080301 FITG BARB 1/4 X 1/2-16M SS $3.40
77080402 FITG BARB 1/4 X 5/8-18M SS $4.10
77080701 FITG BARB 3/8 X 1/2-16M SS $3.09
77080801 FITG BARB 3/8 X 7/16-F SS $4.03
77083101 FITG BARB 3/8 X 1/4MPT SS $10.76
77090800 FITG T-BRB 3/8(2) X 1/AMPT SS $13.69
77091000 FITG T-BRB 1/4 X 1/2(2) SS $14.89
77091100 FITG C-BRB 1/2 (4) SS $27.57
77091200 FITG T-BRB 1/8 (3) SS $16.79
771041803 FITG-SPLICER 187 X 250 STN STL $10.97
771046403 FITG-SPLICER 187 X 375 STN STL $12.90
77150200 FITG-DRAIN 1/2-20 SS $7.67
77150300 FITG-DRAIN L 1/2 BARB SS $11.26
77840200 FITG-VAL SF-1 1/4BARB SS $2.91
77900004 MANIF U 3/8 BARB(2) 7/16-20(4) $45.50
77900005 MANIF U 3/8 BARB(2) 7/16-20(5) $88.93
77900200 TUBE U 3/8 BARB(2) STN STL $4.67
77900201 FITG U-BRB 3/8(2) X 1/4BRB SS $9.95
77900202 FITG U-BRB 3/8(3) STN STL $7.16
77900401 FITG T-BARB 90 DEG 3/8 (3) SS $8.41
77900500 MANIF U 1/4 BARB(3) SS $8.64
77900700 FITG U-SWV 7/16-20F 1/4BRB $10.08
77900800 FITG Y-BRB 1/4(2) X 3/8BRB SS $19.25
77901300 FITG U-BRB 1/2 X (2) STN STL $11.58
77901301 MANIF U 1/2 BARB(2) 7/16-20 SS $22.06
77901800 FITG Y-BRB 1/4 (3) SS $9.38

8737 FITG BARB 3/8 X 1/2MPT BR $2.26
113250000 TUBG VINYL 250X500 CLR 500'CTN $0.81
113375000 TUBG VINYL 375X625 TRANSPARENT $0.64
113375100 TUBG VINYL 375X625 TRANSPARENT $0.64
113500000 TUBG VINYL 500X750 CLR $0.98
174006000 TUBG BEV-STEEL .250"X.500" 300 $1.30
174029000 TUBG POLY 375 X 545 500/CTN $0.50
174030000 TUBG BEV-STEEL .375"X.635" 300 $1.98
174102000 TUBG CPLYBRD 156X312 500'/CTN $0.95
174103000 TUBG CPLYBRD250X395WHT 500'CTN $1.51
174103001 TUBG VINBRD250X395 BLU $0.84




174150001 TUBG VINYL 625X875 BLK 200'CTN $4.08
174292000 TUBG FLEXCOR 375X610 $0.51
174480000 TUBG FLEXCOR 500X777 $1.20
3044 TUBG BRAID MYLAR 265X465X100' $92.00
323403002 TUBG BLUE TINT 1/4"ID BRD .265 $84.00
323520344 TUBG BLINE .265 X .465 500' $154.00
420906000 TUBG POLY.265X.375 CLR $0.26
420908000 TUBG POLY.375X.500 CLR $0.31
421614032 TUBG PVC GRN 5/8X7/8 100'BX $86.00
50014 TUBG RLINE .5100DX.740 $2.30
51774 TUBE VINYL CLEAR 1" ID X 1/8W $3.25
620708970 TUBG POLY .250 X .3750D $0.41
620717791 TUBG SG 265ID X 420 300' TA $0.00
620717792 TUBG SG 375ID X 535 TASTE RITE $0.70
620720721 TUBG POLY 265 X 465 500'/ROLL $175.00
630901504 TUBG SG 375ID X 535 100' TA ST $0.85
180777100 COVER TANK WRV NSDA $38.05
176118100 PLUG TANK BALL LIQ $35.73
176119100 PLUG TANK BALL GAS $48.13
176120200 PLUG TANK 3PIN 1/2-16FEM $124.91
176121200 PLUG TANK 2PIN 1/2-16FEM $27.69
176144000 TESTER PRESS STD $70.72
176146000 TESTER PRESS COKE $59.51
180024035 O-RING 424ID 103CS 60DU BLUE $0.44
180024036 O-RING 4241D 103CS 60DU GRN $0.46
180136000 O-RING 470ID 103CS 60DU EY-P $0.42
180210000 CONN BALL-LOCK LIQ $14.55
180211000 CONN BALL-LOCK GAS $22.50
180320039 HANDLE TANK BLACK $8.45
180329000 WASHER- TANK HANDLE $1.66
180362000 O-RING 3.47ID 275CS 70DU BU-N $3.55
180371013 POPPET VAL TANK $3.13
180410000 BODY CONN LIQ $36.86
180411000 BODY CONN GAS $23.33
181016000 TUBE- SIPHON 5/16D X 23.8" $9.70
325148000 FLOAT LEVEL SWT COMP $26.16
111837000 CAGE GAUGE CO2 REG $38.83
130066000 FITG-PLUG 1/4 MPT BRASS $1.40
130167000 GUIDE RUBBER REG S $1.95
130170000 POPPET VAL REG SECONDARY $2.72
180343000 RING SPLIT $1.47
180352000 STEM RELIEF VAL W/RBR NSDA-V $4.23
183008000 O-RING 489ID 070CS 70DU EY-P $0.31
183028000 NUT SWIV REGULATOR $3.83
183031001 WASHER- SEAL CO2 REG $0.28
183046000 FITG C-STD 1/4FPT X (4) BR $7.33
183065000 KIT REPAIR REG PRIMARY $13.31
183099000 KIT REPAIR REG SECONDARY $14.08
183194000 FITG COUPLING REG CO2 PRESS $15.02
183235036 BUSHING RETNG R-VAL INTGRL GRN $1.24
183235039 BUSHING RETNG R-VAL INTGRL BLK $1.24




183285000 GAGE 160PSI 1100KPA $8.16
183286000 GAGE 100PSI 700KPA $11.82
183317000 BRKT REG SECONDARY $2.35
183335000 REGCO2 P 3PRESSURE 0 CUSTOM $386.68
183352000 TUBE CONN 2750PSI $59.67
186871000 CAP-PLG 390INT/394EXT 38DP RED $0.36
315603000 FITG STGHT 1/4FPT X 7/16-20 BR $6.92
318824000 REG PRESS WTR 125 1/4" 2PORT $83.59
0606 REG ASSY HI-PRESS $227.06
0608 REGCO2 S 1X160 1 1/4FL $57.05
183497122 REGCO2 P 1X100/1X16 2 1/4FL $197.52
183497922 REGCO2 P 1X100/1X16 2 1/4FL $133.12
283012111 REGCO2 S 1X100 1 1/4FL $54.09
283012115 REG S 100X 4/5P $120.78
283012122 REGCO2 S 2X100 2 1/4FL $150.00
283013126 REGCO2 S 1X30/1X100 6 1/4FL $205.66
283046111 REGCO2 S 1X30 1 1/4FL $76.10
283125111 REGCO2 P 1X100 0 1/4FL $101.25
283186111 REGCO2 P 1X160 1 1/4FL $63.53
283186122 REGCO2 P 2X160 2 1/4FL $129.18
283186126 REGCO2 P 2X160 6 1/4FL $243.12
283186137 REGCO2 P 3X160 7 1/4FL $327.56
326097000 REG S 100-60 2F FCB $312.43
771000155 REGCO2 P 1X160 1 1/4FL $84.96
8880 REG S & MANIF AIR/CO2 $603.49
0024 SOLENOID PULL 24V 2LB $29.75
140092000 O-RING 114ID 070CS 70DU EY-P $0.36
1502 TOOL PULLER SLVE SF-1 VAL $23.58
180018013 SEAL POPPET VALVE $0.72
180018053 SEAL POPPET VALVE $1.73
180025000 O-RING 364ID 070CS 60DU EY-P $0.85
3074 BODY VALVE SF-1 $21.15
3076 BODY VALVE SF1 L/LATCH PSMX $14.34
3077 BLOCK MTG QK DIS SF-1 $26.48
309029000 SCREW MA 10-32 PAPH 14 STZI $1.11
309158000 COVER VAL CC-1 $72.84
309162000 SUPPORT COVER VAL CC-1 $12.13
309842000 NUT ACRN 10-32 BRNI 9/32 $0.37
309843000 BRKT COVER SF-1 MANL W/A $5.54
309929000 BAFFLE ASY 2FL VALV $9.81
309950015 BLOCK ASY CC-1 SABR $51.99
309951000 BAFFLE ASY CC-1 $23.93
309959000 NOZZLE VAL 2 FL $7.19
309960013 LEVER VALVE CC-1 $10.15
309994013 NOZZLE VAL PSTMX CC-1 $3.81
309997000 BLOCK VALVE CC-1 $10.79
310482000 SPRING REG SYRUP 460 OD $0.28
310632051 SCREW ADJ SYR & WTR REG HEX $6.69
311194000 FLOWASHER .60 GPM $5.04
311355000 VALVE INLET $6.30
312017000 SOLENOID PULL 24V $20.14




312017011 SOLENOID PULL 24V W/S $20.14
314813009 SCREW ST 08-32 RDPH 16 SS $0.39
317431011 CYLINDER FLO CNTL CERMIC $23.54
317639051 BLOCK VALVE SF-1 $14.39
317646007 LEVER VALVE POSTMIX MANUAL $10.07
317649000 NOZZLE VAL PSTMX SF1 $3.81
317703007 ARM SOLENOID PSTMX VALVE TR $3.83
317713000 CAP CONN PSTMX VALVE $4.35
317716000 SPRING VALVE PSTMX $0.66
317721000 LEVER VALVE PM WHITE $10.07
317723000 SPRING TENSION PM VALVE $1.67
317777001 SCREW SH 08-32 SL 12 SS TCUT $0.45
317783000 SWT MCRO-L  ON/M-ON 05A 3 $14.38
317816000 O-RING 676ID 070CS 70DU EY-P $0.47
317821000 HARN WIRE SF-1 $23.44
317825000 SCREW MA 02-56 TRPH 14 STZI $0.37
317879014 COVER VAL T-MNT SF1 W/LVR $19.18
317879015 COVER VAL T-MNT P-CNTL W/LVR $19.18
317884011 COVER VAL T-MNT SF1 $8.50
317884012 COVER VAL T-MNT SF1 P-CNTL $9.16
317891015 PORTION-CNTL AUTOSET $295.92
318523088 BAFFLE & O-RING ASY SF1 $7.16
318589000 PLUNGER SOLENOID $7.70
318754011 BAFFLE PM VAL HI-FLO $10.41
318762000 RETAINER S PROD LINE $1.60
318838015 BLOCK ASY SF1 STD $50.36
318994001 LEAD- PLUG 19" 20G $10.56
319133051 FLOW-CNTL TOP SF1 $3.37
319138000 HOUSING NEEDLE VALVE $27.35
319330088 BAFFLE NON CARB W/ O-RING $10.82
319539001 NOZZLE VAL BRIX UF1/SF1 $5.25
319541000 O-RING 157ID 038CS 60DU EY-P $0.45
319545051 HOUSING FLO-WASHER SF-1 $5.90
319546011 CAP HOUSING FLOW WASHER $1.47
319693000 PIN GROV 125D 1.750 SS $0.85
319996000 SPRING LATCH MTG 2FL $1.30
319997000 O-RING 1.54ID 103CS 60DU EY-P $2.20
3282 LEVER VALVE PM PUSH HERE $4.58
3705 SPRING COMPSN SF1 VAL $0.13
398033013 O-RING 799ID 103CS 70DU EY-P $0.85
4147 PLATE RETAIN TOP FLOW HSG $5.09
818838015 KIT BLOCK VAL W/CLIP & SCW $0.00
26014 TUBE BDL 10L(8)3/8 BOND * $15.44
620607445 TUBE BDL 10L (10) 375 SHEATHED $7.69
150309000 O-RING 208ID 070CS 70DU EY-P $0.41
151704000 LEVER VALVE $25.30
151841000 SCREW TT 06-19 RDPH 10 SS $0.33
183184000 O-RING 1.17ID 103CS 65DU EP/N $1.61
1900 BODY VALVE UF1 $6.43
1901 HEAD VALVE UF1 $4.20
1902 HEAD VALVE UF1 OPTIFILL Il $7.95




1903 PLATE BOTM UF1 $2.52
1906 BLOCK MTG UF1 VALVE $5.23
1907 BODY FLOW-CNTL UF1 $5.01
1909 HOUSING TOP FLO CNTL UF1 NYLON $1.49
1911 ACTUATOR ARM UF1 SOLENOID $0.82
1913 DIFFUSER UF1 MID RANGE $1.86
1917 BAFFLE INNER ASY UF1 BLK $3.37
1918 SOLENOID PULL 24V 1LB UF1 $16.45
1919 BLOCK MTG ASSY UF1 $23.33
1921 ADAPTER TUBE BRIX UF1 $6.84
1922 NOZZLE ASY MID RANGE UF1 BLK $7.03
1923 SWITCH & HARN SELF-SERV UF1 $10.27
1929 RETAINER BODY FLOW-CNTL UF1 $2.34
1930 RETAINER U-PIN F-CNTL UF1 $0.81
1931 SPRING RETURN VAL UF1 (BANJO) $0.28
1934 CYLINDER F-CNTL CERAMIC UF1 $19.49
1937 PISTON SYR REG UF1 HI FLOW $9.35
1940 SPRING FLOW-CNTL UF1 $0.61
1943 OVERLAY SWT PUSH UF1 $8.67
1945 NOZZLE OUTER MID RANGE UF1 BLK $1.69
1947 VALVE BANJO UF1 SYRUP SIDE $1.89
1949 HOUSING FLO-WASHER UF1 $5.45
1950 COVER VAL UF1 BACK $5.07
1954 FLOW-CNTL ASY UF1 1.5-3.00Z $60.55
1956 COVER VAL UF1 FNT $2.23
1957 FLOW-CNTL WSHR UF1 1.5 OZ $43.16
2318 SCREW TT 06-19 PAPH 24 SS $0.41
2325 MODULE ASY UF1 S-SERV MECH $48.06
2425 HOUSING ELEC UF1 L/DRAIN HOLE $2.56
310480011 PISTON SYR REG CRMIC $15.91
310754011 PISTON WTR REG CRMIC $15.91
311086000 O-RING 926ID 070CS 65DU EP/N $0.51
312414000 O-RING 426ID 070CS 70DU EY-P $1.34
317015000 O-RING 239ID 070CS 70DU EY-P $0.40
319540000 SEPARATOR SYRUP S/TUBE UF1/SF1 $8.32
3297 KIT LEVER WATER ONLY UF-1 $7.41
3518 PORTION-CNTL MODULE $172.92
4024 KIT GROUND FOR OPTIFILL/EAFM $22.45
4073 O-RING 239ID 077CS 70DU EY-P $0.33
4262 LEVER VALVE OPTIFIL UF1 $0.00
4263 SWITCH & LEAD ASSY UF1 VLVE $5.90
4386 CYLINDER F-CNTL JUICE UF1 $28.11
4391 MODULE ASY UF1 OPTIFILL $179.21
4965 LEVER VALVE UF1 LONG STN STL $3.76
560000795 SWT MCRO-L  ON/M-ON 05A 2 $2.17
560001108 SCREW TT 08-16 OVPH 26 SSPA $0.30
560001733 BAFFLE INNER ASY UF1 JUICE $10.19
560001734 NOZZLE ASY JUICE UF1 $18.91
560003025 SPRING LEVER UF-1 $0.56
560003193 LEVER VALVE UF-1 SELFSERVE $8.06
560003252 LEVER VALVE UF-1 OPTIFILL $7.27




560003256 SCW ADJ UF-1 FLOW $0.54
560003995 VALVE BANJO UF1 WATER SIDE (SA $3.87
560006177 BODY FLOW-CNTL UFB 2-4 OZ. $9.24
560006408 FLOW-CNTL ASY UFB 2-4 Oz $71.93
560007207 SCW ADJ UF-1 FLOW ASSY $4.21
561000145 NOZZLE ASSY MID RANGE UF1MNT D $20.80
561000154 NOZZLE ASSY MID RANGE UF1MTDW $22.67
620042952 P- BAFFLE LOW FLOW GRAY UF1 $0.00
740000261 HEAD VALVE ULTRA FLOW $0.00
740000262 BODY FLOW CONTROL ULTR FLOW $0.00
962808 FILTER-CARTG FOODSERVICE KIT $377.14
979620 CLEANER SCALEKLEEN 70Z 24 PER $136.60
E933788 FILTER PKG EVERPURE HI-FLO $1,183.00
163328000 STAND-LEG ASSEMBLY 1522IT SS $429.92
163329000 STAND-LEG ASSEMBLY 2123IT SS $434.92
165398000 STAND 1522DI STAINLES W/6"LEGS $685.00
167783702 MERCHNDSR 16UT 24V PEPSI $290.38
631500159 KIT INSTL BIB QCD $0.00
161025000 BULB FLUOR 21" F13T5 $18.86
161508006 FITG BARB 3/4 X 3/4FPT PV $5.53
161662002 DRIP-TRAY 19UT BLACK $66.49
163422000 CUP-REST 19UNIV STND 18.7X5.2 $18.49
163427000 FITG-DRAIN ELBOW 3/4-16 UNF $4.23
163428001 RETAINER DRAIN ELB $4.23
163429003 TRANSFRMR 230/25VAC 80VA $161.41
163429005 TRANSFRMR 120/25VAC 75VA $59.55
163501000 BULB FLUOR 12" LONG $10.64
163518000 CONN ELEC MATE-N-LOK 2CR $0.58
163545001 SWITCH KEY-LOCK TERMI $24.26
164765720 DOME MERCHNDSR COKE $0.00
166111009 PANEL 6VLV 18" SS TWR $45.32
166111023 PANEL 8VLV 23" W/A NS ATO $39.25
166207002 TUBE PACK 6VLV 23" SS TWR $475.21
167090002 HOSE DRAIN 750ID X 72" $8.41
167467072 HOSE DRAIN 3/4"ID X 72" INSL $22.78
167481019 DRIP-TRAY 30" TWR BLK $90.68
167491003 SPLASHGUARD PANL 23" SBR GE $154.87
167491004 SPLASHGUARD ASY 23"SST CUS $310.85
167491008 SPLASHGUARD ASY 23"SST CUS $374.85
167570001 SWITCH VAL LOCK-OUT $29.87
167787002 CUP-REST CB2323 STND 21.7X9.8 $50.08
167787009 CUP-REST SF2323 STND 21.7X9.5 $99.56
167809003 PLATE SANITARY CB2323 PTP PART $75.62
167810003 LID SLDG 2323 23" 18GA $114.37
167811000 TIE CABLE 14 5/8" $1.20
167976003 PANEL VAL 16UT K6/S6E FNT ACCS $84.69
168807000 WASHER FT NYLN FS $1.32
168833000 WASHER LK 255 489 062 SS 250 $0.10
319488000 RETAINER BOARD PC & SWT $7.52
45174 STOP LID 1522 $1.54
560005982 PROBE LEVEL CONTROL INTELLI $0.00




630000601 TRANSFRMR 115/24 RMT 75VA PWR $152.65
630000630 PLATE SANITARY W/A INTELLI CAR $67.69
630000681 FOAM-PACK CARB ASY CB2323 HC $1,913.03
630000766 TRANSFRMR ASY 230V COKE $338.00
630000779 HOSE ASY CARB TO CPLT U-BEND $12.79
630000802 HOSE ASY CARB TO CPLT U-BEND 3 $0.00
630000951 HOSE ASY CARB TO C-PLT BARB 2. $11.40
630001006 HOSE .375F12.00"OPNXOPN INSUL $0.00
630001124 TANK- CARB FOAM ASY 4X8 BARB 1 $662.28
630001125 TANK- CARB FOAM ASY 4X12 BARB $653.77
630001179 HOSE ASY CARB TO C-PLT BARB 2. $16.74
630150005 DRIP-TRAY INJ MOLD DD BLK 23" $25.42
630150008 DRIP-TRAY INJ MOLD SABRE 23" $28.82
630200832 LID SLDG 2323 23" 18GA QUAD $77.50
630201127 PLATE ACCESS BASE EUR SKEL CB2 $0.00
630300341 HARN WIRE TWR 96" 2CR 25R $11.73
630450037 DECAL-FL UF/SF PEPSI FRONT INT $1.04
630450038 DECAL-FL UF/SF DTPEP FRONT INT $1.61
630900138 SCREW MA 10-32 RDSL 40 SS FS $0.31
630900242 SEPARATOR SYRUP BRIX 4.5 OZ/SE $0.00
630900398 LIGHT INDIC CO2 OUT $9.43
630900517 PORTION-CNTL 6 FUN WATER FFV $150.00
630900519 PORTION-CNTL 5 FUN FFV $236.00
630900553 CORD SERV $9.39
630900753 BALLAST INSTANT 8-14W 24V5/6 $57.64
630901403 PROBE LEVEL CONTROL SEALED PRO $56.59
630901427 CLADDING SKELETAL BOSTON PEPSI $2,447.00
630900294 GRAPHICS 23"CURVED COCA-CO INT $177.11
630901334 GRAPHICS 23" CURVED PEPSICO IN $123.76
630901336 GRAPHICS 23"MARQ PEPSICO INT 2 $85.59
161168014 SCREW MA1032 012TR SS PH $0.16
164083002 NUT HEX 10-32 STZILOCK $0.15
167787013 CUP-REST CB3023 OPTI 28.6X9.8 $64.09
560004625 GASKET ICE CHUTE ID90 $5.83
620024001 AGITATOR ASY UC ICE ONLY $173.03
620024701 LEVER DISPENSE UC150 $155.16
620311701 TIMER AGITATOR UC150 $134.14
620314301 CAPAC SRT 108-130 330V 50/60HZ $36.77
620503801 AGITATOR DISK UC150 $188.83
620504001 CHUTE ICE UNDER COUNTER $16.89
620504002 CHUTE ICE COVER UNDER COUNTER $8.98
620504009 BUCKET ICE FILL UC150 MCD $87.19
620504011 GATE AUGER UC150 MCD $11.03
620504021 FITG ELL 45 PVC 3/4" SLIPXSLIP $3.70
620505501 AUGER UC150 ICE ONLY $729.66
620517136 DRIP-TRAY ASY LH BLACK UC150 $174.46
620700901 CUP-REST UC150 STND 14.3X4.6 $42.68
620701104 CHUTE ICE RETAINER UC150 $79.28
620701117 LATCH ASY BULLET UC150 $89.85
620701120 RETAINER RING E-TYPE SS COUNTE $0.74
620708524 CUP-REST UC150 STND 28.0X8.5 $100.71




620709302 LEVER PEDESTAL CUP WATER VALVE $258.90
620711103 SEAL AUGER MTR UC150/300 $124.99
620716004 LEG 6" ADJ TO 9" 1/2-13 SS W/F $170.96
620913702 DECAL PR15/300 PEPSI R&L DOM $116.91
629087410 KIT BOARD UPDATE UC150 ICEON M $298.69
629087456 KIT SUPER SEAL UPGRADE $1,043.61
629087489 KIT MOTOR & SUPER SEAL ASY $818.49
629088307 KIT REAR ICE FILL COVER W/MAGN $0.00
18306906 REG WTR 30 PSI SHURFLO $34.87
10145 PIN MTG DRIP TRAY $8.71
15087 RETAINER AGITATOR $27.24
15199 EXTENSION SINK WELD $139.61
15346 AGITATOR ASY $185.39
15488 LEVER ASY LONG $115.54
15500 LEVER ASY SHORT $113.90
15754 PANEL ASY FNT UPPER SS DF/ED25 $392.54
21491 GATE SLIDE $11.05
27107 RETAINER LEVER ICE DISP $8.12
28172 PLATE MTG ROTARY SOL. $15.05
28173 ARM ROTARY SOLENOID $14.31
29303R PLATE MOTOR MOUNTING $50.82
29304 BRKT MTG MOTOR ED/DF100/150 $64.09
29694 AGITATOR ASY DF/ED 2XX $556.18
30774 CAPAC MOTOR AGIT 2230AK6 $20.32
30794 HEATER AGIT MTR 2230AK6 $20.21
31007 BOOT SWITCH 2230AK6 $7.49
31107 BOARD TERMINAL $4.63
31621 BALLAST $15.81
31622 BULB FLUOR 18" DAYLIGHT $39.93
317974000 DEFLECTOR WATER RELIEF VALVE $5.83
31928 BULB FLUOR 23" ED/DF200/250 $32.07
31981 ACTUATOR HAMLIN MAGNETIC $15.43
32682 TRANSFRMR ASY 120/25VAC 80VA $51.27
32826 HEATER MOTOR 220V 50/60 $20.94
32829R TRANSFRMR 220/24 80VA $107.58
32953 SWITCH REED ASY $102.34
32954 SOLENOID ASY $201.42
32957 SOLENOID ROTARY $172.76
32958 RECTIFIER 10AMP 800V (SERVICE $18.87
32977 SWITCH KEY DPST $53.73
33160R CAPAC SRT 108-130 330V 50/60HZ $53.10
33300 LOCK SWT & KEY #2007 $12.08
33397 SOLENOID ROTARY 220V $330.10
33404 MOTOR GEAR 1/4 230/5/6 XXXXXXX $939.29
33409 SOLENOID ROTARY ASY 220V $343.32
33662 BALLAST $20.22
33664 KIT LOW ICE LEVEL OPT DF/ED1 $262.49
33666 DISPLAY LIGHT INDICATOR $46.62
50335 INSULATION ARMAFLEX 1 3/8 X 3/ $0.10
50377 CLAMP NYLON 1/8 $0.15
50752 ISOLATOR $2.81




51859 SEAL SHAFT MOTOR 2230AK6/DB150 $10.84
51891 GASKET GATE $2.94
52872 HOPPER FOAMED $659.71
52876 GASKET MOTOR SHAFT $3.27
52877 LENS WHITE ED150  16.61"X $69.17
52879 LID BLACK TEXTURE ED150 $98.31
52885 LENS CLEAR DF150  29.63"X $132.76
52886 MERCHNDSR ASY DF150 GRAY $182.02
52887 LID GRAY DF150 $158.04
52897 LID DF2XX PLASTIC GRAY $205.99
52909 LID PLASTIC BLACK ED2XX $138.42
52910 MERCHNDSR ASY DF250 GRAY $209.81
52950 LENS WHITE ED250 24.81"X $101.46
52960 HOPPER FOAMED 250 $795.25
52972 CLIP FLUSH NYLON WHITE $0.46
52994 LID ICEMAKER KIT GREY $95.23
52995 DIFFUSER GRAPHICS DF150 $28.26
52997 DIFFUSER GRAPHICS DF250 $169.58
52999 MERCHNDSR ASY ED150 GRAY $133.08
53000 MERCHNDSR ASY ED200 GRAY $191.78
53011 FITG- ELBOW C-PLT DRAIN $13.96
53018 LID DISPENSER GRAY ED200/250 $151.20
53019 LID PLASTIC GRAY ED150 $177.66
53135 LID UPPER BLACK ED300 $163.80
53170 HOSE DRAIN Z STYLE ED/DF150 $25.18
53199 SEAL MOTOR SHAFT $43.82
53202 DRIP-TRAY FOAMED BLACK 150 $175.98
53210 DRIP-TRAY FOAMED BLACK 2XX $191.83
53211 DRIP-TRAY ED/DF2XX GRY FOAMED $223.43
53222 DRIP-TRAY 150 ED/DF150 GRY FOA $177.66
53236 COVER C-PLT FOAMED $155.64
53241 COVER ACCESS ASY ED/DF1XX/300/ $61.80
53255 COVER ACCESS ASY ED/DF2XX $61.80
53293 FITG-SPLICER 1"TUBE PVC $4.15
560005109 HARN WIRE PROBE $32.57
560005110 HARN WIRE MOTOR $12.25
60030058 MOTOR PUMP 1/3 120/60 1725RPM $502.40
60170 PUMP 125GPH W/STRN PROCON $217.84
620011506 PANEL ASY FNT UPPER SS DF/ED25 $431.15
620019701 HINGE GUSSET ED/DF $8.20
620024309 CABINET /HOPPER FOAMED ASY UC1 $0.00
620031818 GATE SLIDE ASY EDPRO $84.54
620042928 BAFFLE ICE ED150 ADAPTER LID $27.47
620046201 DRIP-TRAY EXT ASY ED150 (SQUAR $0.00
620046316 RETAINER FITG ED2XX $6.21
620046702 HOLDER LID ASY ED150 HORIZONTA $0.00
620048199 PANEL LOWER ASY Z FLEX DF/ED2X $276.44
620052029 BRKT INNER NOZZLE 1XX/300 $15.07
620302101 HOLDER BULB BI-PIN MED G13 $1.10
620302201 SOCKET STARTER CE $1.25
620303001 ACTUATOR PUSHBUTTON CE $42.13




620303002 SWITCH BLOCK CE $40.30
620303302 BOX ELEC ASY 220V ICEON ED150 $1,258.64
620304601 VARISTOR ASY CE 220/240V ED/DF $23.00
620306601 RELAY MOTOR 33404 TI4CR-1-625 $72.10
620307301 FILTER RFI POWER LINECE * $71.26
620307901 KIT MOTOR 115V ED/DF/UC150 300 $600.82
620307902 KIT MOTOR 220V ED/DF/UC150 300 $801.09
620308101 CAPAC MOTOR RUN 2MP 450VAC $24.94
620308102 STRAP MTG ELEC CONDUIT RIGID + $1.15
620313280 SWITCH MEMBRANE 2FL/4AFL BLAST $62.40
620314307 CAPAC RUN 2.5MFD 450 VAC 50/60 $0.00
620314404 CONTROL LEVEL LIQUID 115V $76.50
620314405 CONTROL LEVEL LIQUID 220V $78.47
620314802 BOARD CIRCUIT AGITATOR TIMER 2 $104.00
620314803 BOARD CIRCUIT AGITATOR TIMER 1 $58.24
620314922 MOTOR GEAR 1/4 120/5/6 6RPM $1,335.94
620407728 MANIFOLD FLEX 5 POS (INJ MOLDE $8.27
620500901 CHUTE ICE ED/DF $17.44
620502801 LENS WHITE ED175 19.31"X $100.05
620505901 CHUTE ICE ED PROGATE $30.52
620508501 DRIP-TRAY TD150 GRY FOAMED $618.12
620511702 DIFFUSER DF175 37.45 X 10.71 $6.04
620511703 LENS CLEAR DF175  23.26"X $216.00
620513506 SHIELD DRIP CYLINDER ED PRO $4.02
620518501 CHUTE ICE ASY EDPROGATE $416.35
620519005 PLUG MANIFOLD $4.49
620519203 MERCHNDSR ASY DF175 GRAY SERVI $216.32
620608773 VALVE CHK VENTED 3/8 MPT 5/8-1 $91.33
620702201 BRUSH SINGLE STEM/SPIRAL $4.94
620702505 BUSHING MACH 5/8X1X.048 SS + $2.40
620708504 CUP-REST ED150 STND 21.4X7.5 $0.00
620708965 TUBG REDLINE PLUS .375ID .5350 $0.84
620709313 LEVER ICE DISP PUSH BAR DF/EDX $19.06
620709802 REG PRESSURE 75PSI NON-ADJUSTA $160.25
620710107 GASKET FFV/SEV $0.36
620911802 DECAL ED/DF 150/175/200 COCA-C $0.00
620911901 DECAL ED/DF150 COCA-CO BCK INT $0.00
629080206 PANEL LOWER ASY INSUL DF150 $296.41
629080215 PANEL BOTM ASY INSUL ED/DF150Z $367.71
629087451 KIT AGITATOR TIMER RETROFIT DF $120.98
629087457 KIT PUMP/MTR INTELLI CARB 115V $1,162.48
629087530 KIT INSULATED DRIP-TRAY/EXTENS $267.09
629088514 KIT ED/DF 150/175 AGITATOR FOR $241.24
629088531 KIT AGITATOR MOTOR REPLACEMENT $1,278.66
629088704 DECAL-SET UF/SF FENT PEPSI $31.41
70478R CLIP PUSH ON $0.35
70798 TOOL-WRENCH VALVE BEVERAGE $4.31
70970 LEG 04.00" ADJ 3/8-16 BLACK PA $12.41
70993 RETAINER 1/4 TURN $0.31
70994 STUD WING HEAD 1/4 TURN $7.73
71006 SCREW MA 08-32 TRPH 68 SS $2.25




71007 SPRING SOLENOID ARM $1.67
71036 CUP-REST ED/DF15 STND 21.0X6.7 $42.18
71039 CUP-REST ED/DF2 STND 29.1X6.8 $50.38
21515 LEVER DEPRESSOR $55.50
22644 RETAINER LEVER 2230AK6 $3.37
31093 GATE SOLND ASY 2230AK6 $146.49
32745 MOTOR GEAR 83W 120/60 11RPM $939.56
52933 LID ICEMAKER KIT (GRAY) $52.00
51597 DRIP-TRAY FOAMED TJ90 COKE $78.47
161297003 SWT ROCKER DPST ON/ OFF 125V $16.35
161881004 DRIP-TRAY ASY 2631 $325.67
02390 KIT-ADAP ED150 VAR MULT BL 21 $374.99
08004 KIT-ADAP DF2/25 30.00" MULT GR $313.23
08006 KIT-ADAP ED2/25 30.00" MULT BL $332.03
08008 KIT-ADAP ED150 VAR MULT GR 21 $374.99
08010 KIT-ADAP ED2/25 30.00" MULT GR $465.43
08017 KIT LEG ED300 (6)-4" $128.17
08028 KIT-ADAP DF/ED3 VAR MULT GR 22 $817.53
3472 STAND DF/ED150-6 W/6" LEGS 22. $967.26
3473 STAND DF/ED2XX W/6" LEGS 30. $1,034.97
40302 KIT OPTION WATER VALVE (FACTOR $263.53
620921305 DECAL ED150/175/200/300 PEPSIC $163.28
629084001 KIT-ADAP ED1/15 22.00" MULT BK $399.25
629087412 KIT LEG 6" W/1 1/4 ADJUSTMENT $81.25
02070 KIT SWITCH $31.37
22081R GATE RESTRICTOR-TJ $3.49
24897 BRKT CONTROL BULB LOW ICE $5.32
26591 AGITATOR 2230AK6 $273.52
28362 CHANNEL LEG SUPPORT $52.19
32939 MOTOR GEAR 1/4 120/5/6 XXXXXXX $595.02
41199 SOLENOID ASY PNEUMATIC $286.75
50754 BEARING FLANGED $3.32
50842 INSULATION MOTOR $3.49
51775 FITG- ELBOW 90DEG DRAIN PVC DB $19.80
52027 LID GREY 2230 $0.00
52027-1 KIT DB150 LID $131.61
52077 HOSE DRAIN 2230 $76.00
52095 DRIP-TRAY FOAMED 2230 AD6 GRY $556.51
52216 DRIP-TRAY DB275 GRY FOAMED $201.64
53015 CHUTE ICE TJ/D100/DB90 $13.73
53016 CHUTE ICE COVER TJ/D100/D45 $12.04
620500801 PLATE MTG GATE ASY $34.33
629085402 KIT AGITATOR MTR DB150 220V $719.84
70339 CLAMP- HOSE $2.40
70739 KEY LOCK DOOR FOR 31195 & 3297 $8.36
70847 SPACER SWT 2230 $1.82
70855 CUP-REST MULTI STND 21.0X6.2 $67.02
70912 CUP-REST DB275 STND 29.1X6.3 $34.78
70927 LEG-LEVL 4.00" 5/16-18 ADJUSTA $28.73
52878 MERCHNDSR ASY ED150 BLACK $146.05
52934 LID ICEMAKER KIT (BLACK) $95.90




620907311 GRAPHICS DF/ED2XXIM COCA-CO $204.00
620907312 GRAPHICS DF/ED300IM COCA-CO $350.00
620912001 GRAPHICS ED150-6 COCA-CO INT $0.00
620912003 GRAPHICS ED250 COCA-CO INT $117.00
620920069 GRAPHICS ED150 PEPSICO INT 16. $132.97
620920070 GRAPHICS ED150IM PEPSICO INT 1 $290.30
620920073 GRAPHICS ED200 PEPSICO INT 24. $138.32
620920074 GRAPHICS ED2XXIM PEPSICO INT 2 $460.07
620920077 GRAPHICS ED300IM PEPSICO INT 3 $437.02
92040 GRAPHICS ED150-6 GENERIC DOM $186.05
92047 GRAPHICS ED250 PEPSICO DOM $107.90
92054 GRAPHICS ED300 COCA-CO DOM $0.00
92182 GRAPHICS ED150-6 COCA-CO DOM $0.00
150920019 COLLAR FLAV BVAL DIET $2.19
186527000 TAPE MARKER #1 BRADY $0.31
186528000 TAPE MARKER #2 BRADY $0.31
186529000 TAPE MARKER #3 BRADY $0.31
186530000 TAPE MARKER #4 BRADY $0.31
186531000 TAPE MARKER #5 BRADY $0.31
186532000 TAPE MARKER #6 BRADY $0.31
187393000 FAN 10"D 4BLD CW 22AL 1"BC(4 $19.68
187918000 CORD SERYV 16-3 5-15P 106" $20.67
2601 DRYER .81IN3 DUAL 254ID R134A $12.88
310154000 MOTOR AGIT 25W 120/60 1550RPM $209.65
310958013 COND-COIL 1604BTU 3ROW STL750/ $136.19
315794000 CONTROL ICE BANK WRDGR 30"TUBE $304.13
317975000 BLADE-AGIT 2.25D 3BLD 250 SS $6.86
319856000 PLATE HEAT TRANSFER $6.30
331564000 RELAY START COMP 1/3HP TC 120/ $19.11
332417088 MOTOR- FAN KIT 9W 120/60 $96.13
3600 BLADE-AGIT 3.25D 2BLD 312 PL + $5.26
3610 MOTOR-ASY AGIT 120/60 UN750 $234.57
4187 CONTROL ICE BANK RANCO 75" $111.98
560007514 PANEL VAL VANTAGE 4 FL $28.78
629094962 KIT ICE BANK CONTROLLER UNIVER $187.73
2639 FITG BARB 1/2 X 3/8MPT PL $5.30
110015000 WASHER- BALL FRICTION $0.42
110032000 SEAT VAL PRE-MIX $0.56
110036000 GASKET COUPLING $1.41
110666000 KNOB SELF CLSGWTR $12.43
150058000 O-RING 301ID 070CS 70DU EY-P $0.31
150062000 SEAL SHANK RUBR $1.41
150065000 O-RING 1.05ID 070CS 70DU EY-P $0.87
150095000 COMPENSATOR PRMX CORCO $9.33
150099000 SHANK 3-39/64 LONG $9.33
150141000 SLEEVE INNER $0.87
150142000 SLEEVE OUTER $0.73
150150000 NUT- SHANK 1.35"-9THD PLASTIC $2.40
150189000 SPRING SHAFT SELF CLSG $0.42
150199000 NUT CPLG 1 5/8-12 SP $9.39
150200007 SLEEVE END SHANK $6.30




150238000 SCREW ST 1/4 SLOT 20 STZI $0.42
150375000 LEVER KNOB $20.83
150789039 FLANGE VALVE BLK $4.96
150794100 FITG- YOKE 7/16THD PRMX VAL $7.21
150907000 SCREW MA 10-24 TRPH 10 BRCH $0.31
150998000 SHAFT VAL S/CLS&SEAT $11.50
151062000 SPRING KNOB LEVER $0.57
151674000 KIT ADAPT PUSHBACK VALVE $35.96
151741039 KNOB FUTURA $5.28
151742039 BONNET KNOB $1.53
3788 OVERLAY CC PC CC1/LEV $0.00
1040 KIT SEAL FCB $13.17
325018000 KIT CASTER FCB $202.69
560003571 MERCHNDSR ASY 2FCB CLEAR $464.93
560007299 GRAPHICS W/FLAVOR CARDS 2FL CT $346.35
620920057 GRAPHICS 2FL PCL DOM $209.60
0150 FAN CAGE 230V 9W 30CFM $86.97
060220123 BEATER BAR ASSY VSA SUPPLIE $0.00
1081 SCREW TT 08-16 16 SS $0.68
1543 TUBE RELEASE .4380D.049 WALL $3.76
1544 SPRING COMPRESSION .500LG .420 $0.78
1545 RETAINER HOUSING FLO CNTL VAL $0.75
1554 BODY VALVE RIBBED $19.45
1556 BODY VALVE FCB W/STOP $14.06
1557 VALVE DISP ASSY FCB RIBBED $106.43
1575 RETAINER SPRING VALVE $7.26
1576 HOUSING SPRING FCB VALVE $5.54
170413000 FITG-DRAIN COLD DRAWER $11.83
170423000 NUT HEX 5/8-32 SWITCH $0.53
180353888 VALVE RELIEF ASY GRAY TESTED $10.70
186216000 BLADE-AGIT 3.00D 3BLD 250 SS $2.28
2098 CLIP BULB CIRCLINE $5.26
2356 BLOCK VALVE FCB V3+ NYLON $8.18
2392 BUSHING SPLIT FLANGE.5011D NYL $1.43
2598 PROBE ASSY ICE BANK DEC $22.02
2818 O-RING CAGED FCB VAL - NEW $8.37
309473000 RELAY 24V 60HZ DPDT BUTN $60.66
311035000 STRAINER WTR 100 MESH 1/4 FNPT $10.88
315931000 O-RING 364ID 070CS 70DU EY-P $0.73
317579000 ARM SOLENOID $2.81
317656039 GRILLE PLSTC BLACK $22.67
317660000 CUP-REST FCB  STND 15.0X4.5 $27.24
3184 LEG-LEVL 4.00" 3/8-16 WIDE FT $14.00
319346039 GRILLE PLSTC VANGRD $51.97
319347015 ROD SUPPORT EVAP 15.5" $9.90
320389000 BUSHING SNAP 875H 6871D $0.32
321484000 GROMMET 3/8 MTG HOLE $0.43
321503000 CATCH BULLET PCL/FCB $5.18
321651000 LEVER VALVE $13.62
321653000 O-RING 862ID 103CS 70DU EY-P $1.31
325305000 SPRING TORSION HC FCB $11.62




325574000 VALVE HOT GAS SOLND REFG 3/8 $93.84
325577010 ACCUM 87.6 CU IN 5/8SLDR $95.34
325647000 PLATE VAL FCB $2.00
325925000 SUPPORT PC BOARD 3/8 $2.47
325936000 SPACER VAL 2F FCB VA $1.32
325954000 STEM ASSY R-VAL FCB $7.58
325982000 CUP-REST 2FCB STND 12.7X7.1 $30.51
325983039 DRIP-TRAY FCB 2F $103.20
325985000 SUPPORT DRIP TRAY 2FCB $22.61
325991000 FRAME DRIP TRAY DEEP $55.85
325992000 CUP-REST 4FCB STND 26.7X7.3 $46.46
325993000 SOLENOID PULL 24V50/60H11W $88.59
326071000 VALVE EXPAN SOLND REFG 24VDC $184.25
4416 FITG-PUSH L 3/8 X 3/8MPT PLSTC $15.71
449999996 TRANSFRMR 208/240V60HZ-24V 80V $42.82
4591 O-RING 301ID 139CS 70DU EP/N $2.58
4911 VALVE CHK SST VANTAGE $17.45
560001136 STRAINRELIEF 1.3H V6625 $3.44
560001783 LATCH DOOR 2PIECE PLSTC OC2 $17.64
560001826 VALVE CHK DUAL CHUD 7/16 (2) $25.72
560002114 TRANSFRMR 230V50H-24V 80VA $43.72
560002164 PUMP & MOT 230V 50/60HZ PCL $275.73
560002205 BRKT SENSOR ICEBATH PCL $20.62
560002224 DOOR FRZ CYL PCL $243.76
560002272 SHAFT PIVOT FACEPLATE PCL $34.10
560002280 MOTOR FAN 50W 230/5/6 1550RPM $173.89
560002286 O-RING 1.411D 102CS 70DU EP/N $2.50
560002311 FITG-PUSH 3/8STEM X 1/4NPT $2.87
560002314 FITG-PUSH 3/8STEM X 1/4BARB $3.81
560002317 FITG-PUSH 3/8 X 1/4 MF $5.63
560002318 FITG-PUSH P14512F4S 375X25 FFL $5.92
560002322 FITG-PUSH L 5/16 X 1/4 $6.73
560002323 VALVE SHUT-OFF 3 WAY 3/8PUSH-O $51.27
560002324 VALVE SHUT-OFF 380STEM PLSTC $18.08
560002325 TANK BLENDONATOR ASSY PCL $402.93
560002339 CLIP FLOW BEND 3/80D TUBE PCL $3.30
560002354 MTR AGIT 208/240V 50/60HZ 11.8 $148.77
560002359 BOARD CIRC MAIN PCL $419.35
560002362 BOARD CIRC DC INVERTER PCL $1,144.42
560002364 SWITCH TOUCH MEMBRANE PCL $118.80
560002367 O-RING 3.44ID 208CS 70DU EY-P $5.01
560002369 COVER BLENDANATOR PCL $13.91
560002370 FLOAT BLENDONATOR PCL $18.70
560002375 RELAY START COMP 230/50 2HP $47.96
560002376 RELAY START COMP 240/60 2-1/2H $53.52
560002377 CAPAC SRT 64-77MF 230V 50/60HZ $24.84
560002378 CAPAC STR 60HZ PCL $68.60
560002379 CAPAC RUN 20 MFD 230V 50HZ $39.59
560002380 CAPAC RUN 20 MFD 440V 60HZ $47.03
560002411 SWITCH PRESS WTR 20-30PSI PCL $92.70
560002414 CONTROL LIQUID LEVEL 100PSI PC $88.28




560002422 NUT ACRN 5/16-18 SS $3.86
560002991 VALVE CHK 7/16F X 7/16M CHUD $18.97
560003250 DOOR ASY FCB CART $346.63
560003274 VALVE LEVEL CNTL MANUAL PCL $17.86
560003278 HARN WIRE PCL PHONE LINES 2F $39.17
560003299 DOOR ASY MERCHNDSR PCL $1,169.59
560003342 SPACER VALVE WTR BATH PCL $13.14
560003383 FITG-PUSH 1/4 MPT X 3/8 $5.18
560003391 REG PRESS WATER 1.65GPM 50PSI $56.60
560003423 VALVE EXPAN SOLND CYL DENTED $121.57
560003462 BRKT MTR FAN PCL $18.67
560003473 STRAINER WATER 100MESH 3/8NPT $8.77
560003481 TOOL- SPANNER PUSH FITG $7.94
560003484 TUBE CUT 250 POLY 9.5" 3750D $0.00
560003493 SWITCH PRESS CO2 30-50PSI 240V $64.16
560003566 BULB FLUOR CIRC 32WATT $39.20
560003662 TOOL- PULLER ASSY ROTOR DC $11.29
560003670 GASKET 4"D FOAM-PACK PCL $20.06
560003694 GASKET BACK CYL ASSY PCL $3.90
560003823 DOOR FRZ CYL ASSY PCL STD $533.30
560003824 DOOR FRZ CYL ASSY PCL DELTA $1,123.55
560003875 VALVE SOLND ASY WTR .82GPM $92.70
560003876 VALVE SOLND ASY SYR .21GPM $93.84
560003950 SUPPORT PC BOARD NYLON $0.70
560003953 FILTER SINGLE PHASE RFI FOR $214.88
560003966 TUBG POLY 170 X 250 1 FOOT $0.43
560003970 CLIP SPRING 1/2 TEMP SENSOR $3.04
560003971 CLIP SPRING 3/8 TEMP SENSOR $4.18
560004176 TUBE CONN 375 FLEX 2.5" 5/8 $13.03
560004204 BRKT ASY FRONT WELD PCL $0.00
560004283 VALVE SOLND RFG CYL DENTED $122.45
560004289 BUSHING UHMW MAGNET DRIVE ASY $6.92
560004293 FITG-PUSH L 3/8 X 5/16 STEM $11.19
560004421 SENSOR THERMISTOR 5K OHM PC $0.00
560004525 COIL PROD ASSY RH 4FL PCL $76.67
560004526 COIL PROD ASSY LH 4FL PCL $65.23
560004528 FITG- REDUCER BARB 3/4X3/8 ID $3.64
560004533 GASKET STATOR CLOSED CELL 4FL $5.40
560004540 CYLINDER WELDMNT FREEZE PCL $0.00
560004544 FOAM-PACK BACKPLATE BRACKET $0.00
560004864 DIFFUSER CO2 BLENDONATOR PCL $34.11
560004868 MOTOR-ASY DRIV 230/5/6 4FL PCL $0.00
560005495 KIT THERMISTOR PCL $56.68
560006053 KIT COMP 230/50 PCL $980.93
560006054 KIT COMP 240/60 PCL $944.14
560006072 FAN TUBEAXIAL 8.86 X 3.15" 80W $350.88
560006084 BOARD CNTL 230/50/60 MTR BPM E $400.00
560006093 TANK- ROTOMOLD PCL $292.39
560006202 BOARD CIRC FCB V4 $723.41
560006361 COIL COPR REFRG PCL $86.00
560006412 HARN WIRE HIGH VOLT BALDOR PCL $291.69




560006413 HARN WIRE LOW VOLT BALDOR PCL $332.48
560006422 REG CO2 ASSY 2FL CT PCL $173.93
560006424 SWITCH PRESS SYR 30-37PSI PCL $57.08
560006427 PANEL SPLASH FNT VLV 2FL CT PC $22.43
560006450 HEAT-EXCHG ASSY CT PCL $163.86
560006458 TUBE PROD 250 POLY CO2 LINE 1 $25.12
560006473 SUPPORT LENS 13.18" X 19.11" 2 $33.33
560006474 LENS CLEAR 12.68" X 19.11" 2FL $12.68
560006478S PANEL BACK LOWER SST 2FL CT PC $50.36
560006482 TUBE PROD 250 POLY Y CT PCL $29.21
560006483 TUBE PROD 250 POLY CO2 LINE 2 $18.40
560006507 TUBE CONN 250 POLY CO2 INLET C $24.00
560006577 MERCHNDSR DOOR ASY 2FL CT PCL $1,111.44
560006579 COVER ASY TOP 2FL CT PCL $187.69
560006589 DISPLAY FLAVOR CARD CT PCL $3.10
560006590 DOOR MERCHNDSR 2FL CT PCL $91.00
560006591 INDICATOR B1 COLOR CT PCL $60.04
560006593 BRKT SUPPORT MERCH ASY CT PCL $6.50
560006594 LAMP-HOLDER SELFLOCK CT PCL $6.24
560006595 BALLAST RAPID 120/277 50/60HZ $77.82
560006596 BULB FLOUR CURVALUME 32W T-8 2 $30.87
560006654 BRKT BOTTOM REFLECTOR 4FL CT P $7.23
560006860 TUBE PROD 250 8.0" 3750D BR $22.89
560006861 TUBE CONN 250 3750D BRI X1 $20.71
560006865 TUBE PROD 250 12" 3750D BRIX 2 $18.00
560006866 TUBE CONN 250 3750D BRIX 2 CT $17.00
560006919 FILTER AIR ALUM MESH 9.00"X 10 $14.93
560006987 FUSE SLO-BLO 1A PCL $2.35
560007015 GASKET BACK CYL ASY CT PCL EME $8.03
560007016 GASKET BACK MOTOR CT PCL EMERS $10.26
560007018 GASKET BACK CT PCL EMERSON $12.21
560007145 FOAM-PACK SERVICE PCL $1,166.88
560007199 BRKT DRIP TRAY CART CT PCL $0.00
560007210 PANEL SPLASH FRONT 2FL CT PCL $23.40
560007539 BOARD INTERFACE OPERATOR (DISP $1,485.54
560007541 BOARD PRODUCT DELIVERY FOR PI $305.18
560007581 PANEL BACK 2FL SS CART PCL $0.00
561600112 MAGNET REPLACEMENT MAGNET BALD $644.31
569030115 KIT END CAP ASY REPLACEMENT PC $55.54
60093001 FUSE SLO-BLO 2A 250V $2.88
620043247 BOX ASY CONTROL 2FL PCL $227.03
620044683 PLATE BOTM HINGE ASY CART DOOR $6.48
620044684 PLATE ASY HINGE DOOR TOP CART $6.14
620044685 PLATE HINGE DOOR CART 2 & 4 FL $1.60
620046135 ADAPTER ROTOR ASY FCB $16.99
620046352 RETAINER BRIX VALVE PCL $0.00
620050635 PANEL ASY DOOR CART SS4FLP $0.00
620050641 PANEL SIDE CART SS2 &4 FL PC $0.00
620050715 PANEL RH SIDE GENERIC 2/4 FL C $107.58
620050716 PANEL LH SIDE GENERIC 2/4 FL C $107.58
620051266 BRKT PCL DRIP-TRAY SUPPORT 5" $21.60




620051297 BRKT PCL DRIP-TRAY SUPPORT 5" $14.66
620052082 BRKT DRIP-TRAY EXTENSION 2F $54.08
620052326 PANEL BACK UPPER W/ FILTER ACC $74.39
620052826 BRKT MTG BRIX VALVE PCL $0.00
620200805 S-PAD FOAM W/ADHESIVE MERCHAND $0.00
620313253 SWITCH KILL CIRCUIT BACO PCL $92.64
620313255 SWITCH SAFETY CIRCUIT UPGRA $13.50
620313517 FUSE 1.6 BALDOR INVERTER REPLA $3.62
620313706 SOLENOID COVER PCL $1.26
620313723 SOLENOID COIL SPORLAN HOT GAS $92.43
620314612 INDICATOR LED UPGRADE PCL $23.40
620314831 BOARD CONTROL MAIN W/ICE BA $481.75
620314834 BOARD CONTROL THERMOSTAT PC $158.14
620315113 BULB FLOUR SHATTER RESIST C-LU $29.59
620316205 BALLAST ARC SUPPRESSING PCL $144.57
620316478 HARN CONTROL BOARD TO CONTA $8.58
620316479 HARN CONTROL BOARD TO RESET $11.52
620316480 HARN CONTROL BOARD TO THERM $14.80
620516667 COVER SOLENOID PCL $12.95
620517148 DRIP-TRAY 5" 2FL PCL $96.33
620517149 DRIP-TRAY 5" 4FL PCL FCB $111.17
620608601 FILTER DRYER LIQUID LINE $22.74
620608785 VALVE SOLENOID ASY WTR .82GPM $160.23
620608786 VALVE SOLENOID ASY SYR .21 GPM $0.00
620609124 VALVE HOT GAS PCL $360.45
620708529 CUP-REST 4FL V-SERIES PCL 5" $53.45
620708531 CUP-REST 2FL PCL 5" $38.68
620709413 PIN HINGE 250D MTG MERCH CT PC $0.81
620710725 TRANSFRMR STEP DOWN PCL $105.88
620710726 TRANSFRMR STEP DOWN $72.16
620718601 CASTER RIGID 4" $0.00
620718701 CATCH MAGNETIC SNAP IN $0.00
629087547 KIT SERVICE FLOAT SWITCH PCL B $39.64
629087564 KIT REPLACEMENT MAGNET EMERSON $559.62
629087565 KIT BALDOR STATOR REPLACEMENT $912.91
629087566 KIT EMERSON STATOR REPLACEMENT $583.65
629087589 KIT 2FL 5" DEEP DRIP TRAY PCL $228.88
629088368 KIT THERMOSTAT REPLACEMENT $72.48
629088480 KIT MAIN POWER INTERRUPT CI $741.67
629088546 KIT MAIN POWER INTERRUPT 2FL B $998.45
629088599 KIT CONTINUOUS DUTY SOLENOID R $372.18
629088708 KIT POWER INTERRUPT 2FL OLD BA $875.65
629088717 KIT CONDENSATION DRIP PANS 2FL $293.67
629091023 KIT VALVE PCL HOT GAS $844.03
629094255 KIT MERCHNDSR BALLAST & SOCKET $0.00
629094457 KIT MERCHNDSR BALLAST & SOC (2 $0.00
629094458 P- KIT 2F PCL MERCHANDISER UPG $0.00
750700502 CLIP LOCKING 3/8 JOHN GUEST $0.69
0784 REG PRESS WTR 300 PSI $98.66
1578 TUBE ASY T SIPHON RESTRICT $151.50
172265000 O-RING 362ID 103CS 60DU EY-P $0.88




176001000 FERRULE .425ID #40 JAW 156 BRD $0.41
176204000 FERRULE .640ID #61 JAW $0.41
178025200 GASKET 5/16 MALE FLARE FITG $0.22
180342000 BUSHING RETNG RELIEF-VAL BLK $2.95
186150000 SCREW MA 08-32 PAPH 12 STZI $0.53
186770000 SCREW MA 10-24 RDPH 20 STZI $0.28
187394000 CUSHION FAN MOUNT $0.61
187484000 FITG STGHT 1/4MPT X 3/8MPT BR $4.52
188206000 SCREW TR 10-24 TRPH 24 STZI $0.74
189955000 RIVET POP 125D 126-187 STN STL $0.11
199020000 MOTOR PUMP 1/4 230/50 1425RPM $277.00
2104 COND-COIL STAGGERED TUBE FCB $559.73
2358 PIN BEATER BAR FCB V3+ $10.07
2360 O-RING 1.86ID 139CS 50DU EY-P $2.08
2361 SHAFT PIVOT FACEPLT FCB V3+ $16.42
2463 BEARING SHAFT .625ID W/S-SCWS $45.89
2486 VALVE SOLND ASSY WTR FCB V3+ $96.13
2487 VALVE SOLND ASSY SYR FCB V3+ $98.42
2493 PUMP & MOT FCB V3+ 50HZ $872.04
2583 RETAINER RING 1.670D X 068 THKK $1.82
2591 HOUSING DBLE BRG&RING V3+ MLD $27.35
2731 O-RING 671ID 139CS 60DU EY-P $1.36
2899 TOOL-WRENCH REAR SEAL HSG FCB $13.03
3001 PANEL DRIP TRAY FCB4 LOW $66.72
300835000 MOTOR FAN 23W 230/50 1430RPM $316.16
309338011 CLIP SENSOR SMALL $9.84
309338012 CLIP SENSOR LARGE $9.84
3108 SCREW TC 10-32 PAPH 32 STZI 23 $0.38
3113 FAN 10"D 5BLD CW 37AL 1"BC(4 $12.64
311437000 FITG STGHT 1/4 MF X 3/8MPT BR $1.71
311738000 FITG L-STD 1/4MPT X 3/8 MF BR $5.36
311751000 SCREW MA 04-40 HXSL 08 STZI $0.28
312062000 FITG STGHT 1/4MPT X 3/8 MF BR $1.45
3148 KIT FCB FACEPLATE PIN $64.09
3149 PUMP & MOT 230V 50/60 HZ $482.78
315499000 CAP QUICK SEAL 1/4 $1.04
3156 SHAFT DRIVE ASSY CERAMIC FCBV3 $112.16
3159 SWITCH PRESS WTR 8-30 PSI $49.79
315915000 BODY FLOAT SWT $31.50
315916000 COVER SWT LIQ FLT $16.59
315925000 O-RING 1.60ID 139CS 70DU EY-P $1.14
318035000 TANK & LINKAGE CARB $406.27
318045000 TUBE PROD 250 VBLU 12+ 7/16 $13.32
319357000 MOTOR FAN 50W 230/5/6 1550RPM $191.11
319739000 TRANSFRMR 230V50/60HZ-24V 50VA $73.73
319871000 DRYER 27 IN3 SNGL 381ID R502+ $36.18
320553001 NUT HEX 7/16-14 BRCH $7.56
320620000 RELAY 208/240V50/60HZ DPST $74.83
320678000 O-RING 4.60ID 210CS 70DU EY-P $5.50
320808000 RETAINER SEAL STN STL $66.02
320814000 O-RING 734ID 139CS 50DU EY-P $0.95




320916000 WASHER FT 450 1.1 062 SS $1.76
321269001 SPINNER FRZ CYL $8.30
321544000 O-RING 145ID 070CS 70DU EY-P $1.26
322028000 CASTER SWIV 4" W/BRK 5/8-11 $54.48
322441000 SENSOR VISC MLD $9.37
322859000 TOOL-WRENCH SPANNER $15.84
3232 PIN DRIV 200D 1"'LG SS FCBV3+ $9.46
324048000 HOLDER FLOAT SWITCH $21.22
3243 FITG BARB 5/16 X 1/8MPT PL $0.00
325012000 VALVE SHUT-OFF 1/4BARB PLSTC $19.73
325170000 SWITCH FLOAT & TERM $85.34
325288000 SWITCH FLOAT ASSY $46.01
325401000 SWITCH PRESS HI 425PSI 240V60H $80.65
325457000 BLADE SCRAPER 4F FCB $14.06
325576000 TUBE SIPHON VINYL 12 $3.17
325579000 SOLENOID PULL 208/240V50/60HZ $77.49
325621011 RECEIVER 200CU IN 3/8SLDR $213.41
325661000 CORD SERYV 06-2 10-50P 72" $78.97
325721068 PANEL TOP FCB 2FL VA BEIGE $80.11
325740039 COVER SWT-LENS 2 FCB $96.06
325776000 SWITCH PRESS CO2 50-75PSI 240V $45.89
325918000 DOOR FRZ CYL 2FCB VA $319.29
325953000 SPRING VALVE RELF 40# FCB $0.69
325962040 SWITCH TOUCH 14FUNC $154.06
325998000 CABLE RIBBON 19COND 7" $48.14
326009000 KIT REPLACE GEAR FCB BEAT MTR $369.74
326009001 KIT SEAL BEATER MTR FCB $135.15
326073012 SENSOR W/LEAD & TERMINAL FCB $50.62
326076000 BOARD CIRC FCB4 MTR1 $294.81
326077000 BOARD CIRC FCB4 MTR2 $286.51
326078000 BOARD CIRC FCB4 DISPLAY $349.11
326079000 CABLE RIBBON 12COND 25" $31.93
326098000 TUBE CONN 250 VBRD 48" 7/16 CR $25.69
326105000 VALVE RELIEF 50 PSI $9.42
326106000 DOOR FRZ CYL ASY ELECTRONIC $573.35
326124000 KIT B-N-B SOLD-OUT $100.84
3432 BODY BEATER FCB W/8PADDLES $41.03
343487000 SCREW MA 08-32 PAPH 16 STZI $0.30
3617 CAPAC RUN 45 MFD 370V 50/60HZ $74.30
3680 KIT PM V3+ FCB $9.81
3787 COUPLING SHAFT FLEX 625D 2.812 $100.71
3810 BRKT SPACER ADJ SHAFT FCB #2 $4.46
3811 KIT FCB WTR PRESS SLDOUT SWIWI $75.53
3898 KIT-COMP 2 HP 240/60 COPLND $1,482.99
3899 KIT-COMP 2-1/2 230/50 COPLND $1,677.71
40285 RELAY START $66.99
4712 SWITCH TOUCH 14FUNC 2F FCBV4 $114.44
4959 CHIP REAL TIME CLOCK (SERVICE) $44.38
5076 CHIP MICRO EPROM V3 FCB 95BFBF $32.92
5081 SWITCH SOLD OUT FCB BARKS $74.17
5084 KIT B-N-B SOLD-OUT BARKS $91.89




560003399 CHIP EPROM V3/V3+ FCB 98AF $34.83
560004341 KIT-COMP 2 HP 240/60 COPLND $1,682.99
620314907 MOTOR- BEATER 230/50/60 W/RELI $0.00
620608608 FILTER AIR ALUM MESH 11.25" X $14.49
620717703 TUBE DRAIN LINE .3750D SS $14.84
620919597 KIT CONVERSION V4 $1,515.52
629087545 KIT COMPRESSOR 3HP 220/50 FCB $2,628.38
629087580 KIT GEAR EMERSON GEAR MOTOR V4 $634.03
940078000 TUBG INSUL 1-3/8ID X 3/8WL BLK $2.89
2581 ACCUM 106CU IN 5/8SLDR 15-3/4" $148.77
2582 RECEIVER 184CU IN 15-3/4LG 4"D $148.77
2944 BRKT MTR FAN FCB OC2 $26.21
309316000 MOTOR FAN 35W 240/60 1550RPM $254.88
310198133 REG FLOW SYRUP $135.05
311236000 QUAD-RING 737ID 103CS 60DU EP $1.53
325726000 DOOR ACCESS 2F FCB V $42.57
325921022 BOARD CIRC FCB CNTL 230V50/60H $1,278.35
325937000 COUPLING SHAFT FLEX 625 $49.02
326014088 SHAFT DRIVE ASSY FCB SERVICE $168.23
1773 PIN DRIV 200D 718LG SS FCB $25.80
197466000 RELAY START COMP 2HP 35A240V50 $211.47
2162 CAPAC RUN 30 MFD 330V 50/60HZ $94.78
310757000 REG FLOW WATER $146.78
3193 SHAFT ASSY REAR SEAL FCB V3+ $479.51
320533000 O-RING 859ID 139CS 70DU EY-P $0.97
320550000 SLEEVE NYLON $11.34
320651000 MOTOR FAN 35W 240/60 XXX $308.82
320663000 VALVE SOLND SYR 240V60/208V50 $167.26
320815000 O-RING 1.23ID 139CS 70DU EY-P $1.41
320935000 BODY BEATER FCB PREMIX $48.40
322063000 PULLER BEARING SEAL $21.43
322442000 FITG- FACEPLT3/8-16 X 8-32THRU $117.67
322821000 MOTOR BETR 1/8 230/5/6 1160RPM $546.80
324121088 FOAM-PACK SERVICE OC FCB $3,517.09
324194888 TANK BLND 3 HOLE 1 FLOA $461.20
324223000 BEARING BALL W/COLLAR $56.08
324237000 KIT REPLACE VALVE SOLENOID $586.15
324252000 LEG-LEVL 4.00" 3/8-16 $30.37
325028000 SHEAVE 1.10D 4GROV 500B $35.71
325147000 PROBE FLOAT SWT $71.75
325291000 BOOT BEARING RUBR $4.31
325320000 DOOR FRZ CYL ASY MECHANICAL $889.76
325467088 FOAM-PACK SERVICE FCB $2,675.05
325742000 VALVE SOLND C-WTR 24V50/60H12W $539.25
325986000 SUPPORT DRIP TRAY ASSY2 $21.17
326013000 SHAFT DRIVE 2F FCB $106.74
326072000 BOARD CIRC FCB V2 ELEC 7-11 $894.35
326149000 TUBE ASY T WTR&SYR $69.22
326158000 LINE RFG ASY HOTGAS $430.52
340739000 SWT MCRO-L SPST ON/M-OFF 15A $28.78
3740 SLEEVE CPLG SHAFT SERV 2" FCB $76.67




4409 FOAM-PACK SERVICE FCB 5/8 R404 $3,907.32
111557000 VALVE SHUT-OFF 3/8BARB $15.17
1983 KIT CO2 SOLD OUT MCDONALDS $733.30
308920000 KIT FITG PYTH HEAD $118.28
318998000 TAPE INSL ASSY 1/8 X 2"X 75' $51.05
0200 TUBE INLET SURGE TNK $235.42
0515 KIT WATER BOOSTER 220V MCDN $1,820.22
0517 COMP-AIR 1/4HP 230/50 GAST $1,742.67
0590 LINE COPR L ASY $95.91
0674 TUBE DRAIN VAL ASSY $50.36
1287 GASKET 3/4-16 MALE FITG $0.82
1288 FITG BARB 3/8 X 3/4-16F SS $6.47
176206000 NUT SWIV 1/2-16 BRNI 375TUBE $1.03
176213000 TUBE CONN 265 FLEX 54" 7/16 $17.94
180363000 O-RING 299ID 103CS 70DU EY-P $0.64
180426000 TUBE GAS 1.230 5 GAL $2.45
186394000 BOLT MA 1/4-20 HX 20 STZI $0.13
2211 SWITCH PRESS CNTL H20 $103.95
300894000 TANK SURGE 100PSI $283.82
300919000 KIT REG WTR 3/4" $594.00
300922000 REG PRESS WTR 30PSI $233.13
310156000 FITG STGHT 1/4MPT X 3/8 FF BR $12.15
320670000 SWITCH PRESS 50-66PSI1240V SPDT $68.67
560001411 STRAP TANK WTR BOOST REINF $12.61
560001491 GAGE WTR 160PSI/11BAR/1100KP $111.14
560002596 SWT MCRO-B SPDT ON/M-ON 03A $6.49
560002599 GAGE 160PSI WATER BACK MOUNT $40.25
560003907 FOOT RUBBER SANDWICH MOUNT $0.00
560003955 SCREW SR #10 FLPH 64 STZC $0.00
8798 TANK AIR RESEVOIR ASSY 8.5"D $648.20
8815 REG PRESS WTR 55PSI EB86 CASH $239.19
8853 FITG L-STD 1/2NPT X STREET BR $10.40
8855 KIT BOOST/SURGE W/SHELF $1,770.41
8871 FITG BARB 1/2 X 1/2MPT BR $6.97
8939 KIT REGULATOR REMOTE $1,404.38
960135000 TAPE CORK 1/8 X 2-1/2" $1.28
312798000 REG FLOW MUL 5HI $24.10
313868000 TIE CABLE 15" HEAVY DUTY $3.00
0402 SENSOR PROBE $53.41
0403 SENSOR ASSY AURORA $57.89
300458888 KIT REPLACE LVL CNTL AURORA $369.70
300489000 MOTOR PUMP 1/2 230/5/6 1725RPM $883.91
300500000 MOTOR AGIT 50W 240/60 1550RPM $291.62
300933000 TUBE ASY HI-PRESS $188.34
300935000 BOARD CIRC AURO CNTL (L/CHIP) $687.00
300939000 CHIP MICRO PROCESSOR AUR10M CC $161.00
301097000 SENSOR TEMP $26.51
309139000 BOARD ADAPT KIT AUR $578.59
309424000 SENSOR TEMPERATURE WELL $151.96
309626200 TUBE SYR BYPASS STCO $42.30
317588001 VALVE SOLND ATLAS $82.39




3691 KIT REPLACE PROBE AURORA/VENTR $48.18
3725 COMP 2-1/2 230/50 COPLND 404A $1,357.00
3771 BOARD CIRC LVL CNTL $194.23
186627000 CONTROL ICE BANK WRDGRS 56"TUB $206.35
569000172 KIT CUP TUBE 12 OZ ABS $291.60
569000173 KIT CUP TUBE 16 OZ ABS $273.75
569000174 KIT CUP TUBE 21 OZ ABS $273.75
569000175 KIT CUP TUBE 32 OZ ABS $284.79
569000188 KIT PLUNGER ABS CERAMIC MULT $70.39
569000199 KIT CUP TUBE 42 OZ ABS $338.45
174156000 TOOL-CUTTER TUBE $32.87
174157000 BLADE TUBE CUTTER $19.50
176174000 TOOL-CUTTER TUBE $61.59
311938000 TOOL-CRIMP CLAMP&MAN $54.35
CT220X4 THERMOMETER BIMETAL POCKET $22.08
143106901 MANIFOLD RETURN SODA U W/7/16 $17.68
167473006 TUBE WTR ASY WDY PTP $25.51
183304100 MANIFOLD ASY 4/5FL 7/16 $25.85
183326000 MANIFOLD ASY 6/8FL $59.60
4648 MANIFOLD WTR VANTAGE 4PORT $186.32
741000513 P- MANIFOLD CUSTOM FOR MEXICO $0.00
2291836 FAN- BLADE HEATCRAFT $0.00
2537974 MOTOR FAN 1/4HP 230V 1075 RPM $0.00
440000903 PROBE ICE BANK CNTL $32.14
560003705 COND-COIL & FAN 07W 120/60 $171.09
560003706 COND-COIL & FAN 07W 230/5/6 .2 $148.77
00258 NUT SPED 1/4-20 ST FS $7.00
0734801 RIVET POP 1/8D X 06-125 $0.27
1073 MANIFOLD ASY 5FL 7/16 $108.00
111085000 CLAMP OETR 8900PEN STPLS #22.6 $1.14
140135000 CLAMP HOSE 687 NOM SCREW $1.08
148994198 CLAMP OETR 7500PEN STPLS #19.8 $0.26
150918000 SCREW MA 08-32 TRSL 12 SSPA $1.09
151281000 WASHER SR 640 1.0 042 STZI 625 $0.47
160155000 NUT HEX 5/8-18 BRNI $1.59
161168000 SCREW MA 08-32 TRPH 08 SS $1.34
161168006 SCREW TC 08-32 HX 12 SSBL $1.27
164126000 SCREW SM 08 TATRPH 16 SS FS $0.21
176000000 FERRULE .500ID #47 JAW $0.41
176016000 NUT SWIV 1/2-16 BRNI $0.83
176026000 PIN RETNR CRIMP TOOL $0.00
176029000 JAW CRIMPER SET (4) #31 $208.96
176030000 JAW CRIMPER SET(4) #40 $98.67
176033000 KIT CRIMPER JAW#50 $91.38
176067000 FERRULE .540ID #50 JAW $0.33
176074000 PIN DOWL 187D 625LG ST $0.00
176203000 JAW CRIMPER SET(4) #61 $106.09
176274000 JAW CRIMP #31 $53.95
176275000 JAW CRIMP #37 $29.02
176276000 JAW CRIMP #40 $53.95
176278000 JAW CRIMP #50 $53.95




176280000 JAW CRIMP #61 $53.95
178025100 GASKET 1/4 MALE FLARE FITG $0.13
183040000 SCREW MA 10-32 FLPH 28 STZI $0.31
186116000 NUT HEX 1/4-20 SSPA $0.41
186154000 SCREW SE 08-36 PAPH 12 STZI $0.28
186294000 WASHER LK 262 489 062 SSPA 250 $0.28
186564000 STRAINRELIEF 625H 18-4/14-2SJT $0.46
186568000 TAPE MARKER #7 BRADY $0.29
186599000 SLINGER WATER $1.49
186639100 FITG BLKHD 1/4 MF X 5/16MF SS $44.17
186768000 NUT HEX 7/16-20 STZI $0.71
187188000 SCREW SE 08-32 PAPH 08 STZI $0.30
187483000 CLAMP V 2"D PUMP&MOT $4.25
274261000 TOOL-CRIMP FERRULE $273.10
310363000 MARKER EZ WATER $1.35
310364000 MARKER EZ CO2 $0.76
310461000 SCREW TR 08-32 PAPH 12 STZI $0.41
311304000 GASKET 3/8 MALE FLARE FITG $0.18
311821000 FITG STGHT 1/4 MF X 3/8 FF PL $3.36
311930006 KIT HOSE CLAMP STEPLESS OET $476.10
312251000 SCREW TR 10-24 PAPH 12 STZI $0.74
313093000 CAP-PLG 1.9INT/1.9EXT 63DP YEL $0.61
315961000 SCREW MA 04-40 PAPH 36 STZI $0.27
316753000 NUT PUSH 375STUD SS $1.32
317658000 NUT PUSH 188STUD $0.31
317784000 SCREW TC 08-18 TRPH 16 SSPA 25 $0.45
318036000 NUT PUSH 125STUD STZI $0.30
318308000 SCREW TR 10-32 PAPH 32 SS HRD $0.71
318418000 WASHER FT 312 750 062 STZI STD $0.05
318516000 CLAMP HOSE 790-875 PLSTC $1.76
318733000 SCREW MA 06-32 TRPH 10 SS $0.31
319681000 CLAMP OETR 8260PEN STPLS #21.0 $0.37
319941000 SCREW TR 08-32 HXWS 12 STZI $0.31
320539000 WASHER FT 191 812 030 STZI $0.28
3298 SCREW TC 06-32 PAPH 16 STZI 23 $0.10
331850000 LUBE LUBRIPLATE 105 $11.43
342958000 CLAMP HOSE 215-625 DUPGE $0.86
396108000 FITG T-BRB 3/8 (3) HI POLY PL $1.83
397206000 FITG T-BRB 1/4 (3) BLK PL $1.21
398023208 SCREW TC 06-32 PASL 12 SSPA 23 $0.44
398034400 PIN HTCH 080D 1.562 STZI $0.36
4853 FITG T-BRB 1/4 (3) CHUD SS $7.90
4855 FITG T-BRB 1/4 X 3/8BRB2 XX $8.91
560000221 CLAMP OETR 7280PEN STPLS #18.5 $0.29
560000329 SCREW MA 04-40 TRPH 10 SSPA $0.92
560000354 NUT SHLDR 06-32 HX SMALL ABS $8.65
560000399 NUT ACRN 06-32 SS $1.05
560001532 SCREW MA 10-32 FLPH 14 SSPA $1.54
560002749 NUT HEX 18-8 SS $0.10
560003272 WASHER FT 344 750 046 SSPO $0.41
560003275 NUT HEX 5/16-18 STZI NYLOK $0.25




560003353 NUT INUT 1/4-20 PAL $0.50
60005012 WASHER FT 266 688 047 BR PLTD $0.44
620701202 NUT HEX JAM 1/4-28 SS 400 SER $0.90
620701208 NUT HEX 5/8-18 SS JAM-SPC $12.91
620701601 SCREW TF SM 10-16 PNPH 16SS $0.23
620706625 SCREW MA 10-32 FLSL 14 SSPA $0.31
630900895 NUT HEX 08-32 SS KEPS $0.30
638036269 CLAMP STAI STEEL FLAKR CHUN $5.37
70075 NUT HEX 06-32 STZI KEPS $0.13
70171 SCREW MA 08-32 TRPH 12 SS $0.83
70245 SCREW WG 10-32 16 PRESSED $3.20
70260 BOLT MA 1/4-20 RDPH 32 SS $1.00
70747 SCREW MA 08-32 TRPH 16 ST BLK $0.34
70815 SCREW MTG MTR $56.46
100057 O-RING COUPLER $0.23
111778000 MOTOR AGIT 25W 120/60 1550RPM $265.24
186610000 PIN SPRG 093D 562LG SS $0.30
197461000 RELAY START COMP 220/240 50H $62.40
2602 DRYER 1.4IN3 DUAL 254ID R134A $14.54
309645000 SWT ROCKER SPST ON / OFF 20A $7.60
313697000 VALVE SHUT-OFF 1/2BARB $20.62
314744000 LEG-LEVL 4.00" 3/8-16 BLK PLST $14.77
325408010 ACCUM 50 CU IN 1/2SLDR $145.25
560000202 CYLINDER CUP 4.25D 12/16/21ABS $0.00
560000204 SPACER FINGER CUP HOLDER ABS $2.12
560000206 COVER TUBE 4" CUP ABS $31.84
560000207 COVER TUBE 5" CUP ABS $24.49
560000208 GRIPPER ANGLAR PNEUMATIC ABS $1,336.08
560000214 BRKT CUP TUBE 12/16/21 ABS $9.73
560000215 BRKT CUP TUBE 32/42 ABS $11.89
560000219 NUT SHLDR 06-32 HX LRGE ABS $8.32
560000234 BOX-GEAR 100-1 TURRET ABS $508.38
560000245 COVER LINE ACCESS EXHAUST ABS $5.88
560000248 COVER CNTRL BOX MAIN ABS $34.40
560000250 SWITCH TOUCH USER INTFCE ABS $370.99
560000291 FILTER AIR COND ALUM MESH $20.90
560000302 SENSOR THRUBEAM RECR/EMITR ABS $507.28
560000307 HOLDER CUP CONVEYOR ABS $0.00
560000309 SHAFT GEAR CONVEYOR ABS $88.12
560000319 BELT-DRIVE RIB CONVEYOR ABS $377.66
560000320 COVER ACCESS CONVEYOR ABS $32.61
560000326 BEARING BALL .591 X 1.378 $46.12
560000351 BRKT ADAP CUP TUBE XLG-MED ABS $16.36
560000356 VALVE AIR TOGGLE ABS $56.08
560000357 SWITCH REED AIR CYL ABS $53.45
560000359 RELAY SPST SSTATE ABS $108.41
560000367 SWITCH PRESS LO PSI ABS $122.64
560000368 SPRING CUP LOCATOR ABS $20.47
560000372 BOARD CIRC ABS BEV/INTERFACE $700.82
560000373 BOARD CIRC ABS TURRET SENSOR $89.37
560000376 BOARD CIRC ABS POWER 12VDC $219.07




560000384 HARN WIRE ABS MOTION-POS 16" S $64.67
560000385 CABLE EXTN DB9 RS232 100'MIN $344.47
560000386 COVER CUP HI SENSOR ABS $58.36
560000390 SOLENOID AIR FLOW CNTL12DC ABS $206.05
560000391 REG & FLTR AIR ABS $144.15
560000393 STUD CLINCH 06-32 STZI 5/8 $0.73
560000394 CYLINDER AIR 2.5 ICE ABS $172.80
560001517 SOLENOID AIR FLOW CNTL12DC ABS $121.28
560001519 FITG-PUSH 10-32 X 094ID TUBE $4.61
560001534 FITG-PUSH L 10-32 X 094 TUBE $10.76
560001535 INSERT DISPLAY VAL PNL ABS $15.93
560001537 HOLDER C-BULB RANCO ABS $5.46
560001544 DIFFUSER VAL MCCN 16-1488 ABS $315.77
560001545 NOZZLE VAL TURBO MCCN 01-0924 $13.20
560001558 FINGER ASY 16/21/42 CUP ABS $12.02
560001559 FINGER ASY 12 & 32 CUP ABS $13.29
560001566 SEAL SHAFT CONVYR DRIVE ABS $19.49
560001586 SUPPORT PC BOARD 1/4 NYLON $0.58
560001589 BRUSH CLEANING 2.5D NYLON 16" $20.06
560001595 TUBE CUT 125 CLR 65" SUP-TOP $11.34
560001596 TUBE CUT 125 CLR 18.5 SUP-GRIP $4.48
560001597 TUBE CUT 125 CLR 07" ICE SWT $2.94
560001598 TUBE CUT 125 BLK 15" ICECY-SOL $3.05
560002702 SWITCH SOLD OUT ABS BARKS $73.60
560002704 BRKT ADAPT CUP TUBE LG-SM ABS $31.41
560002707 NUT- CAPTIVE 08-32 SNAPIN ABS $9.36
560002713 KIT FLOW CNTL WATER ABS $67.72
560002716 KIT FLOW CNTL SYRUP ABS $44.14
560002729 DEFLECTOR WTR CONVEY CPLG ABS $5.15
560002731 MOTOR DRIV W 230V VERTICA $451.36
560002733 MOTOR DRIV W 230V VERTICA $679.00
560002734 CAPAC RUN .8 MFD 450V50/60 $40.77
560002736 CAPAC RUN 01 MFD 400V50/60 $39.73
560002737 BOARD CIRC ABS MOTION 230/5 $1,449.00
560002746 BOARD CIRC ABS STORE AUST $1,228.00
560002752 KIT ABSCUP HOLD MOUNT NUTS $140.60
560002761 STAND-OFF 06-32 X 1-1/4 STZ $1.98
560002781 TUBE SPLASH GAURD, ABS $0.77
560002782 COVER PC BOARD, ABS $16.47
560002783 COVER ELEC BOX, ABS $12.30
560002792 DISPLAY LCD 2X24 ABS CE $0.00
560002793 DISPLAY LCD 4X20 ABS CE $0.00
560005978 WASHER- RETAINING CUP HOLDER A $2.67
569000156 KIT/CERAMIC FLO REG/WATER/ABS $153.60
569000157 KIT/CERAMIC FLO REG/SYRUP/ABS $88.16
569000295 KIT REPLACE CUP CONVEYOR ABS $1,393.90
569030021 HOLDER CUP REPLCMNT KIT ABS $43.38
620048431 TRAY ASY LIDDING W/SINK $0.00
620052948 PANEL ASY FNT W/DRAIN HOLE ABS $207.56
620200417 KIT CYLINDER LIFT ASY ABS $2,558.56
620313720 SOLENOID HIGH HUMIDITY $67.07




620314508 SENSOR CONVEYOR INDEX ABS $0.00
620314917 MOTOR TURRET ABS $628.16
620316003 CABLE ABS - PALM PILOT $94.32
620516429 LIFT ASY NORGREN ABS $2,685.28
620516680 COVER EXHAUST PANEL $0.00
629087538 KIT GRABBER PADS ABS $67.72
629087539 KIT GRABBER ARMS W/PADS ABS $184.78
629088365 KIT SUPER SEAL ABS $253.09
629088447 KIT MOTOR CONVEYOR ABS $1,052.26
629088642 KIT ABS STAGING SHELF/DRAIN $384.16
629089003 KIT FLAVORBLAST TOWER MCDONALD $1,309.42
31525016 O-RING 614ID 070CS 60DU BU-N $0.69
31525026 O-RING 674ID 103CS 60DU BU-N $0.89
3195 PROBE LEVEL CNTL VENTURE $30.08
560002799 MOTOR PUMP 1/3 230/50 1725RPM $167.00
560004362 MOTOR- FAN 9/10W 120/60 SERVCE $49.03
560004365 SHROUD COND OLYMPUS LARGE $56.73
620407724 MANIFOLD ASY WATER PLAIN/CARB $219.00
620408225 COIL ASY WELDED 6V $528.00
620717708 TUBE INLET CO2 OLYMPUS $25.99
750100133-1 SVC REF WATERBATH ASY S $453.09
750200103 BASE M $74.39
750200105 FRONT MERCH. HOUSING OLY M $27.03
750200110 CUP-REST OLY/MD STND 15.3X5.52 $19.26
750200252 REFLECTOR LAMP OLY M $13.53
750300012 CVR BOX CNTL L/M $20.20
750300055 TUBE INLET CO2 $7.77
750300101 PANEL SIDE RIGHT OLY $106.98
750300102 PANEL SIDE LEFT OLY $103.28
750300107 DRIP TRAY L $43.21
750300114 PANEL INNER SIDE RIGHT OLY $3.37
750300115 PANEL INNER SIDE LEFT OLY $3.37
750300158 FITG-PUSH CHK VALVE 3/8 $20.23
750300205 INSL PAD AGIT MTR MTG BRK OLY $4.25
750300265 BAFFLE ANTI SPILL OLY L $16.19
750300417 HARN WIRE LIQ LEVEL PROBE OLY $26.91
750500311 MERCHNDSR OLY LARGE NON LIT MP $0.00
629087568 KIT SERVICE COMPRESSOR REPLACE $362.94
629088435 KIT CONV 5FL SST OLY $786.24
2483 FITG-PUSH L 1/4TUBE PLSTC $16.54
3454 MTR AGIT 120V 60HZ 15W SP 1500 $186.54
560004940 MOTOR PUMP 1/3 230/5/6 RESILIE $151.00
620408243 COIL ASY WELDED IMP $236.85
850000101 EVAP COIL IMPULSE $48.26
850000103 COND-COIL 9X9 3ROW 10FPI IMPU $109.20
850000126 COIL SYR ASY IMPULSE $31.89
850000165 COVER ACCESS IMPULSE $4.41
850000167 CUP-REST IMPLSE STND 15.1X5.5 $14.36
850000171 FITG-PUSH UNION DUAL 5/16 $15.72
850000212 MERCHNDSR HSG 6FL IMPULSE $195.25
850000223 MERCHNDSR HSG 5FL IMPULSE $117.00




850000224 MERCHNDSR HSG 8FL IMPULSE2 $351.75
850000226 PANEL SPLASH IMPULSE $52.87
850000229 FAN- 08"D 5BLD CW 32AL 250HUB( $8.87
850000233 PANEL BACK IMPULSE $118.48
850000239 DRIP-TRAY IMPULSE $17.82
850000241 BRKT MTR FAN IMPULSE $19.17
850000243 COIL WTR IMPULSE $67.52
850000269 DECAL IMPULSE PEPSICO SID RHT $48.39
850000270 DECAL IMPULSE PEPSICO SID LFT $48.81
850000280 COVER ELEC BOX IMPULSE $74.93
850000285 CLIP CANOE 240/260HOLE PLSTC $1.19
850000312 MERCHNDSR LIGHTED 6FL IMPUL $175.48
850000317 PANEL TOP LIGHTED IMPULSE $57.67
850000323 WRAP CENTER IMPULSE $178.75
850000357 BALLAST CIRCLIN 22W 230/50 $51.88
850000438 MERCHNDSR PSH LTD IMP1 $268.12
850000444 CUP-REST IMPULSE STND 15.2X5.4 $13.53
850000479 PANEL SIDE STANDARD IMPULSE $51.96
850000533 TUBE WTR IN IMPULSE $14.81
850000596 DECAL IMPULSE PEPSI RHT INT M $62.40
850000597 DECAL IMPULSE PEPSI LHS INT M $62.40
850000598 DECAL IMPULSE PEPSI FNT INT M $39.52
850000599 LENS LTD PEPSI INT IMPULSE $45.76
859000111 KIT LTD MERCH 6FL IMP 120V $676.46
000113734 SEALANT SIL HEAT SINK 6.5 GRAM $13.49
0876 KIT CHK VALVE VENTED $132.75
309105000 KIT LEVER WATER $19.80
311904000 VALVE CHANGEOVER $42.35
560000439 HOLDER LID CUP VGD245 MCDN $332.98
560000440 HOLDER STRAW VGD245 MCDN $56.16
814410000 KIT INSTL REG USA-THD BULKPAK $25.38
818824000 KIT BULK INSTL REG WATER PRESS $113.36
319292888 KIT REPLACE ICEBANK CNTL RANCO $173.95
186808000 BLADE-AGIT 3.75D 2BLD 312 PL + $5.44
308912000 MOTOR AGIT 25W 240/60 1550RPM $259.02
313621000 STRAINRELIEF 875H 12-3/10-3SPT $0.90
318168002 MOTOR AGIT 18+ 230/5/6 1300RPM $263.95
4197 MOTOR FAN 35W 120/60 1500RPM $152.21
4771 CUP-REST VAN245 STND 22.4X7.2 $129.16
4772 DRIP-TRAY VGD 245 $196.19
4778 BRKT MTG DRIP-TRAY VNG245 $11.16
4932 BRKT MTR AGIT VGD 245 $3.83
560000123 MOTOR FAN 35W 240/60 1500RPM $171.05
560000126 KIT LEGS VGD245 $105.28
560000170 MOTOR FAN 23+ 230/50 1430RPM $286.73
560000417 WRAP BASE S-SERV MCDN VGD245 $114.00
560001874 COIL WTR #3 6FL VGD245 $358.21
560001875 COIL WTR #6 6FL VGD245 $342.16
560001876 COIL WTR #4 8FL VGD245 $231.78
569000205 KIT-COMP 3/4HP 230/50 TCMSEH $1,408.77
569000206 KIT-COMP 3/4HP 240/60 TCMSEH $1,374.44




620052361 PANEL ACCS VANTAGE $31.30
2368 DRIP-TRAY VANGD/MCDN $128.74
2369 LIGHT INDIC RND 24V AMBER $26.41

318515000 SWT PUSH-B SPST OFF/M-ON 06A $19.30

319348000 CUP-REST VANGRD STND 17.2X4.7 $37.20

319358000 FAN 12"D 6BLD CCW  375HUB $38.23

319366000 COIL CARB WTR VNGRD $669.48

319367004 MANIFOLD WTR 4PORT VANGUARD $307.15

319373011 COND-COIL 4ROW ALUM VNGRD/UNI $449.03

319374088 MOTOR-ASY AGIT 230/5/6 VANGUAR $322.41

319379000 FILTER AIR COND ALUM MESH VGRD $27.88
3729 KIT-COMP 3/4HP 230/50 TCMSEH $1,485.56

560003071 HOLDER ICE BANK PROBE VGD245 $20.14

560007334 TANK ASSY FOAMED S-VANTAGE $1,211.35

569030002 KIT SWITCH WTRPROOF VANGUARD $76.57
2520 COMP 1/3HP 230/5/6 TCMSEH 134A $0.00

314150000 MOTOR AGIT 11+ 230/5/6 1300RPM $313.81

318569000 SWT LOCK SPST ON/ OFF 03A $25.58
3453 MOTOR FAN 09W 120/60 1450RPM $108.72
4504 PANEL ACCS VANTAGE SST $33.19
4537 DRIP-TRAY VANTAGE $13.46
4547 CUP-REST VANTAG STND 14.3X5.2 $34.23
4614 BOARD CIRC VNTGE ICE BANK 115V $153.36
4615 BOARD CIRC VNTGE ICE BANK 230V $133.12
4626 BOARD CIRC VNTGE CARB LVL $70.23
4637 FITG-PUSH L 5/16"OD TUBE PLSTC $10.70
4650 COIL WTR ASY I-CRB VANTAGE $423.63

560001823 COIL PROD VANTAGE PREMIX $56.60

560001885 FAN 06.75 5BLD CW ALUM 1.03BC $9.84

560001893 EVAP ASY VANTAGE WEDGE BOTM $473.68

560002119 BOARD CIRC VNTGE ICE BNK 230CE $279.00

560004377 COND-COIL BTU 3ROW VNTGE $0.00

560005371 HOOD ASSY S-VANTAGE $94.50

560007333 COIL WTR ASY INTEL VANTAGE $331.00

560007335 WRAP REAR S-VANTAGE $90.40

620921303 DECAL VANTAGE PEPSICO SID INT $0.00

720302102 COIL ASY WTR INTEGRAL CARB VTG $388.44
1614 MANIFOLD WTR 4PORT WELDED $83.55
1615 MANIFOLD WTR 5PORT WELDED $97.28

188045000 MEDALLION CORNELIUS 2.578 LGFS $0.62

197344088 MOTOR-ASY AGIT 230/50 VENTURE $308.99

317655033 HOOD VENTR WHITE $239.00

317655039 HOOD VENTR BLACK $95.00

317655717 HOOD ASY VENTR WHITE GENL $285.56

317655760 HOOD ASY VENTR CC INTL-ENG $673.57

317659039 DRIP-TRAY VENTURE BLACK $26.16

317670001 COIL WTR PLAIN 4-6FL VNTR $147.63

317671001 COIL CARB WTR VNTR $147.63

317674001 COIL SYR ASY VENTURE $79.20

318297000 COIL CARB WTR VNTR $106.43

318446000 TUBE PROD 156 VBRD 10" 156 VL $10.41




318948000 KEY LOCK SWITCH B-234 $15.48
3455 MOTOR AGIT 11+ 230/50 1300RPM $364.39
3539 COIL WTR PLAIN VNTR $94.99
3540 COIL CARB WTR VNTR-VA $88.12
3805 COIL PROD VENTR PREMIX $247.19
3808 COIL PROD VENTR PREMIX $208.28

308929000 TIE CABLE 26" NYLON $1.62

569000218 KIT INSTL MCDN VNGRD 245 $2,938.00

569000542 KIT INSTL SODA CIRC INTL $668.72

569000577 KIT INSTL CLD CRB 8FL 2DISP $1,961.44

569000652 KIT INSTL BNB INTELLICARB $1,078.00

569000665 KIT INSTL CLD CRB 6FL 1DISP $2,908.88

569000700 KIT INSTL DISP 6FL EXP BULK $473.20
59367 KIT PEPSI QUALITY $322.43

629087458 KIT PUMP/MTR INTELLI CARB 230V $912.00

629088462 KIT TEST BLOCK UF-1 ASY $229.67
1116 STEM ASSY R-VAL NATL $10.20
1895 BASE DECADE BLACK $481.67
2233 BRKT MTR FAN DECADE $0.00
2488 CUP-REST DECADE STND 16.7X4.9 $49.05
2765 MOTOR PUMP 1/4 230/5/6 1425RPM $292.97
2793 CAPAC RUN 10 MFD 330V 50/60HZ $24.03
3082 BLADE-AGIT 3.14D 3BLD 250 SS $6.11

308973000 REG FLOW MUL 5 PORT $54.17

308974000 REG FLOW MUL 6 PORT $59.90
3093 DRIP-TRAY DECADE GRAY COKE $66.02
3197 PROBE LEVEL CNTL DECADE $38.78
3222 MANIFOLD ASY CO2 6PORT DECADE $399.36
3437 PANEL ACCS DECADE HOOKED SST $86.06
3496 MOTOR AGIT 18+ 230/50 1300RPM $226.45
3911 FAN 08"D 5BLD CCW PLST 1"BC(4 $0.00

187244000 SCREW MA 06-32 PASL 08 STZI $0.35

199508088 MOTOR- FAN KIT 9W 230/5/6 $109.00
2107 BULB FLUOR CIRC VNT $43.70
2477 HOLDER CAPACITOR 2.00"-2.50" $4.25
2783 MOTOR FAN 09W 230/5/6 1200RPM $93.84
3128 RELAY START COMP 1/3HP 120V60H $21.37
3142 OVERLD COMP 1/3TC 230V50/60H $8.84
3143 RELAY START COMP 1/3HP 230Vv50/ $12.15

319221000 ADAPTER AGIT MOT $33.24
3320 SWITCH KEY LOCK DECADE 24V $49.27
3321 KEY LOCK SPARE DECADE C&K $8.99

361003200 FITG L-STD 3/8MPT X 3/8 MF BR $10.76
3648 KIT-COMP 1/3HP 120/60 TCMSEH $579.07
3706 KIT-COMP 1/3HP 230/50 TCMSEH $170.18
40407 RETAINER $1.18
4345 RECEPTACLE PUSHIN 125/230V CE $5.95

449999972 CONTROL ICE BANK 120/60 IMPULS $232.15

449999973 CONTROL ICE BANK 230/5/6 IMPUL $286.28

449999999 TRANSFRMR 120V60H-24V 80VA PTC $41.85
4561 PROBE LEVEL CNTL VANTAGE $28.44




560002735 SWT ROCKER DPST ON / OFF 20A $5.66
560003440 MOTOR FAN 09W 230/5/6 1200RPM $48.67
560004356 OVERLD COMP 1/3AF 230V50/60H $17.66
560004357 RELAY START COMP 1/3HP $21.56
560006107 MANIFOLD BLOCK IMPULSE $56.68
750300261 3-RING 075ID 181CS 70DU NTRL $0.41
BIB.10011 BIB 2W4H TOL | BLK 6/SBU .3/8 $1,632.00
BIB.10022 BIB 2W5H TOL | BLK 10/FLO .3/8 $2,359.73
BIB.10079 BIB 3W4H TOL | BLK 12/SBU .3/8 $2,651.00
300175000 PUMP SYR GAS OPER 3/8 FLOJET $104.55
300186000 VALVE CHANGEOVER SYRUP $33.23
99110 O-RING 375ID 093CS FLOJET $0.33
1704 FITG- PUMP T-BRB 1/4 SHUR AIR $3.73
2212100 MOUNT PUMP 3 SHURFLO $23.33
300144000 PUMP SYR GAS NON-CITRUS SHURFL $82.21
3150 PUMP CARB WTR BOOST 120/60 SHU $196.74
9406801 SWITCH SOLD OUT SHURFLO 2 1/2 $49.56
9436006 PUMP SYR GAS NON CIT SHUR BLK $118.30
9436038 PUMP BIB SHUR NON CITRUS 3/8 S $102.87
9436603 PUMP BIB 3P BD W/TUBG&QCD SHUR $494.38
103200 REG PRES WTR 125PSI 3/8" WATTS $72.91
2834 REG FLOW WTR 3WAY 3/8"(2) 1/4" $144.57
500302 REG TAPRITE SEAT CAPSULE $21.26
0537 VALVE SOLND WTR CONV $188.91
0538 VALVE SOLND SYR CONV $132.75
180024000 O-RING 424D 103CS 50DU EY-P $0.39
560005136 DOOR APRON TOP LBIT $10.98
560005171 FITG-PUSH .375 X .312 DIVID $8.78
560005312 FITG- T 7/16(2) X 1/8FPT $13.69
750300153 FITG-PUSH L 3/8STEM X 1/4F $6.81
150513000 SHAFT VAL 5&7FL BARGUN $9.05
150920026 COLLAR FLAV BVAL TONIC WATER $2.27
150920034 COLLAR FLAV BVAL SODA WATER $2.19
150920036 COLLAR FLAV BVAL LEMON $1.91
150920070 COLLAR FLAV BVAL CHERRY COKE $3.09
150920080 COLLAR FLAV BVAL SPRITE $2.25
150920081 COLLAR FLAV BVAL PEPSI $2.27
150920118 COLLAR FLAV BVAL BONAQA $1.96
150920125 COLLAR FLAV BVAL COCA COLA $2.25
150920143 COLLAR FLAV BVAL COKE LIGHT $1.86
151458001 BRKT BARGUN 5FL PREMIX $15.34
151459001 RECEPTACLE DRIP 5FL BARGUN $10.98
151701888 BODY BAR VALVE ASY 5FL PREMIX $205.08
151713000 SEAL SHAFT RUBR 5&7FL BARGUN $0.41
186685000 WASHER FT 505 750 025 SS $0.56
1214 VALVE CHANGEOVER CONV $3.70
1215 SPINDLE VALVE CONV $7.84
1222 SEPARATOR SYRUP BRIX NOZZLE 10 $14.34
1235 NOZZLE CONV/BLACK W/O-RING $13.62
1239 SPRING INFINITE LIFE STND $0.82
1258 PLATE UPPER 8 RED $26.20




300954000 MANIFOLD 7B QDM2 COMPL $219.72
309632039 PLATE BUTTON 7B BIG STND $17.45
309633001 BUTTON BIG "S" STND $0.64
309633002 BUTTON BIG "W" STND $0.64
309633003 BUTTON BIG "T" STND $0.64
309633004 BUTTON BIG "C" STND $0.64
309633005 BUTTON BIG "P" STND $0.64
309633007 BUTTON BIG "L" STND $0.64
309633008 BUTTON BIG "7-UP" STND $0.64
309633010 BUTTON BIG "Q" STND $0.64
309633053 BUTTON "1/2" STND $7.05
313402000 HOLDER HOSE W/DRIP CUP $19.51
313501050 SEPARATOR SYRUP BRIX NOZZLE ST $14.16
315208053 HOSE FLEX SS STND 7B/WINE/PRE $16.45
316995000 SPINDLE CRUSH STND $6.35
317002039 NOZZLE 1/7B STND BLACK FAST FL $13.62
317007000 KIT REPAIR 7B BLACK STND $68.38
317996001 O-RING DIFFUSER $1.26
318462050 HEAD STND 7B 4C COMPL PLAIN $438.05
318462051 HEAD STND 7B 5C COMPL PLAIN $260.93
770012001 TUBG SODA STD REEL (IMPRINTED) $0.00
8008 KIT PARTS CONV REG $290.16
1220 O-RING CONV #26 $1.69
1221 NOZZLE CONV/SLIM BLK $2.45
1230 SLEEVE FLEX HOSE SLIM $3.04
1231 KEY VALVE CHANGE OVER CONV $9.21
1257 HOUSING LOWER 8/10 RED $20.60
1262 NOZZLE CONV/SLIM RED $12.89
300672000 BRKT MANIF BOTM QDM2 $12.04
300685000 LATCH CAM LH STND/CONV/SLIM $3.44
300686000 LATCH CAM RH STND/CONV/SLIM $3.44
300690000 LATCH CAM LOCK STND/CONV/SLIM $3.37
300692000 CLIP WIRE INPUT STND/CONV/SLIM $0.69
300694000 SCREW QDMII MAN CASE $0.58
300709000 COVER FLO CNTL CONV/SLIM $65.52
300721000 WEDGE HEAD MANIF STD/F/C $2.63
302000202 BUTTON BASE SLIMLINE $1.14
302001090 TUBE SODA STD/FC/SLIM $0.58
302002064 NOZZLE CONV/SLIM BLUE W/O-RING $2.45
302002068 FITG - INSERT BORE ASSY QD2 $9.10
309633201 BUTTON INSERT "S" CONV/SLIM $2.13
309633202 BUTTON INSERT "W" CONV/SLIM $2.13
309633203 BUTTON INSERT "T" CONV/SLIM $2.13
309633204 BUTTON INSERT "C" CONV/SLIM $13.67
309633205 BUTTON INSERT "P" CONV/SLIM $2.13
309633207 BUTTON INSERT "L" CONV/SLIM $2.13
309633208 BUTTON INSERT "7-UP" CONV/SLIM $6.13
309633209 BUTTON INSERT "D" CONV/SLIM $2.13
309633210 BUTTON INSERT "Q" CONV/SLIM $2.13
309633211 BUTTON INSERT "M" CONV/SLIM $2.13
309633213 BUTTON INSERT "G" CONV/SLIM $2.13




309633214 BUTTON INSERT "R" CONV/SLIM $13.83
309633232 BUTTON INSERT "OR" CONV/SLIM $2.13
309633234 BUTTON INSERT "CR" CONV/SLIM $2.13
309633235 BUTTON INSERT "DIET" CONV/SLIM $2.13
309633251 BUTTON INSERT COKE CONV/SLIM $5.12
309633252 BUTTON INSERT "PEPSI" CONV/SLI $2.13
313402051 TUBE DRIP CUP $1.80
316986003 FITG - WEDGE HEAD MANIF $0.72
316991000 O-RING STEM $0.34
316997000 O-RING SPINDLE $0.28
317000000 SCREW BUTTON PLATE 6/32 X 3/8" $0.28
317724000 FITG- INPUT 1/4 BARB $3.67
317900000 KIT TOOL O-RING (3) BARGUN $63.02
317900001 LUBE DOW #200 1/20Z TUBE LIQUI $4.89
317996000 O-RING HEAD MANIF $0.34
318305065 SCREW FLO CNTL SHUTOFF $16.60
318454000 HOLDER HOSE ONLY STANDARD $8.30
318455051 O-RING #17 FC $0.69
318467000 CUP DRIP STND/CONV/SLIM $12.25
319449060 MANIFOLD FC ANNEALED $243.76
740000104 OETCKER STEPLESS CLAMP 6.5M $0.88
770000103 SPINDLE SLIMLINE 8,10,12 & 14B $3.04
770000105 SPINDLE PREMIX 12B 14B $10.30
770000108 TAILPIECE 12B-14B BLACK $3.26
770000110 SEPARATOR SYRUP BRIX NOZZLE 10 $6.99
770000119 TUBE SYRUP CONV/FC/SLIM $1.16
770000141 FITG- COUPLING BARGUN 14B QD $0.90
770000142 PLATE BUTTON 10B BLACK $2.81
770000143 PLATE LOWER 8/10B BLACK $2.12
770000145 PLATE BUTTON 8B BLACK $2.81
770000147 VALVE CHANGEOVER $2.67
770000149 TAILPIECE BLK 8/10B CONV/SLIM $3.32
770000153 SCREW MA 06-32 KN 12 SSPA $2.86
770000154 SCREW MA 06-32 FLPH 08 SS $0.23
770000156 SPRING IMI CONV $2.12
770000317 PLATE BUTTON 8B RED $3.32
770000323 PLATE BUTTON LOWER 8/10B RED $2.28
770000360 DECAL PEPSI FNT DOM $4.19
770000361 DECAL COCA-CO FNT DOM $4.14
770000452 BUTTON INSERT SPRITE $2.13
770000453 BUTTON INSERT DIET COKE $2.13
771000185 KIT PARTS CNV SLIMLINE $176.03
771000219 HEAD BARGUN 8B CONV SLIM BLK $332.43
771000220 HEAD BARGUN 8B CONV SLIM RED $332.64
771000221 HEAD BARGUN 8B CONV SLIM BLUE $329.16
166242001 CUP-REST PLBBD STND 5.25X6.0 $21.46
167481013 DRIP-TRAY PLBBD BLACK W/DRAIN $24.80
630200121 PLATE ACCS BOSTON SUB-BASE $26.79
630900062 BULB FLUOR 15" T8 $32.77
308971000 REG FLOW MUL 3 PORT $38.10
308972000 REG FLOW MUL 4 PORT $65.00




311204000 REG FLOW MUL 2HI $39.62
311208000 REG FLOW MUL 4HI $55.95
318528000 SPRING COMPSN CONICAL SOLENOID $2.05
560006005 PISTON SYR REG CRMIC 2-4 OZ $5.99
560006006 PISTON WTR REG CRMIC 2-4 Oz $7.00
620607718 VAL LPD BASE $0.00
620609120 VALVE LEOPARD WITH BACK BLOCK $0.00
620711626 PROGRAMMER - LEOPARD - ERV $185.00
620313216 SWITCH MEMBRANE KEYPAD 1FL $131.70
620313217 SWITCH MEMBRANE KEYPAD PB 1 $131.70
620313220 SWITCH MEMBRANE KEYPAD PB 5 $131.70
620313221 SWITCH MEMBRANE KEYPAD PB 5 $74.00
620313222 SWITCH MEMBRANE KEYPAD LED $74.00
620313265 SWITCH HALL EFFECT $67.51
620315213 MODULE ASY PREMIUM ADV SYR $0.00
620316409 HARN IPAQ INTERFACE CONNECTOR $219.08
620317402 HARN IPAQ 12PIN INTERFACE CONN $0.00
620607718R P- LEOPARD BASE VALVE-BURN IN $0.00
620709343 LEVER ASY ABV $6.79
620711625 POCKET PC $0.00
620715810 DIFFUSER ASY $22.39
620715815 NOZZLE OUTER OVER MOLDED LE $50.22
629088726 KIT RETROFIT M6 FLAVOR FNT DRW $3,965.97
750500518 QUAD-RING MIXING BODY VALVE $0.00
0858 CUP BRIX PROP 5.25:1/4.75:1 CC $68.84
0859 CUP BRIX PROPORT MCDN $13.18
151689000 TOOL-WRENCH SPNR DBL $4.14
311100000 CUP BRIX PROPORT 5:1 &5.5:1 $19.28
317905077 DECAL-FL UF/SF 7UP FRONT DOM $2.72
317905081 DECAL-FL UF/SF PEPSI FRONT DOM $2.72
317905206 DECAL-FL UF/SF MIRIN FRONT INT $4.45
321471000 LUBE DOW 111 5.3 OZ TUBE $31.68
560001937 KIT TIMER 2 SEC UF-1 $109.97
560100080 LABEL FLAV CC-1LEVF S $2.64
560100104 DECAL-FL LEV BARRB FRONT DOM $1.45
560100125 DECAL-FL LEV COKEC FR/BA DOM $3.17
560100142 LABEL FLAV CC-1 LEV F DC $2.64
560100195 DECAL-FL LEV NESUN FR/BA DOM $1.15
60680002 DECAL-FL CID DTCOK FRONT DOM $42.45
60680003 DECAL-FL CID SPRIT FRONT DOM $9.45
60680006 DECAL-FL CID ICE FRONT DOM $7.68
60680201 DECAL-FL CID COCAC FRONT DOM $19.00
60680228 DECAL-FL CID FANOR FRONT DOM $0.00
630901559 COVER VAL LEV PC EASY TOUCH $166.34
166162004 VAL LANCER LEV 4.5 OZ 19-0181 $0.00
40944 VAL LEV L 3.0 $275.60
41333 VAL LEV SSL 3.0 $187.11
60278009 VAL LEV PC 3.0 $528.82
151719007 HEAD COMPENSTR ADJ $26.70
151721001 COMPENSATOR IN-LINE $92.79
310783000 O-RING 312ID 097CS 70DU NT/N $0.91




311258000 DISTRIBUTOR SYRUP $2.00
311356000 VALVE INLET & NIB $6.58

4026 GATE FLOW CNTL ASSEMBLY $31.01
163248009 COVER VAL LEV PC 5F W/OTOP-OFF $252.22
163248010 COVER VAL LEV PC 5F W/TOP-OFF $197.28
166162101 SEPARATOR SYRUP BRIX NOZZLE LE $32.21
167480042 COVER VAL SABRE PC TOP-OFF $257.89
167480043 COVER VAL SABRE PC TOP-OFF WTR $339.90
167480044 COVER VAL SABRE PC TOP-OFF SDA $339.90
167480045 COVER VAL SBR PC 5FUNAS CODED $282.12
167480046 COVER VAL SBR 5FUNAS CODED-WTR $216.89
167480047 COVER VAL SBR 5FUNAS CODE-SODA $318.83
60404016 CHUTE LEXAN ID90 CI97 $445.14
60569001 RELAY 24VAC DPST NO 1/4 QC $44.42
60667001 HANDLE LID ID90 CI197 $75.53
317020033 SPOUT VALVE WHI ATLS $12.39
319877000 FITG-SPLICER 375TUBE PLSTC $1.77

ICE MAKERS PARTS

01210 COND-COIL WTR 9.880D WC600 $601.91
161838002 BLOCK TERM 2-8 TAB 2-3 TAB $4.16
161862005 SENSOR TMP $32.22
161870002 COND-COIL AC322 $428.20
161870004 COND-COIL AIR 19.00X11.00 XTRE $504.80
161870005 COND-COIL AIR 25.00X13.251 10 $541.03
161921006 VALVE EXPAN 1/2SZ $99.91
161921007 VALVE EXPAN 1/2T $122.76
161921008 VALVE EXPAN 1T HP62 $119.39
163242002 CLAMP HOSE NYLON $0.86
163292001 BRKT DOOR LT $4.40
164510000 NUT- GROMMET SELF-TAP#8-#10 FS $0.23
164832010 LINE AST WTR-OUT IWC1230 $16.82
164832011 LINE ASY WTR-IN IWC1230 $13.89
164884002 RELAY POWER 120V 50/60HZ $35.75
164980002 VALVE WTR REG HP62 $196.95
165629005 VALVE HOT GAS & SND 322 $148.12
165629006 VALVE HOT GAS & SND 522 $157.81
165629007 VALVE HOT GAS & SND 700 $189.65
165629010 SOLENOID LIQ LN 230V/50/60HZ $104.05
165629011 SOLENOID LIQ LN 230V 50/60HZ $117.29
165629014 SOLENOID LIQ LN 120V/50/60HZ $99.54
165637008 VALVE DUMP 120V 50/60HZ $93.49
165637009 VALVE DUMP 230V 50/60HZ $94.24
165677008 SWITCH PRS ASY E50 $146.89
166092000 FITG ELBOW ISR PVC $2.84
166181011 MOTOR-ASY FAN/TERM 230/50 IAC $337.07
166181012 MOTOR-ASY FAN/TERM 230/50 IAC6 $323.67
166184001 DRYER FILTER 1&X SERIES 3XX,22 $15.24
166184002 DRYER FILTER 1&X SERIES 5XX,63 $21.14
166184003 DRYER FILTER 1&X SERIES 10/123 $23.39
166194001 GRILLE PLSTC BLK 16.8 X 19.22 $30.74

38668 COND-COIL AIR 15.25 X 19.0XTRE $348.41




40713 RELAY 208/240V 50/60HZ 25A $120.42
630000456 MOTOR-ASY FAN/TERM 120/60 AC22 $229.14
630000611 MOTOR-ASSY FAN 240/60 IAC630/8 $230.32
630000759 BASE CHASSIS W/A 30" CAB SGL $170.15
630000786 VALVE & BRKT SVC 530 RC X SERI $91.84
630000798 VALVE & BRKT SVC 1030/1230 X S $105.33
630000813 EVAP & PLATE RH 630 .001 THK $1,216.96
630000818 EVAP & PLATE 1030 LRG .001 THK $1,511.36
630000819 EVAP & PLATE 630 LRG .001 THK $1,874.17
630000822 EVAP & PLATE 530 LRG .001 THK $0.00
630000825 EVAP & PLSTC 1448 LRG .001 THK $2,096.28
630000826 EVAP & PLATE 2448 LH .001 THK $2,214.77
630000837 THERMOSTAT ASY X-SERIES $102.88
630000843 SWITCH PRS ASY 500PSI $137.48
630000851 VALVE & BRKT SVC 830 AC X SERI $76.52
630000854 VALVE & BRKT SVC 1444 X SERIES $103.59
630000870 MOTOR-ASY FAN/TERM 230/5/6 XAC $339.84
630000876 CHASSIS W/A XAC1030 CAB $135.00
630000886 VALVE & BRKT SVC 1844 X SERIES $102.44
630200935 FLANGE BULKHEAD FITG $2.24
630201017 RAIL RT 23" FNT PNL PH 1.5 $10.09
630201018 RAIL LT 25" FNT PNL PH 1.5 $16.61
630201019 RAIL LT 23" FNT PNL PH 1.5 $10.04
630201020 RAIL RT 25" FNT PNL PH 1.5 $16.61
630201021 PANEL FNT 25H X 30W PH 1.5 $102.59
630201023 PANEL FNT 23H X 22W PH 1.5 $56.03
630201024 GASKET FRAME EVAP TOP & BOTTOM $3.11
630201033 BRACE ELEC BOX 30" SINGLE $8.94
630201034 PANEL SIDE RH 322-530 $123.86
630201036 BRACE BULKHEAD 22"/30" SINGLE $4.32
630201041 COVER ELEC BOX 30" $10.88
630201042 WRAP CAB X SERIES 330/530 $244.40
630201049 COVER TOP X SERIES 330/530 $122.23
630201052 PANEL BACK 522/530 RC X SERIES $43.47
630201053 COVER TOP 22" X SERIES $88.23
630201076 PANEL SIDE RH 1030/1230 $88.79
630201109 SHROUD CDR 522/530 NEW $37.76
630201112 BRKT WTR PAN TUBE CVR X SERIES $4.08
630201113 BRKT WTR PAN DBL EVAP X SERIES $6.14
630201126 BRKT WTR PAN CAP CVR X SERVICE $6.50
630201138 WRAP CAB X SERIES 630/830 $89.12
630201139 PANEL SIDE RH 630/830 XTR $87.36
630201193 PANEL SIDE RH 300/500 E50 $263.99
630201194 COVER TOP X SERIES 1444 $99.54
630201195 PANEL FNT SS X SERIES 1444 $322.89
630201196 WRAP CAB XAC1030 $107.00
630201197 PANEL SIDE RH XAC1230 $129.64
630201260 COVER TOP 30" X SERIES LOUVERE $137.47
630201261 COVER TOP 22" X SERIES LOUVERE $188.72
630460105 SPACER CIRC BOARD $0.70
630900245 FAN 14"D 3BLD CW .38ID HUB $52.02




630900308 MOTOR FAN 60W 240/60 1500RPM $214.52
630900309 FAN BLADE AD11CW30 3/8DIS $20.27
630900720 RELAY START TECM $22.88
630900722 RELAY START TECM $27.95
630900723 RELAY START TECM $40.30
630900724 RELAY START TECM $31.72
630900725 RELAY SRT TECM $31.72
630900728 CAPAC SRT 378-440 125V $16.90
630900729 CAPAC SRT 72-88MF 250V $16.55
630900730 CAPAC SRT 72-88MF 330V $25.23
630900732 CAPAC RUN 25 MFD 370V $36.46
630900733 CAPAC RUN 15 MFD 370V $29.52
630900777 DISTRIBUTOR WATER ASY $22.21
630900779 DISTRIBUTOR WATER INNER BARB $4.58

630900780 DISTRIBUTOR WATER INNER $4.58

630900781 DEFLECTOR WATER $21.63
630900783 FITG BLKHD 3/8COMPX 3/8 MF BR $13.49
630900786 VALVE SOLENOID WATER 3GPM 120V $47.74
630900789 BOARD CONTROL PRESSURE SENSOR $385.84
630900791 VALVE SOLENOID WATER 3GPM 240V $47.03
630900796 PUMP WATER X.XGPM 240V 50/60HZ $250.85
630900797 PUMP WATER X.XGPM 115V 60HZ $229.50
630900798 SWITCH PROXIMITY $24.70
630900808 SWT ROCKER SPST ON/OFF 20A 1 $4.63

630900809 O-RING 075ID 125CS 70DU BU-N $0.23

630900827 COVER EVAP LARGE $29.67
630900828 COVER EVAP MEDIUM $32.80
630900829 COVER EVAP SMALL $19.49
630900833 PAN WATER LARGE $26.07
630900834 PAN WATER SMALL $20.07
630900845 BULKHD REAR SGL 25" $94.67
630900846 BULKHD REAR SGL 23" $36.50
630900847 BULKHD LT 25" $179.34
630900848 BULKHD LT 23" $75.92
630900849 BULKHD RT 25" $191.39
630900852 CAP FRONT PANEL 22" $22.09
630900853 CAP FRONT PANEL 30" $22.27
630900857 FRAME EVAP BOTTOM $26.01
630900858 FRAME EVAP LH LG $19.66
630900859 FRAME EVAP RH LG $18.87
630900860 FRAME EVAP RH SM $9.91

630900861 FRAME EVAP LH SM $9.91

630900862 FRAME EVAP RH MD $27.43
630900863 FRAME EVAP LH MD $33.45
630900867 PANEL SPLASH 23 X 6.5 $26.28
630900868 SENSOR PRESSURE PICK-UP $9.07

630900869 PAN WATER WRAP $29.61
630900870 FITG- PLACEHOLDER IM CURTAIN $0.89

630900874 TUBE VNL PMP TO OUT PHASE 1.5 $20.32
630900875 TUBE VNL PMP TO WTR DIS PH 1.5 $29.87
630900881 TUBE VNL PMP TO DMP VLV PH 1.5 $24.08




630900883 CAP-PLG .50INT/ .50EX 47DP NAT $0.25
630900888 PANEL SPLASH 25 X 6.5 $37.41
630900892 PLUG SNAP-IN .875 HOLE $0.24
630900899 BULKHD RT 25" MED & SM $149.32
630900903 CLIP CHRISTMAS TREE BULK PLUG $0.46
630900905 SWITCH PUSH BTN MOM/ON 10AMP $16.82
630900908 ORIFICE FLOW REDUCER X SERIES $0.87
630900919 BRKT WIRE FRMD FAN MTR 10" & 1 $11.28
630900920 FAN BLADE AD10CW40 3/8DIS $15.05
630900921 COND-COIL AIR 22.00X13.25 $1,102.89
630900924 SWT ROCKER DPST ON/OFF 20A BLA $6.72
630900925 COMP 2 1/4 230/60 TCMSEH 404A $0.00
630900928 TUBE VNL PMP TO WTR DIS 300 $17.42
630900929 TUBE VNL PMP TO WTR DIS 630/83 $29.70
630900930 TUBE VNL .875ID X 6.0 $10.92
630900934 CAP VNL 1.06 ID WHITE $1.61
630900963 GROMMET MOUNT COMP 1030/1230 $0.74
630900965 RELAY START $30.17
630900966 CAPAC SRT 145-175 330V $36.12
630900967 CAPAC RUN 45 MFD 370V $32.63
630900968 RELAY START $41.94
630900970 CAPAC SRT 21-25MF 330V $17.95
630900980 TUBE VNL PMP TO DIST 1030 X-SE $33.10
630901013 RELAY START $45.57
630901016 CAPAC RUN 45 MFD 440V $73.21
630901024 VALVE EXPAN 2T TYPE SE $145.85
630901025 RELAY SRT TECM 630E50 $62.99
630901033 COMP 1 HP 230/50 TCMSEH 404A $0.00
630901059 CAPAC RUN $48.02
630901072 COND-COIL AIR ALUM $1,468.11
630901074 SENSOR TMP WTR SS 2-PIN CONN $33.10
630901088 TUBE VNL PMP TO DIST W/THERM $32.68
630901092 MOTOR FAN 1/3 230/5/6 850RPM $281.67
630901093 FAN 20"'D 4BLD CCW ALUM 50 $173.63
630901095 VALVE EXPAN 1-1/2T 1844 $98.97
630901103 CAP FRONT PANEL 44" $33.57
630901138 COND-COIL WTR 200000BTU TURBO $471.23
630901139 COND-COIL WTR 6400BTU TURBOTEC $247.14
630901495 NUT 8-32 THIN NYLON 18-8 SS $0.13
631500053 KIT-COMP 3/4HP 120/60 TCMSEH $979.43
631500054 KIT-COMP 1/2HP 120/60 TCMSEH $920.58
631500074 KIT BINSTAT 2XX BIN DUAL UNIT $137.75
631500077 KIT AIR FILTER 16X20 330/530/6 $40.75
631500085 KIT-COMP 1HP 230/50 TCMSEH $1,185.30
631500087 KIT-COMP 1-3/4 230/50 TCMSEH $1,752.56
631500096 KIT SVC FRONT PANEL ASY 44" $383.52
631500097 KIT-COMP 3-1/4 240/6/3 COPLND $2,010.00
631500098 KIT-COMP 3-1/4 240/60 COPLND $2,280.27
631500117 KIT SVC FRONT PANEL ASY 30" $131.27
631500118 KIT SVC FRONT PANEL ASY 22" $122.76
631500119 KIT SVC EVAP FRAME ASY RH 530 $1,302.21




631500120 KIT SVC WATER DISTRIBUTOR ASY $61.76
631500121 KIT SVC EVAP FRAME ASY 330 $1,268.93
631500135 KIT SVC EVAP FRAME ASY 630/830 $1,631.24
631500136 KIT SVC FRONT PANEL ASY $256.45
631500137 KIT SVC EVAP FRAME ASY 530LRG $2,224.95
631500138 KIT SVC EVAP FRAME ASY 630/830 $1,438.12
631500139 KIT SVC EVAP FRAME ASY LH 1444 $1,659.33
631500140 KIT SVC EVAP FRAME ASY LH 1444 $1,659.19
631500144 KIT-COMP XXXX 240/60 TCMSEH $1,053.52
631500145 KIT-COMP 1-1/2 240/60 TCMSEH $1,455.19
631500146 KIT-COMP 1-3/4 208/60 TCMSEH $1,468.92
631500147 KIT-COMP XXXX 208/60 TCMSEH $1,721.23
631500148 KIT-COMP XXXX 208/60 TCMSEH $1,666.58
631500156 KIT-COMP 1/2HP 230/50 TCMSEH $658.32
638006070 TUBE VINYL CLEAR 3/8 ID X 9/FS $5.46
00122 O-RING 2.62ID 120CS $4.96
01501 EVAP ASY AF200 $705.19
01508 EVAP SHELL ASY SUB AF200 $340.22
01916 GASKET EVAP SHELL&CHU AF200 $7.55
02040 BUSHING NYLATRON GUIDE AUGER $6.80
03120 O-RING 4.5 0D $6.23
03163 BRKT MTR GEAR IM $23.50
03796 AUGER ASY 725/750 MH $965.43
04060 BRKT EVAP TOP W/A AF200 $55.61
04062 AUGER STD W/A AF200 $214.14
08043 WASHER TH 604 1.5 060 $4.58
09182 SHELL EVAP ASY 525/725-SC $404.16
09570 THERMOSTAT STORAGE BIN $72.35
161165015 CAPAC SRT 145-174 220VAF200PSC $37.51
161627001 RELAY GEARMOTOR START 120/60HZ $83.76
161921004 VALVE EXPANS AUTO ALCO $121.13
163277002 RETAINER EVAP ASY PRI 525/725 $251.18
163291001 BRKT HINGE DOOR RT B430/530-AP $14.47
163291002 BRKT HINGE DOOR LH B430/530-AP $14.47
163293001 DOOR ASY B430AP $275.27
164826003 MOTOR-ASY GEAR 230/5/6 AF2400 $1,039.65
165677005 SWITCH PRESS ASY $79.02
165677006 SWITCH PRESS ASY AF750PMHR $77.17
166220000 SWITCH ON-OFF/CIR BREAK 1.5AMP $94.81
166220001 SWITCH ON-OFF/CIR BREAK 2.0AMP $228.60
20956 DISC CENTER ASY AF2400 $83.34
21711 WASHER $4.00
21789 RESERVOIR & FLOW ASY $103.73
23210 HINGE DOOR LH B530/842/1048 $14.47
23211 HINGE DOOR RH B530/842/1048 $14.47
27185 MOTOR FAN  230/5/6 $351.89
28513 SWT ROCKER  ON/OFF $31.21
28619 GASKET DRAIN RUBR 1"IDX2.750D $3.81
41100 EVAP ASY SS 525/725/750 $1,063.38
41124 DOOR ASY B1048P-SS W/HINGES $585.78
42843 HEATER CRANKCASE 29"LD 50W230V $139.59




42900 GASKET DOOR BIN B430/530 $22.49
42901 GASKET DOOR BIN B842 $26.67
42902 GASKET DOOR BIN B1048 $24.18
43651 SCOOP GENERIC $13.78
45443 STRAP CHU LG AF/WF525 $6.71
631500045 KIT GEAR MTR FLAKERS $897.77
161456002 KIT SENSOR REPAIR NON | SERIES $50.71
161768020 ADAPTER BIN 30" B1048P & S BIN $165.53
163250011 PANEL ICE SECTION ASY 12" $131.67
163250012 PANEL ICE SECTION ASY 16" $272.41
164847022 EVAP ASY SVC KIT #1 EVAP 2448 $3,244.40
164847023 EVAP ASY SVC KIT #2 EVAP 2448 $1,910.05
164847024 EVAP ASY SVC KIT #3 EVAP 2448 $1,935.28
164847025 EVAP ASY SVC KIT #4 EVAP 2448 $3,360.90
166050014 COVER #2 EVP ASY SVC 2448 $183.76
41464 GUARD SPLASH $13.08
45500 EVAP ASY SVC KIT RCV204 $1,303.96
45537 SWITCH PROX & BRKT $89.12
00885 WASHER FT 281 625 025 SS SAE $0.00
00987 FITG T-BRB 1/2 (3) PL $3.12
08822 CUSHION CUBER/FLAKER $8.65
161079007 BOARD CIRC 50HZ MICRO PROCESS $687.81
161090000 SCREW TC 08-32 HXWS 12 SS F $0.94
161165007 CAPAC SRT 243-292 110V $19.97
161165008 CAPAC SRT 72-86MF 330V $46.95
161165009 CAPAC SRT 161-193 220V $35.30
161165010 CAPAC SRT 43-52MF 330V $37.76
161165011 CAPAC SRT 43-52MF 220V $23.00
161165013 CAPAC SRT 216-259 330V $59.63
161165014 CAPAC SRT 124-149 220V $50.59
161179001 BOLT MA 1/4-20 HX 20 SSPA $1.19
161192001 CAPAC RUN 25 MFD 440V $62.63
161192004 CAPAC RUN 30 MFD 440V $54.95
161192005 CAPAC RUN 40 MFD 330V $60.95
161192011 CAPAC RUN 50 MFD 440V 60HZ $123.92
161273000 O-RING 984ID 139CS  NTRL $0.23
161274000 O-RING 674ID 103CS  NTRL $0.31
161297004 SWT ROCKER SPDT ON/OF/ON $13.39
161297005 SWT ROCKER DPDT ON/OF/ON $13.93
161297006 SWT ROCKER SPDT DMP $13.53
161329002 SHIELD SPH FLOAT IAC522 $29.46
161456014 KIT-COMP 1/2HP 120/60 COPLND $956.46
161456015 KIT-COMP 3/4HP 120/60 COPLND $1,068.18
161456016 KIT-COMP 3 HP 240/60 COPLND $1,338.38
161456022 KIT-COMP 2 HP 240/60 COPLND $2,672.84
161456024 KIT-COMP 2-1/2 240/60 COPLND $2,340.54
161456025 KIT-COMP 3 HP 240/60 COPLND $1,455.53
161456026 KIT-COMP 3 HP 240/60 COPLND $2,598.49
161456027 KIT-COMP 2 1/4 240/60 COPLND $2,190.97
161456040 KIT-COMP 1/2HP 230/50 COPLND $862.38
161456041 KIT-COMP 3/4HP 230/50 COPLND $1,052.19




161456042 KIT-COMP 1/2HP 240/60 COPLND $959.83
161456046 KIT-COMP 2 HP 230/50 COPLND $2,273.05
161456050 KIT-COMP 2-1/2 230/50 COPLND $1,353.81
161456063 MANIFOLD ASY RH $65.00
161456066 MANIFOLD ASY RH $73.35
161456067 MANIFOLD ASY LH IAC1230 $73.35
161456074 KIT-COMP 3-1/4 240/60 COPLND $2,141.00
161456076 KIT CTL BRD 300/322 50HZ NON-I $632.44
161456077 KIT CTL BRD 500-1400 50H NON-I $691.43
161473204 SWITCH PROX ASY 36" 3PIN $32.04
161473205 SWITCH PROXIMITY ASY 2448 $43.75
161552005 DOOR ASY B530-P-SS W/O HINGES $328.04
161552006 DOOR ASY B842-SS-P W/O HINGES $478.04
161552007 DOOR ASY B1048P-SS W/O HINGES $370.41
161558000 INSULATION PUMP LEFT $1.39
161559000 INSULATION PUMP RIGHT $1.39
161661006 MANIFOLD ASY LH IAC1230 $76.98
161661012 MANIFOLD INR ASY IRC2448 RH $76.98
161661015 MANIFOLD ASY LH 2448 $80.43
161661019 MANIFOLD ASY EVAP #3 2448 $82.87
161773002 SWITCH PRESSURE CNTRL HI 450PS $52.22
161773003 SWITCH PRESSURE CNTRL 250PSIG $60.51
161862007 SENSOR TMP (SUC LN) $29.99
161862008 THERMOSTAT LEAD WIRE $4.44
161870006 COND-COIL AIR 23" X 25" CR14 $1,042.45
161879007 COVER ELEC BOX C1230 $21.31
161890003 SHROUD COND AC522 $111.12
161890007 SHROUD CDR AC1448 $81.93
161890017 SHROUD CDR 322 $66.18
161998009 RELAY START COMP COPELAND $53.32
161998010 RELAY START $102.01
161998011 RELAY START 230V 50HZ $91.05
161998015 RELAY START CMP CPL $30.46
162351001 SCREEN DRAIN WTR PAN 1400 $7.69
162351006 SCREEN WTR PAN 2448 CENTER $11.67
162964041 COMP 3/4HP 230/50 COPLND 404A $0.00
162978003 VALVE STEM ASY $27.95
163183006 BRKT MTR FAN AC322/522 $21.51
163231007 PLUG ASY HOT GAS IAC/IWC522E50 $40.92
163250009 PANEL ICE SECTION ASY 7" $94.29
163250010 PANEL ICE SECTION ASY 10" $96.20
163290025 DEFLECTOR WLD ASY 2448 RH $20.86
163292002 BRKT DOOR RT $6.56
163293003 DOOR ASY 227 W/PLS TRACK $214.00
163404003 GASKET BIN DOR 322 $21.33
164123001 CLIP MFD WTR IAC522 $2.68
164510001 RETAINER NUT 10-32 ST $1.29
164523343 EVAP ASY LH LARGE CUBE 1230 $1,287.94
164523347 EVAP ASY LH 1230 1" $1,138.69
164523348 EVAP ASY LH 1448 1" $1,974.00
164820915 BRKT PUMP WTR 630/830/1448 $27.13




164820924 CTR SUPPORT 2448 W/A $101.34
164832014 INLET ASY WATER | SERIES $15.96
164838004 COND-COIL WATER COOL $760.95
164847004 EVAP ASY SVC KIT 322 $878.51
164847005 EVAP ASY SVC KIT 522 $1,125.33
164847006 EVAP ASY RH SVC KIT 1030 $1,233.08
164847007 EVAP ASY LH SVC KIT 1030 $1,366.33
164847010 EVAP ASY LRG CUBE 522 $1,433.48
164847011 EVAP ASY LRG CUBE 630/830 $883.00
164847012 EVAP ASY SVC KIT 227 $894.29
164847015 EVAP ASY 522 1" $1,698.62
164847016 EVAP ASY 630/830 1" $2,429.87
164847019 EVAP ASY SVC KIT 630/830 $1,482.82
164847020 EVAP ASY SVC KIT RH 1448 $1,482.82
164847021 EVAP ASY SVC KIT LH 1448 $1,596.01
164854002 SPACER NY 3/8 DIA X 3/4 $1.35
164873009 PANEL FNT SS C322/522 $148.47
164873010 PANEL FNT SS AC1230 $329.66
164873011 PANEL FNT SS C830 $318.13
164873012 PANEL FNT SS IAC1448 $620.43
164873016 PANEL FNT 330/530 $169.46
164874003 COVER TOP IAC322,522 $131.24
164898011 PUMP WATER IN $375.91
164921005 BRACE CAB | SERIES $16.28
164984008 RESISTOR RMT MID PNT BYPASS $5.61
165589009 FITG CMPSN 1/4BLKHD X 3/8MF BR $7.07
165595003 FAN 11"D 5BLD CW ALUM 375HUB $28.66
165595005 FAN 06"D 5BLD CW ALUM 1"BC(4 $6.61
165595007 FAN 14"D 5BLD CW ALUM 375HUB $39.33
165629008 VALVE HOT GAS & SND 1000 $182.60
165629009 VALVE HOT GAS & SND 1400 $188.00
165629013 VALVE HOT GAS 220V50HZ IAC522 $203.72
165636018 TUBE VNL MLD PMP-PAN ASY 227 $85.73
165637017 SOLENOID 240V DUMP VAL SVC $49.57
165637018 KIT DIAPHRAGM DUMP VLV $31.53
165681001 FLOAT & VALVE ASY $40.61
165690003 BRKT FAN MTR 1448 $31.71
166038002 FILTER AIR16X20322,522,630,830 $38.90
166038003 FILTER AIR 14.25X25.12 IAC1230 $56.86
166038004 FILTER AIR 23X26 IAC1448 $77.89
166044001 GASKET DOOR $13.69
166050008 COVER EVAP ASY 227 $99.96
166050009 COVER EVAP ASY 322/330 $105.56
166050010 COVER EVAP ASY 530/1030/1230RH $95.57
166050011 COVER EVAP ASY 630/830/1448 $91.43
166050012 COVER EVAP ASY 1030/1230 LH $89.30
166050013 COVER EVAP ASY 1448 LH $93.02
166152004 MOTOR FAN 05W 230/5/6 1550RPM $93.30
166161000 VALVE CHK 3/8" $45.94
166181002 MOTOR-ASY FAN/TERM 120/60 PRIO $168.35
166181007 MOTOR-ASY FAN/TERM 230/5/6 IAC $388.62




166181009 MOTOR-ASY FAN/TERM 240/60 IAC6 $263.05
166193000 BRKT MTG VAL DUMP 522 $18.61
166195000 ORIFICE .203ID X .560D $2.67
166204003 TUBE RESV WTR LINE $7.89
166226000 VALVE HEAD PRESS OROA "I" RMT $125.98
166228001 FITG COUPLING FLOAT TO STR $9.24
166229000 VALVE AEROQUIP 3/8 $22.32
166229002 FLANGE AERO VAL 3/8 $1.40
167466000 FITG BARB 3/4 X 1/2NPT $1.90
168089001 WASHER- FLOW 0.6 GPM $8.30
168121001 SLEEVE BR .1630D X.50LG $1.35
22499 COND-COIL 9.75DIA WC-700 $460.62
25335 CAPAC SRT 230V 50HZ700 $157.82
25864 THERMOSTAT DELAY SWITCH $239.91
25872 BOX HANDY 1.50 X4.00 X2.12 $6.61
27103 BOLT MA 1/4-20 HX 16 SSPA $2.40
27602 COVER HDY BOX 2.38X4.25 $2.19
2770 CAPAC VAL .22MFD $7.43
27765 CAPAC RUN 35 MFD 330V 60HZ $40.76
38703 SENSOR ASY 18" $0.00
39144 PUMP WATER ASY AC700 $382.99
39898 FAN 20"D 4BLD CW $61.96
40284 CAPAC SRT 145 MFD 220V $50.03
40832 FITG CONN #10MALE.25TUBX.25MAL $2.79
41011 PUMP WATER ASY AC300 $374.12
41042 RELAY START COMP 230V60HZ $81.84
41044 CAPAC SRT 189 MFD 330V $65.36
42555 BRKT GEAR B-200-IDF $24.67
42693 SWITCH PROX ASY 1400-MH $36.45
42966 CLAMP HOSE 700-800 PLSTC $2.52
43707 NUT HEX 1"-14 STZI $1.84
4407 COMP 3/4HP 230/50 TCMSEH 404A $0.00
45037 BOTTOM CHU COV ASY $24.67
45525 BRACE LNR 300'S $9.18
45681 CAP-PLG 1/2"D $1.61
45880 PLUG ASY DMP VLV AC/WC-300 $7.10
6100499 BOARD CIRC $362.70
630000251 KIT-COMP 3-1/4 230/5/6 COPLND $3,350.10
630000252 PUMP KIT REPLACE WTR 227 $403.51
630000254 EVAP ASY RT 2448 LRG CUBE $2,150.00
630000255 EVAP ASY RT 2448 LRG CUBE $0.00
630000263 KIT I-SERIES PENSAR $270.85
630000308 EVAP ASY LT 2448 LRG CUBE $1,289.74
630000397 KIT-COMP 1-3/4 230/50 COPLND $2,457.67
630000398 KIT-COMP 1-3/4 240/60 COPLND $2,086.96
630000399 KIT-COMP 1-3/4 240/60 COPLND $1,200.41
630000408 THERMOSTAT KIT BIN ASY REM-NEW $148.15
630000430 PUMP KIT REPLACE WTR 227E50 $544.39
630000629 MOTOR-ASY GEAR 120/60 CARTONED $897.94
630000814 EVAP & PLATE RH 322 .001 THK $963.53
630201265 TUBE PRESSURE SENSOR PICK UP $0.00




630201570 FLANGE BULKHEAD FITG FLAT $2.84
630300251 HARN WIRE ASY 322/522 NEW $10.52
630300381 HARN WIRE ASY 208/230 $7.99
630450019 DECAL COCA-CO SID INT $0.00
630900082 VALVE AEROQUIP 1/2 $27.13
630900083 FLANGE AERO VLV 1/2 $2.79
630900282 CAPAC RUN 30 MFD 370V 60HZ $109.90
630900342 RELAY SRT GER MTR 220V-50HZ $0.00
630900399 WASHER LK 509 877 099 SS FS $0.00
630900407 THERMOSTAT BIN $94.69
630900414 SENSOR TMP SUC LINE $22.80
630900469 SWITCH PROX ASY 224 $35.19
630900479 VALVE CRO SPORLAN $192.61
630900531 MOTOR GEAR XXX 240/60 8 RPM $1,200.00
630900547 FLOAT WATER LEVEL CONTROL $140.86
630900579 FILTER 1/4TBG W/REMOVABLE SCRE $17.38
630900581 LEG-SET 6"ADJ 5/8-11THD (4) TH $102.48
630900582 LEG-SET 6"ADJ 1/2-13THD (4) TH $108.72
630900583 RELAY START GEARMTR $26.43
630900687 TUBE VNL MLD MFD CNN MICROBAN $14.62
630900688 TUBE VNL MLD WTR PAN CNN MICRO $13.22
630900689 TUBE VNL MLD 322 MICROBAN $50.41
630900690 TUBE VNL MLD 522 MICROBAN $54.17
630900691 TUBE VNL MOLDED MICROBAN $23.00
630900693 TUBE VNL MLD PMP DMP VAL MN244 $49.18
630900740 TRACK RN DOR SLI 227 MICROBAN $39.32
630900742 SHIELD WTR RH2448 CUBER MICROB $4.59
630900743 TRACK LH DOR SLI 227 MICROBAN $43.25
630900764 GASKET STORAGE BIN 2.5" $12.08
630900765 RETAINER RING 2.5" $14.02
630900812 FITG STGHT 3/8COMPX 3/8MNPT BR $3.39
630900818 TUBE VNL MOLDED MICROBAN $14.63
630900835 PAN WATER STRAIGHT $18.38
630900851 VALVE EXPAN 1/4T Z 25.5 PSIG $92.36
630900887 PANEL SPLASH 25" X 10.5 $43.38
630900912 CONTROL BOARD I-SERIES EXT SF $305.11
630900946 SWT-ASSY BIN CONTROL ELREHA 11 $90.88
630900962 TUBE EXTENSION RH 1/2 X 1.5" $2.73
630901026 CAPAC STR 176-216 330V $39.75
630901045 MOTOR GEAR 1/8 120/60 12RPM $1,210.82
630901097 RECEIVER 6.5" DIA X 23" $416.63
630901433 SCREW SM #14 HX 20 SS $0.00
631500008 KIT WTR PAN SERVICE RH $49.45
631500009 KIT SENSOR ASY | SERIES $44.14
631500022 KIT-COMP 1 HP 230/50 COPLND $2,296.52
631500026 KIT SERVICE EVAP ASY 1230 LRG $1,815.00
631500027 KIT SVC EVAP ASY 1230 LRG LH $1,839.68
631500036 KIT EVAP ASY SVC RH 1448L $1,813.36
631500037 KIT EVAP ASY SVC LH 1448L $1,864.00
631500078 KIT AIR FILTER 14.25X25.13 100 $32.72
631500080 KIT TUBE PRESSURE SENSOR PICK $12.36




631500100 KIT-COMP 1/3HP 120/60 TCMSEH $639.72
631500107 KIT SVC EVAP ASY 1230 RH 1"MED $1,020.00
631500109 KIT BINSTAT 150-2XX BIN SNGL U $143.80
01834 PLUG-BUTN 7/8HOLE $0.58
161456006 KIT RESERVOIR WATER LH 1448/24 $91.86
161456010 KIT NSF DUMP VAL 120V $116.91
161456011 KIT NSF DUMP VAL 230V $118.06
161456037 KIT CTL BRD 300, 322 $423.65
161456038 KIT CTL BRD 500,700,900,1400 $423.65
161871001 MOTOR FAN 1/2 230/6/3 1050RPM $1,348.96
161871003 MOTOR FAN 50W 120/60 XXXXXXX $198.86
161871018 MOTOR FAN 3/4 230/5/6 1700RPM $918.32
161921001 VALVE EXPAN THERMO $152.91
161921003 VALVE EXPAN THERMO 1400R22 $141.44
161998018 RELAY START CMP $111.12
162964003 KIT-COMP 1/2HP 120/60 TCMSEH $1,006.11
164883000 DRYER 1.75DIA X 3.81LG AC322 $25.23
164884004 RELAY POWER 120V 50/60H 1.5HP $57.12
165681000 FLOAT & VALVE ASY CUBER $30.34
166050001 COVER ASY EVP RT $83.83
166050002 COVER ASY EVP LT $106.68
21547 RELAY START COMP TECH 115V $145.44
21850 DRYER 2.25"DIA 4.125 LG $37.15
21924 FLOAT & VAL ASY RC152/300 $43.37
22279 CAP-PLG .485DIA $1.28
25242 MOTOR FAN 35W 120/60 XXXXXXX $247.71
27156 FLOAT & VALVE ASY LRG FLAKER $45.05
27163 KIT-COMP 2 HP 240/60 TCMSEH $1,456.59
28615 FLANGE DRAIN 1"'NPT $11.76
37440 FITG- CPLG VAL SPRLAN $302.11
39175 MOTOR FAN 50W 230/50 ORPM CW $458.56
41043 CAPAC RUN 40 MFD 440V 1400MH $68.48
41275 VALVE CHK 1/2 $181.49
41463 GUARD SPLASH 1400 $10.53
41710 FITG STGHT 3/4MPT X 3/4BRB NY $4.41
42492 CAP END MANIFOLD IM $2.77
42493 CAP END MANIFOLD IM $1.27
43056 MANIFOLD ASY RH AC300 $96.08
43057 MANIFOLD ASY LH AC1400 $257.52
43446 SWITCH PROX & BRKT $67.25
43447 SWITCH PROX & BRKT 1400 $71.76
45481 EVAP ASY SVC KIT RH 1400 1.4SQ $1,469.60
45539 KIT CURTAIN RETRO 322 $105.91
45905 EVAP ASY SVC KIT RH CUBERS $1,406.81
45922 BRKT FLOAT MTG $13.20
631500141 KIT SVC EVAP FRAME ASY LH 1230 $1,766.28
2165483 TRANSFRMR WHIRLPOOL $122.70
4387020 WIRE,GRID WHIRLPOOL $29.85
2185758 VALVE ASY WATER ACS50SL $68.94
2217220 PUMP ASY WATER ACS50SL WHIRLPO $622.93
4388375 DOOR ASY IACS50SL $509.01




JUICE PARTS

720701407 SCREW TH 08-32 PH 88 SS PA $0.39
V25106 V- "SCREW, HEX HD, 3/8-16 X 2 $0.34
V29388 V- "BUSING, 1/4 FPT X 3/8 MPT" $2.33

48433 KIT HIGH RATIO MILLE $269.34

620920005 GRAPHICS MILLY GENERIC DOM $88.03

620920006 GRAPHICS MILLY GENERIC DOM $88.28

629088436 KIT CONV 4FL SST MILLENNIUM $656.02

07226 NUT EXPANSION NYLON $0.78

31525002 O-RING 176ID 070CS 70DU BU-N $0.46

31525005 O-RING 362ID 103CS 60DU BU-N $0.41

31525018 O-RING 674ID 070CS 70DU BU-N $0.31
4035423 RELAY COMP START 24 $46.80

47013 LATCH CAM DOOR $31.82

47089001 LABEL ORANGE JUICE WOT $135.00

49269 PORTION-CONTROL ASY SLJ B $211.44
31525007 O-RING 488ID 103CS 60DU BU-N $0.51
49280101 KIT BOARD PORTION CONTROL $186.38
9570 SWITCH & COVER PL JWT NO/ $72.35
3824001 NUT JAM 7/8-14 HEX $6.81
04037 CLIP CABLE $1.40
04441 SPACER LOWER $2.47
0700201 SCREW 6-32 X 1/4 BHMS $0.18

07015002 SCREW #8 X 1 1/2" HILO $3.85
0702609 SCREW MA 08-32 BDPH 24 SS $0.20
0702901 SCREW 8/32 X 3/8 FHM $0.26
0702905 SCREW #8X3/4" FHMS $0.21
0702911 SCREW MA 08-32 FLPH 48 SS $0.49

07032001 SCREW #8-18 X 7/16 TYPE 25 HHW $2.64
0704001 SCREW 8 X 3/8 TYPE F TH $0.51
0704105 SCREW MA 08-32 TRPH 16 SS $0.21
0704106 SCREW 8-32 1/4 THMS SS $0.13

07061001 SCREW #10X3/8" TYPE F H $0.23

07061003 SCREW #10 X 3/8" TYPE F HHWF G $0.38
0706903 SCREW #10-32X1/2" TH SS $0.08
0712901 SCREW #4X5/16"LG TUPE $0.46
0720406 NUT #10-32 KEPS SS $0.30
0726802 NUT TINNERMAN FLAT 1/4 $0.91

07301029 WASHER FT 125 312 062 NYLN $0.23

11732 HARN ASY PLATFORM SLJ1000 $60.07
11733 HARN ASY PLATFORM POWER SLJ1 $52.38
11738 JUMPER WHITE TERM B COMP $0.00
11743 HARN ELEC BOX OUT SLJ1 $5.54
11823 HARN ASY DOOR Q4000 $50.64
11886 PLATFORM HARN ASY SLJT180 $0.00
11886100 JUMPER ASY PLATFORM QLT180 $23.35
11888 HARN ASY PLATFORM SLJT1000-2 $0.00

16779003 FRAME C SOLENOID NICKLE PLATE $1.54
1836701 SPRING ADAPTER SS $3.49
2124713 FITG STGHT 3/8 MF 3/8MPT BR $3.10
289521 SCREW- #8-32X3/8 TYPE "F" HHS $0.22




30018004 FITG- ELBOW BARB-1/8 X 1/4 $0.00
30041001 FITG BULKHEAD $22.78
31525003 O-RING 239ID 070CS 60DU BU-N $0.35
31525004 O-RING 364ID 070CS 60DU BU-N $0.36
31525010 O-RING 737ID 103CS 60DU BU-N $0.66
31525014 O-RING 488ID 070CS 60DU BU-N $1.04
31525020 O-RING 176ID 070CS 60DU BU-N $0.33
31525021 O-RING 1.10ID 070CS 60DU BU-N $1.63
31525030 O-RING 176ID 103CS 70DU BU-N $0.10
31525037 O-RING 739ID 070CS 70DU BU-N $0.90
31525057 O-RING 1.36ID 070CS 70DU BU-N $1.78
31525061 O-RING 1.489ID X .070 $3.10
31525062 O-RING .118ID X .276 $0.64
31525064 O-RING 488ID 070CS 70DU BU-N $7.04
31525065 O-RING 362ID 077CS 60DU NT/N $3.40
37958 LEG LEVEL 4" $10.53
38580057 GRAPHICS Q2000 QUICK INT $0.00
45003 NOZZLE MIXER O-RING ASY $11.27
45003001 NOZZLE MIXING & O-RING ASY $4.52
45004 KIT MOUNTING VOLTAGE REG $3.03
45004001 INSULATOR VOLTAGE REG $1.76
45010001 OVERLD COMP SLJ1 $14.94
45010002 RELAY COMP SLJ 115V $21.18
45010003 CAPAC $11.31
45012002 BOARD VOLTAGE REGULATOR $71.26
45012102 KIT REPLACE VOLTAGE REGULATOR $94.99
45015 SPRING VALVE SLJ $7.96
45016001 MOTOR- PUMP 28V CCLPE 300 RPM $86.36
45018001 BOARD PB SLJ S/N 416 $19.72
45026 ADAPTER BOTTLE ASY $136.72
45026100 KIT 0-RING REPLACEMENT QUANTUM $28.04
45027001 BUSHING VALVE NOZZLE SLJ $2.99
45028 TRANSFRMR 115V/24V SLJ $92.85
45028001 TRANSFRMR 240V/60V $129.32
45032 HOLDER FLAVOR LABEL SLJ $7.36
45037001 TUBG NORPRENE 8" LG $6.70
45041 MANIFOLD ASY WATER SLJ $537.33
45043 PIN SENSOR "SOLD OUT" SLJ $2.67
45045 BLOCK VALVE ASY SLJ $175.48
45046 LATCH #2 MEDIUM SS $1.80
45047 GUIDE LATCH #2 MED $0.78
45048 WASHER LATCH #2 MED $2.76
45049 RIVET LATCH 1/8 DIA SLJ $4.41
45050 BLOCK ASY MTG PUMP & MOTOR $51.73
45051 STUD LATCH #10-32 THRD SLJ $5.81
45054001 OVERLD COMP SLJ 220V $15.82
45054001 OVERLD COMP SLJ 220V $15.82
45054002 RELAY COMP SLJ 220V $16.31
111353000 CLAMP OETR 5710PEN STPLS #14.5 $0.37
16701009 CLAMP OETR 6690PEN STPLS #17.0 $0.67
300200000 CLAMP OETR 5240PEN STPLS #13.3 $0.26




300551000 CLAMP OETR 5510PEN STPLS #14.0 $0.37
309852000 CLAMP OETR 6690PEN STPLS #17.0 $0.26
309853000 CLAMP OETR 6180PEN STPLS #15.7 $0.26
309972000 CLAMP OETR 3150PEN STPLS #8.0 $0.44
311527000 CLAMP OETR 3440PEN STPLS #8.7 $0.29
311908000 CLAMP OETR 4450PEN STPLS #11.3 $0.37
311933000 CLAMP OETR 2760PEN STPLS #7.0 $0.37
312926000 CLAMP OETR 4840PEN STPLS #12.3 $0.37
309854000 CLAMP OETR 4130PEN STPLS #10.5 $0.26
45054003 CAPAC $31.41
45056 SUPPORT PC BOARD SLJ $0.37
45060001 ADAPTER CADDY TOP MOLDED $13.25
45060002 ADAPTER CADDY RUN & FLUSH $27.16
45060003 ADAPTER CADDY MOLDED SL $11.66
45061001 KIT FLAV-STRIP SLJ (JUICES: OR $34.48
45068003 LINE SUCT ASY LH $67.58
45073 DRYER 1.0IN3 DUAL 254ID R134A $19.51
45074001 BOOT MOTOR MERKEL KORFF $6.30
45076 PIN ACTUATOR $1.46
45078 PUMP ROLLER SLJ $154.50
45091001 VALVE WATER SOLENOID 24V $97.44
45098 KIT PUMP TUBE REPLACEMENT $16.48
45115 PLATFORM ASY SLJ1 MCD $1,905.18
45117 SHELF CONCENTRATE SLJ2 $42.23
45119 GASKET LINER SLJ1000 $15.88
45122 BLOCK VALVE ASY SLJ1 $185.98
45123 MIXER STATIC SLJ $5.07
45125 PANEL BACK SLJ 1000 $94.99
45129001 DRIP-TRAY SLJ1/-2 QRT 180 $45.78
45129100 DRIP-TRAY Q1-2 W/DRAIN $45.47
45138 REG VOLTAGE ASY S $171.66
45138001 REG VOLTAGE ASY QLT-1 W/SLDOUT $205.99
45139 PLATFORM HARN ASY SLJ $19.18
45150100 SHROUD FAN MTR BRKT SLJ $30.71
45152 BRKT ASY DRIP-TRAY SL $56.14
45152100 BRKT ASY DRIP-TRAY SLJ-1 $36.30
45155001 CUP-REST SLJ1000 STND 9.1X4.0 $39.69
45155002 CUP-REST Q1000 STND 8.8X4.0 $37.21
45158 SHELF MCDONALDS SLJ1000 $53.45
45159001 PANEL SPLASH DRAIN Q1-2 $26.33
45162 BRKT VOLTAGE REQULATOR SLJ1 $17.80
45163002 MOTOR-ASY FAN & COND 230/5/6 S $282.05
45164 BRKT FLAVOR STRIP $7.84
45167 LINER INNER FOAMED ASY SLJ1000 $440.33
45168 BLADE FAN SLJ1000 $9.62
45173 TUBE ASY SUCTION SLJ10 $32.60
45175001 MOTOR-ASY FAN 9W 120/60 SLJ $176.89
45175002 MOTOR-ASY FAN 9W 230/5/6 SLJ $168.94
45177 HOLDER POPPET SEAL SLJ $5.58
45185 PUMP & MOTOR ASY 30ROL $452.04
45186 SPRING .360" DIA X .029 W $1.82




45189 POPPET SLJ $0.87
45190 TANK ASY 1.25 GL $163.40
45192 VALVE BODY MIXING MOLDED $4.49
45193 VALVE BODY WATER MOLDED $6.90
45197 HYDROMETER ORANGE JUICE $44.35
45199 PANEL TOP SLJ $88.12
45215001 PLATFORM ASY SLJ-2 EXPO $1,531.34
45224004 COVER MERCHNDSR Q2000 HNDL $71.93
45224005 COVER MERCHNDSR Q2000 ILL HNDL $75.53
45238 REG VOLTAGE ASY $322.72
45238001 REG VOLTAGE REGULATOR ASY W/SO $358.21
45245 TANK ASY 3.0 GALLON SLJ $178.26
45247 TANK CONCENTRATE 3 GALLON $79.56
45247001 LID TANK 3 GALLON $29.65
45255003 CUP-REST SLJ1000 STND 8.8X4.7 $31.54
45260 TANK CONCENTRATE 1.5 GAL $69.81
45260001 LID TANK 1.5 GALLON $36.07
45273 TUBE ASY DISCHARGE SLJ-2 $37.86
45283 BUSHING RUBBER W/NUT INSERT $0.48
45284 PANEL CLEAR MERCHNDSR $84.05
45313 LABEL CLEAN SLJ $5.77
45315 PLATFORM ASY SLJ3 JUICE $2,382.67
45315005 PLATFORM ASY SLJ3 EXPT NO KNBS $0.00
45317 SHELF SL3 JUICE DISPENSER $63.25
45320 GASKET DOOR MAG Q3000 $31.91
45345003 COVER PLATFORM Q3 $33.92
45345004 COVER PLATFORM Q2 Q4 $35.86
45354 DOOR ASY BACK MCD $318.15
45364001 CHAMBER MIXING ASY QLT180 DAY $137.33
45371 FITG TUBE TO HOSE BARB DRAI $0.00
45373010 SOLENOID VALVE REFRIG 120/60 $82.58
45373020 SOLENOID VALVE REFRIG 220/50 $72.63
45373021 SOLENOID COIL VALVE 230/50 $79.00
45377004 COVER MERCHNDSR Q3000 HANDLE $89.73
45377005 COVER MERCHNDSR Q3000 ILL HAND $67.35
45382 GASKET DOOR MTG STRIP TO $12.53
45384 PANEL CLEAR MERCHNDSR Q3000 $60.69
45391001 ADAPTER CADDY SUPPORT SLJ $16.80
45391002 ADAPTER CADDY SUPPORT SLJ $33.12
45394005 COVER ASY MERCHNDSR 3PB HANDLE $334.91
45398 BEZEL PORTION CONTROL $2.13
45417 SHELF SLJ2000-4 $101.55
45419 GASKET LINER SLJ2000 $44.04
45425 PANEL BACK SLJ2000 $171.66
45430100 DRIP-TRAY Q4 $49.79
45431 GASKET DOOR MAG Q4000 $48.32
45432 SWITCH ROCKER SEALED $2.18
45433 HOLDER FLOURESCENT LAMP $1.60
45435 LOCK & KEYS DOOR QUANTUM #BTO06 $8.44
45435001 KEY LOCK DOOR VERTICAL $1.82
45436 PLATE DOOR SUPPORT $6.01




45455003 CUP-REST Q4000 STND 17.1X4.8 $75.10
45455004 CUP-REST QLT1/2 STND 17.1X4.8 $58.36
45472005 COVER MERCHNDSR Q4000 ILL HAND $93.84
45485001 COVER DOOR MCDONALDS $64.09
45506100 VALVE BLOCK QLT180 $9.11
45508100 VALVE BLOCK ASY QLT180 $149.03
45508200 VALVE BLOCK ASY QLT GENERIC $98.62
45509100 PLATFORM ASY QLT180-1 $816.42
45511100 TUBE GUIDE QLT180 $4.70
45512100 BODY PUMP ASY QLT180 $142.44
45514100 PUMP ASY QLT180 $390.24
45515100 BLOCK PUMP SLIDE QLT180 $5.62
45516 PLATFORM QLT180 $22.24
45521100 CHAMBER MIXING ASY QLT-180 $25.27
45522100 CHAMBER MIXING QLT-180 $3.69
45523100 SLIDE FSTNG BLOCK ASY QLT $13.16
45529 NUT ROTOR #8-32 $0.80
45531 SPRING .36 OD X .032 SS $0.41
45532 PIN LOCKING QLT180 $13.05
45536100 PLATE SLIDE STOP QLT180 $2.05
45538100 SHELF QLT180-1 $112.07
45548200 PLATFORM ASY 2FL QLT GENERIC $0.00
45551 HOLDER POUCH QLT180-1 $105.60
45553 PUMP SLIDE ASY QLT180 $46.58
45559 REG VOLTAGE BOARD W/SOLDPUT $146.72
45579200 PLATFORM ASY 3FLVR QLT GENERC $0.00
45586 WASHER- HOLD DOWN HOOK $0.64
45587 WASHER- HOLD DOWN EARS $1.35
45609 TAPE BEZEL SLJ $0.23
45627 SHIM BEZEL SLJ SS $0.38
45654100 LINER INNER ASY FOAM DRAIN SL3 $770.23
45659 PANEL TOP WELDMNT SLJ140 $94.99
45662 GASKET LINER SLJ1400-3 $37.82
45674 REG VOLTAGE ASSY SL $461.20
45677003 CUP-REST Q3000 STND 12.0X4.8 $55.69
45678100 DRIP-TRAY Q3 $49.06
45723001 TUBE ASY PLATFORM QLT180 $60.28
45727 BODY PUMP ASY WILSHIRE $14.55
45728001 ROTOR ASY THICKWALL $54.59
45743 BEARING PUMP SHAFT PLSTC SLJ $4.23
46306 THERMOSTAT CONCENTRATE $55.39
46307 THERMOSTAT WATER $62.81
46308 RELAY START 115V $47.73
463081 RELAY START 220V $73.24
463571 TANK BALL CHECK $9.47
46366 BUSHING HINGE $0.56
46368 CATCH BULLET QTM/QLT $2.35
46546 ARM ASY $40.52
47011 DIAPH W/HOLE-VALVE S $6.11
47013A LATCH DOOR $26.70
47013B CAM DOOR LATCH MDJ $3.24




47033 SPACER DOOR LATCH SLJ $5.20
470725 PLUG-BUTN 7/16HOLE FLUSH HEAD $0.10
47121004 MAGNET DOOR SEAL 18.50" $2.81
47121005 MAGNET DOOR SEAL 10.30" $2.56
47121006 MAGNET DOOR SEAL 14.30" $2.78
48255 SCREW ADJ FFV 304 SS $6.45
48258005 SPRING SYRUP SLJ $1.37
48520001 SOLENOID 24V DC SLJ $10.33
48808300 NOZZLE MIXING MILK W/O O-RING $53.08
48978 FLOW-CNTL BONNET ASY $10.71
48979103 SLEEVE & PISTON ASY WATER CERA $24.24
49034 TUBE TYGON 3/8ID X 5/8 $9.04
49055 FITG ELBOW COUPLING 3/8ID BA $48.58
49056 COUPLING BODY 3/8ID BARB $69.28
49128001 LABEL ORANGE JUICE MCD $43.60
49128004 DECAL QLT  MINUTEM ENT INT $5.87
49230 OVERLAY ASY PUSH BUTTON $34.46
49231 OVERLAY PORTION CONTROL $53.12
49241 BEZEL PB PC $2.51
49241001 ADHES BEZEL PB PC $1.86
49280001 PORTION-CNTL BOARD QTM/SLJ/QLT $149.86
49281 BRKT PORTION CONTROL $17.74
49282 SPACER PORTION CONTROL $1.02
49612 PORT VALVE WATER $3.90
59328001 FUSE 6.25 AMP 250V SLJ $2.16
60067086 SCREW #2-56/7/16" PH SS $0.88
60600002 BALLAST 24V(3) FBTOR(1) $156.15
620718408 LATCH DOOR ASY $0.00
71822081 WASHER HOLD DOWN $1.74
720300401 ROTOR ASY SEALED QLT THICKW $84.40
720300402 ROTOR ASY QLT THINWALL $80.74
720302402 FILTER AIR COND COKE/MCD ONLY $203.31
720500795 TRANSFRMR 120V 60HZ 26V@4@ 24V $86.97
720530700 MIXER ASY MILK W/O-RING $144.56
720531817 O-RING 812ID 125CS 60DU BU-N $0.35
720531819 CHAMBER MIXING QLT180 CLEAR WI $7.86
720532202 CHAMBER MIXING QLT180 CLEAR $14.38
720720497 COUPLING ELBOW 3/8 ID HFC35 $51.48
720720498 COUPLING IN-LINE 3/8 ID HFC35 $45.78
7215323 ARMATURE $8.03
7229192 GASKET ADAPTER BOTTLE $12.24
7233023 SWITCH SAFETY $37.54
7245037 TUBG NORPRENE 1/4" $11.32
7245054 COMP 230/50 TCMSEH 134A $381.48
7245120 GASKET DOOR MAG Q1000/Q2000 $25.96
7245134 HARN ASY PUMP SLJ1000 $14.79
7245174 MANIFOLD ASY WATER SLJ10 $171.12
7245246 FITG ADAPTER TANK SLJ $36.16
7245399 BEZEL PUSH BUTTON $1.63
7245443 PANEL RH SIDE SLJ $142.18
7245444 PANEL SIDE LH SLJ $142.18




7245480 LENS CLEAR MERCH Q4000 $27.40
7245509 PLATFORM ASY QLT-180-MM $0.00
7245526 SHAFT PUMP QLT180 $22.89
7245527 RING RETN $2.40
7245550 COVER ASY MCDONALD'S SS $259.40
7245552 HOLDER POUCH 2.5L $67.58
7245554 WASHER NYLON 6/ 6 $0.12
7245624 TUBE GUIDE ASY QLT180 $25.34
7245665 PANEL ACCS BACK SLJ140 $120.16
7245687 SHELF CONCENTRATE QLT-2 GENERI $0.00
7245699 FLOW-CNTL BONNET ASY SLJ $19.20
7245779 RIVET PUSH .236DIA X .118/.197 $0.59
7245780 FRAME DOOR GASKET MTG SLJ1000 $16.98
7245781 FRAME DOOR GASKET MTG Q3000 $22.11
7245782 FRAME DOOR GASKET MTG Q4000 $27.50
7245837 KIT DUMP TANK QLT MM $317.00
729011013 KIT NOZZLE BUSHING REPLACEMENT $9.05
729011014 KIT VALVE SANITIZING $0.00
96561 PLATE DOOR SUPPORT BDJ/S $20.94
9660910 SOLENOID VALVE 11 REFRIG $244.68
9660920 SOLENOID VALVE 24 REFRIG $119.94
314072000 MOTOR AGIT 15W 120/60 1550RPM $195.02
317781000 BUSHING SPLIT 410D COMP $0.68
350106 OVERLD COMP MILLE 230/50 $13.91
350148 RELAY 1/3HP 120/60 R12/134A $19.57
39725003 SWITCH ROCKER 20A SNAPIN INT'L $14.31
440000905 INVERTER LAMP 24V CE $80.48
48004 MOTOR FAN 09W 120/60 1550RPM $91.42
48013 MOTOR FAN 09W 230/5/6 1550RPM $86.93
48195006 CLAMP HOSE .470ID $0.51
48256 BONNET FLOW CONTROL $2.35
560003704 MOTOR-ASY FAN & COND 230/5/6 O $240.95
560003860 PROBE ICE BANK GCC $27.47
620042708 AGITATOR MOTOR ASY 115V/60HZ M $232.99
620042709 AGITATOR MOTOR ASY 230V 50/60H $0.00
620048117 PANEL SIDE LH BLACK MILLY $73.24
620048118 PANEL SIDE RH BLACK MILLY $73.24
620048119 PANEL SIDE LH INNER BLACK MILL $7.10
620048120 PANEL SIDE RH INNER BLACK MILL $7.10
620048122 PANEL BACK BLACK MILY 6V $53.10
620048132 PANEL TOUCH ASY 6V PC MILLENNI $1,081.47
620050653 PANEL SPLASH 6V MILLENNIUM Il $60.88
620050654 PANEL SPLASH 4V MILLENNIUM Il $35.61
620052729 PANEL SPLASH 6FL SS MIL $52.88
620313361 HARN MERCHNDSR MILLENNIUM $52.82
620517015 LID BLACK MILLY 4V $31.93
620517016 LID BLACK MILLY 6V $29.50
620517117 DRIP-TRAY BLACK MILLY 6V $18.15
620517817 PANEL VAL 06FL $180.19
620517902 EXTENSION LEG $14.44
620518208 LENS CLEAR MILLY 4V 10.48"X $15.99




620518209 LENS CLEAR MILLY  14.50"X $15.53
620519201 MERCHNDSR BLACK MILLY 4V $23.34
620519202 MERCHNDSR BLACK MILLY $29.21
620708526 CUP-REST MILLY STND 17.7X5.5 $26.10
620708527 CUP-REST MILLY STND 13.8X5.5 $33.56
620710207 INSERT CLADDING RH SS MILLENNI $72.22
620710208 INSERT CLADDING LH SS MILLENNI $59.40
720200700 PANEL SPLASH 4VMILLY $73.88
750100254 BULB FLUOR 6W 8.34IN OLY S&M F $16.35
750100265 BAFFLE ANTI SPILL OLY S $8.62
750100402 BRKT ICE BANK PROBE MTG $6.05
750300019 BRKT AGIT MTR OLY $9.04
750300061 TUBE-U PLAIN WATER OPT 3/8"OD $4.50
750300093 DRYER DUAL 254ID R134A $4.23
750300103 BASE OLY L $80.65
750300151 FITG-PUSHT3/8(3) PLSTC $7.55
750300230 SCREW SNAP IN CAPTIVE 6-32 $9.62
750300231 NUT-TINNERMAN 8-32 TYP U SR $0.83
750300233 BOOT ROCKER SWITCH $5.55
750300252 REFLECTOR LAMP OLY L $18.07
750300254 BULB FLUOR 8W 11.34IN OLY L FM $16.24
750300258 DRIVE FASTNER $0.60
84353001 SWITCH ASY PUSH BUTTON PRV $53.22
38580033 GRAPHICS Q1/2000 GENERIC DOM $65.40
38580034 GRAPHICS Q3000 GENERIC DOM $86.48
38580035 GRAPHICS Q4000 GENERIC DOM $111.72
38580064 GRAPHICS Q3000 VINTAGE DOM $76.96
38580065 GRAPHICS Q4000 VINTAGE DOM $88.00
45082103 KIT RETRO PC ASY Q-3 W/BEZEL $525.29
45136 LABEL IDENT Q1 & Q2 GENERIC $23.40
45297004 KIT RTR ILL MRCH Q2 PB HNDL DR $732.13
45575 KIT CONV SLJ 1/QLT180 1-MCD 11 $1,199.12
45595 SEPARATOR JUICE ASY SLJ/QTM/MI $222.22
45614 KIT CONV SS WATER COIL SLJ $1,011.32
45782104 KIT PB ASY Q-4 W/BEZEL $269.04
720901318 GRAPHICS Q4000 MCD BRAZIL $0.00
7229602 FITG CONN DRAIN $25.99
31314 BULB FLUOR QTM/MILLE/QST/CTJ28 $14.05
440000901 CONTROL ICE BANK 230V GLOBA $179.84
440000902 CONTROL ICE BANK 120/60 QST $0.00
440000904 PROBE ICE BANK GCC $22.87
620047512 GUARD FAN EBM 9000 & 4000 SERI $0.00
620607919 COMP 1/10 120/60 134A $0.00
620700101 RIVET POP 125D 188-250 AL BLAC $0.27
720200206 FITG INSRT 3/8"'NPT PP $27.44
720201440 BRKT CATCH STRIKE PLATE QST-NT $12.79
720201510 SHELF CABINET QST2 QST-NT $86.77
720202009 CATCH DOOR W/SWITCH QST-NT (SE $42.11
720202010 CAP 400 SERIES QST $1.00
720202312 HOLDER FLOURESCENT LAMP 600 QS $2.02
720202415 CABINET CATCH REPLACEMENT QST $3.27




720301304 BOX ELEC ASY QST2 SLJ $496.68
720301743 HARN ASY E BOX RED BOTM 4 FL Q $144.19
720301744 HARN ASY E BOX RED BOTM 2FL QS $81.23
720301747 HARN ASY E-BOX BOTM QST4 SVC $199.97
720401106 BOTTLE REFILLABLE QST $44.45
720401313 MERCHNDSR ASY GENERIC BLACK QS $519.23
720401318 MERCHNDSR ASY FLORIDA'S NATURA $324.80
720401319 MERCHNDSR ASY GENERIC BLACK QS $519.15
720401342 MERCHNDSR ASY MCD MEXICO 4000 $0.00
720401365 MERCHNDSR ASY, QST4 CLEAR, MCD $0.00
720401370 MERCHANDISER ASY QST-NT 2000 K $170.23
720401375 MERCHNDSR ASY QUEST 4FL, MCD V $244.58
720401801 PLATFORM ASY M/F QST 4 NT $1,303.85
720500012 WASHER LK 641 1.0 156 STGA $0.00
720500014 CUP-REST W/O LOC QST4 STND $64.70
720500033 CHAMBER MIXING QST4 $4.07
720500102 DRIP-TRAY QST2 $91.03
720500104 DRIP-TRAY QUEST 4000 $66.49
720500202 PANEL BACK QST2 $138.43
720500204 PANEL BACK QUEST 4000 $149.92
720500301 PANEL SIDE RH QST $137.33
720500302 PANEL SIDE LH QST $137.33
720500402 PANEL TOP QST2 $103.83
720500404 PANEL TOP QST4 $108.72
720500502 SPLASHGUARD PANEL QST2 $42.79
720500504 PANEL SPLASH QST4 $40.38
720500710 GASKET MOLDED 4FLV QUEST $38.01
720500713 SWITCH CUTOUT 10 A MOM E6900A $9.76
720500768 HINGE PIN QUEST $0.46
720500787 CATCH DOOR QUEST $16.65
720500794 TRANSFRMR 230V/24V QST2 $309.29
720500799 HARN WIRE COMP $27.67
720500800 HARN WIRE TO POWER CORD $59.51
720500802 CONN ELEC HGS 4 PIN AMP643813- $0.44
720502800 PUMP-ASY AGIT 115V QST $490.95
720502803 PUMP-ASY AGIT 230V $389.72
720503206 OVERLD COMP 1/10HP 120V60HZ $8.24
720503207 RELAY QST 115V $11.20
720503208 CAPAC SRT 161-193 115V 50/60HZ $14.47
720504304 BOX ELEC ASY DC QUEST 4000 $669.48
720504504 REG VOLTAGE ASY QST4 SLJ $194.55
720504701 BRKT DRIP-TRAY LH QUEST $19.45
720504702 BRKT DRIP TRAY RH QUEST $19.45
720506104 FAN-ASSY 115/60/50 4.7X4.7X1.0 $88.40
720506105 FAN-ASSY 230/50/60 4.7X4.7X1.0 $110.09
720506202 COIL WATER QST2 $257.77
720506204 COIL WTR QUEST 4000 $133.48
720507103 MIXER STATIC QST $2.58
720508502 BEZEL PB RED QUEST $3.71
720508505 BEZEL PC RED QUEST $10.73
720508601 OVERLAY PUSH BUTTON QUEST 4000 $50.06




720508602 OVERLAY PORTION CONTROL QUEST $10.32
720508704 DOOR ASY LOWER PB QST4 $325.64
720508705 DOOR ASY LOWER PC QST4 $835.42
720508801 BOARD PUSH BUTTON QST2/4000 $13.73
720508802 BOARD PORTION CONTROL QUEST $76.29
720508902 PANEL LOWER DOOR QST2 $182.09
720508904 PANEL LOWER DOOR QUEST 4000 $76.67
720509104 TUBE ASY WATER VALVE INLET $71.83
720509105 TUBE ASY WATER RINSE INLET $21.77
720509206 FITG-PUSH ELBOW 3/8 X 1/2 JG $9.42
720509208 FITG-PUSH CONN 3/8 X 3/8 NPTF $5.75
720509227 FITG-PUSH 3/8 TUBE X 3/8 MFL $7.32
720509701 FITG- BULKHEAD WATER QUEST $18.95
720510101 BOTTLE QUEST GENERIC $75.72
720511201 KIT FLAV STRIP QUEST #1 $24.21
720511301 NOZZLE LOCK TAB QUEST $1.69
720511401 PANEL LOWER CABINET QUEST 4000 $79.08
720511606 BOARD BALLAST QUEST $78.47
720520501 CUP-REST W/O LOC QUEST STND $38.91
720520601 GASKET MOLDED DOOR QST2 $36.68
720521000 BOX ELEC ASY DC QST2 QLT $506.23
720521901 PANEL LIGHT ASY QST2 $356.33
720522100 PLATFORM ASY QLT QST 2000 $2,186.18
720522400 DOOR ASY ILLUM PB QST2 $1,103.73
720522501 DOOR ASY LOWER PB QST2 $245.05
720522502 DOOR ASY LOWER PC QST2 $357.05
720532102 DOOR PLATFORM SLJ QST2 N-T $84.79
720532112 DOOR LATCH REPLACEMENT QST $1.83
720601323 TUBE SPLITTER ASY $86.10
720601502 HANDLE DOOR $27.25
720701701 NOZZLE STATIC MIXER ASY QST $15.90
720702704 PIN- DOOR LATCH QST-NT $11.61
720703105 NOZZLE EXTENDED MIXING QST $5.13
720703301 GROMMET RUBBER PLATFORM QST SL $20.76
720703502 GASKET FOAM STRIP LOWER DOOR $3.49
720703901 LOCK & KEY DOOR QST $11.44
720704004 CATCH CABINET FEMALE $9.15
720704005 LATCH DOOR MALE $9.73

7245688 SHELF CONCENTRATE QLT3 GENERIC $0.00
729011002 KIT-COMP 1/10H 230/50 TCMSEH $323.00
729011103 KIT RETRO MERCH W/HANDLE Q4 PB $550.41
729011105 KIT COMPRESSOR 120/60 SERVICE $353.14
729011106 KIT COMPRESSOR 230/50 SERVICE $346.32
729011152 KIT CUP LOCATOR QST2 $113.76
729011175 KIT BOTTLE ASY QST $427.50
729011178 KIT WIRE HARNESS AND HINGE, SV $107.95
729011179 KIT - WIRE HARNESS AND HINGE - $109.65
850000541 FITG-PUSH 5/16-3/8 $2.77

WILSHIRE BEVERAGES SPARE
PARTS

111337000 FITG STGHT 3/8MPT X 3/8 MF BR $1.20




1151 FITG L-STD 3/8NPT X STREET BR $8.20
1153 KIT CHK VALVE VENTED LRC $107.58
197359000 CONTROL LIQUID LEVEL 230V $247.41
2991 VALVE CHK DUAL 3/8MPT X 5/8-18 $37.75
3035 PROBE LEVEL CNTL LRVA $27.79
310150000 KIT REG WTR PRESS $238.42
311367000 REG PRESS WTR 50PSI 240GPH $75.38
311656000 KIT REPAIR REG WATTS RK-26-A $22.49
311764001 VALVE CHK SNGLE STN STL $23.46
311765001 VALVE CHK DUAL SS $51.56
312196000 SPRING BALL CHECK VAL $0.45
312947000 STEM ASSY R-VAL BLUE $12.09
314015000 CONTROL LIQUID LEVEL LR CARB $184.87
315183000 MOTOR PUMP 1/3 120/60 1725RPM $212.64
317746000 LINK BALANCE CARB $7.84
317747000 BRKT TANK PIVOT $13.73
317752000 SPRING CARBONATOR BALANCED $0.91
317771000 SWITCH LEVEL CNTL 11A125V SPNC $7.26
317772000 PIN LINK $0.31
317989000 THERMOSTAT CNTL 105'-135'F $105.52
318034000 TANK WELD CARB BAL $436.00
318037000 INSULATION SWITCH MICRO $1.14
318039000 CLIP THERMO $1.49
318040020 THERMOSTAT CNTL 105'-135'F 25A $93.85
318123000 BRKT SWITCH ACTUATOR $6.21
318362000 VALVE RELIEF YEL CARBONATOR $9.86
318827000 VALVE SOLND WTR 120V $146.74
319453000 STRAINRELIEF 875H 18-4/14-2SJT $0.42
320626000 MOTOR PUMP 1/4 230/5/6 1725RPM $510.00
320667000 VALVE SOLND WTR 240V60/208V50 $129.41
320669000 SWITCH PRESS 5-19PSI 240V SPDT $74.39
3215 SOCKET TERM 093 MOLEX 02091104 $0.79
321811000 NUT HEX 10-32 STZI KEPS $0.10
3253 VALVE CHK DUAL 3/8MPT X 7/16ML $32.91
3829 COVER CABINET CARB VA $35.11
3957 TUBE CONN 375 FLEX 14+ 5/8 ML $27.85
396115010 FOOT RUBR 1"D 5/8"HI 1/2D HOLE $2.83
4280 CABINET W/A BALANCE CARB $140.77
449999969 MOTOR PUMP 1/4 230/5/6 RIGI $248.44
47936 TANK ACCUM PRES BOOST $178.88
47936001 TANK ACCUM PRESSURE $739.24
48519100 VALVE RELIEF ASSY $88.12
560000481 SPRING BALL CHECK SST 316 $0.52
560000782 LABEL WARNNG UNPLUG CE $3.17
560004687 PROBE LEVEL CNTL QUAD $33.02
60003011 CONN ROMEX 3/8" UL & CSA $0.79
60065020 FITG STGHT 1/4MPT X (2) SS $7.85
60204001 CAP-PLG 5/8-18THD RED CD-6A $0.40
65259 KIT VALVE CHK SNGL SERVICE $36.73
65267 KIT VALVE CHK DBLE SERVICE $100.71
66008 KIT RELIEF VALVE 180PS1 $69.72




710200010 WIRE ASY ELECTRODE SANTA FE $7.82
710660000 PROBE ASSY INSRT MOLD SANTA FE $35.87
711200001 KIT SERVICE PROBE D80+/OMEGA+ $110.08
711200002 KIT SERVICE PROBE MOLDED CONN $127.52
711200003 KIT SERVICE PROBE 3/16 QC TABS $123.16
18061 PORT VALVE WTR SEV $0.62
20626 BONNET SEV $4.76
20632000 LEVER SEV $7.27
20640 SPRING COMPRESSION $2.84
20640003 SPRING WATER SEV $2.69
20904 INSERT GNRL PURPOSE $5.93
22396000 NOZZLE VAL SEV WHITE $1.83
22396004 NOZZLE VAL SEV SBR $5.15
22660001C SLEEVE & PISTON ASY SEV SYRUP $45.13
23264C SLEEVE & PISTON ASY SEV WATER $45.13
33793 SEAL .961D 1.05D .190T SIL-RUB $1.39
34047 WASHER CONTOURED FLOW SEV $2.53
36758 SPRING LVR SS SEV $3.11
38650008 KIT SYR SEPARATOR SEV $36.47
39223003 O-RING SPEC .500 $0.89
60288001 VALVE PORT WATER SEV $5.18
71810133 O-RING 681ID 073CS 70DU BU-N $0.58
71820623 BODY VALVE SEV $30.70
71822584 BUSHING .297/.293DIA DELRIN150 $1.59
85164002 CAP QUALITY SEAL GRAY $0.96
48288009C VAL FFV PUSHBTN 1.5-3 W/BLOCK $153.36
48288017C VAL FFV LEVER 1.5-3 W/BLOCK $151.26
620608729 VAL FFV LEVER LOW FLOW $296.40
83377001C VAL FFV LEVER 1.5-3 COMPLET $154.89
83377011CQ VAL FFV PUSHBTN 1.5-3 COMPLET $185.41
83377101C VAL FFV SSRLEVER 1.5-3 COMPLET $175.44
83377121C VAL FFV PORTCNTL 1.5-3 COMPLET $325.69
83377122C VAL FFV PORTCNTL 1.5-3 COMPLET $342.43
83377123C VAL FFV PORTCNTL 1.5-3 COMPLET $342.43
83377129C VAL FFV PUSHBTN 1.5-3 W/BLOCK $0.00
12931022 SOLENOID 24V50/60 ENCAPSD PINK $4.79
16779 FRAME C VAL ZINC CHRMTE CLEAR $4.44
18054 SWT MCRO-B 90GRAM 5AMP $5.71
18072002 ARMATURE ASY WTR $9.01
18072003 ARMATURE ASY SYR $6.90
18367 SPRING ARMATURE SS $0.91
19695001 GUIDE ASY 430FR $12.93
21610 HARN WIRE FFV COVER SWT-SOLND $8.91
23103000 HARN WIRE HOUSING FFV $2.63
23538001 KIT TOOL FFV CER SLEEVE REMVL $98.16
28259001 TUBE SYR DIFFUSER FFV SMFT $7.44
28259002 TUBE SYR DIFFUSER FFV $0.00
31525017 O-RING 426ID 070CS 70DU BU-N $0.38
31525031 O-RING 206ID 070CS 70DU BU-N $0.30
31525060 O-RING 459ID 040CS 70DU BU-N $0.51
39816001 SEAT ARMATURE $0.89




48257001 PLATE BONNET FFV $2.06
48258006 SPRING WATER FFV $0.48
48264 LEVER FFV $9.76
48265004 NOZZLE VAL FFV SBR NO STAR $2.72
48265006 NOZZLE VAL FFV WHT NO STAR $3.43
48265103 NOZZLE VAL FFV SBR STAR BLACK $2.83
48265104 NOZZLE VAL FFV WHITE STAR $2.72
48274 BLOCK VALVE FFV $8.12
48275 SHUTOFF FFV $6.69
48279001 WASHER- SPHERICAL FFV MTG BLOC $0.91
48280 BLOCK MTG ASY FFV $37.60
48520 SOLENOID AS 24V 50/60 ENCAPSD $6.30
49292 BODY VALVE FFV $13.03
49457 RING-QUAD (FFV) $0.41
49478001 SCREW TC 08-18 HXSL 14 SS 25 $1.12
49564001 RETAINER FFV $1.37
49796 SEPARATOR SYRUP BRIX NOZZLE FF $19.91
560005530 HARN WIRE & SWITCH ASY FFV $11.67
60003080 SCREW MA 10-32 RDSL 40 SSPA $0.56
60068021 SWITCH SNAP ACTION W/PC SWITCH $6.29
60280002 PISTON WATER CERAMIC SL $11.34
60281001 SLEEVE SYRUP CERAMIC SL $19.28
60281002 PISTON SYR FFV CERAMIC $9.07
61094009 SCREW MA 06-32 TRSL 08 SS $0.15
629088442 KIT FFV LOW FLOW SPRING $2.76
68200241 PORTION-CONTROL FFV $79.68
71815321 RING RET .245X.500X.027 SS PAS $0.40
71822024 SCREW 8-18X7/16ST SS TH PHL $0.48
71827290 CLAMP BRKT ASY PLATED $4.30
71828262 DIFFUSER ASY FFV $3.81
71828917 DIFFUSER ASY SYR TUBE FFV $9.16
71860282 PORT FFV VALVE SYR $2.72
71860288 PORT FFV VALVE WTR $2.93
71860290 ARMATURE $2.46
82453001 COVER FNT FFV/SEV $2.28
82454 COVER VAL BACK FFV/SEV $2.72
82463100 BRKT ASY FFV EXTRUSN $5.20
82606012 KIT COVER SABRE LEVER SODA $66.38
82606013 KIT COVER SABRE LEVER WATER $42.81
84996001 CONTROL FLOW ASY FFV 1.5 LOFLO $8.72
85033001 KIT CERAMIC FFV WTR FLOW CNTRL $40.33
85033002 KIT CERAMIC FFV SYR FLOW CNTRL $40.33
85164001 CAP QUALITY SEAL RED $0.38
38418004 NUT HEX 10-32 STPL KEPS $0.16
260042 MANIFOLD C02 4-1/AMF(OUTX1/4B) $0.00
27885001 VALVE BALL SMC $24.47
47936002 TANK ACCUM PRES BST 1/4-18MPT $176.24
48032005 GAGE 120PS| WTR w/FOLWR ARM $70.05
560004236 CLIP WIRE FRONT APEXX $0.00
560004381 MANIFOLD WATER APEXX BRP $0.00
60069064 VALVE SHUT-OFF BALL 1/2 FPT BR $39.49




60609100 CONN 1"SQ TUBE PLSTC BLACK $11.93
60691 VALVE CHECK 1/2"FPT BRASS $33.95
83909002 CORD SERYV 18-3 SJT $67.95
77400501 VALVE CHK DUAL BALL 7/16-20ML $23.10
77400601 VALVE CHK DUAL IN-LINE W/SCW $45.45
77605201 VALVE CHK VENTED DUAL 7/16M CC $161.00
83915 TANK SURGE SYSTEM McD $433.74
8755 KIT BOOST/SURGE W/SHELF EXPO $1,757.32
8792 KIT-COMP-AIR 1/4HP 230/50 GAS $2,196.00
K1011 FILTER AIR INTAKE $64.50
49293012 VALVE SOLENOID WTR&SODA OPT BK $119.02
60669001 BUTTON AIR SWITCH 2.75 DIA $0.00
60669002 BUTTON AIR SWITCH 1.0 DIA $19.44
60669004 SWITCH AIR ACTIVATED $27.69
60669100 KIT LRG AIR BUTTON REPLCMNT $49.45
60669101 BUTTON AIR ASY SODA OPT $31.73
60669102 BUTTON AIR ASY WATER OPT $27.20
84113002 CUP-REST CI2000 ICE 10.1X6.3 $115.54
84213005 DRIP-TRAY ASY CI20009700/650 L $747.18
84218300 GRILLE TOP HOOD CI6501+ 97 $51.01
86447001 PANEL SIDE TOP GRAY CI97 $88.36
86447003 PANEL BOTM W/DP CI97 $83.55
86448001M SPLASHGUARD RGHT CID 6501 GE $168.23
86448004M PLATE SPLASH DP LH CI97 6501 $0.00
84302100 BODY PRV WITH O-RING $14.81
84335 LEVER PRV $0.00
84340 TUBE SYR/WTR PLT ASY PRV $12.16
84348001 NOZZLE ASY 3.00Z PRV $7.25
84350001 SCREW 8X3/8 SS PH PLASTILOK $0.26
84353002 SWITCH ASY SODA PRV $104.18
261459 KIT CONVERSN CTC40 TO UCC40 $1,567.49
49497 KIT LEG UNIVERSAL $198.85
85193113 MOTOR-ASY AGIT 120/60 3.3DIA P $257.49
85193214 MOTOR-ASY AGIT 230/50 3.31DIA $415.66
07932 BRUSH CLEANING SMALL 1/4DIA $5.91
186074001 CONTROL ICE BANK RANCO 72" $113.14
199113000 OVERLD COMP 1/3TC 220V50HZ $11.72
230040 BRKT MTR AGIT CT40 $10.12
318129000 INSULATION PUMP RT AND LEFT $8.12
350015 BLADE FAN 10" DIA ALUMINUM $16.87
350078 MOTOR AGIT 15W 120/5/6 1500RPM $149.21
350094 MOTOR FAN 09W 120/60 1450RPM $104.33
350130 CORD PWR NEMA5-15P 10" $41.38
350176 TRANSFRMR 190/220V-24V 75VA $48.29
350182 SWITCH ROCKER $4.10
400060 FITG BARB 3/8 X 1/4MPT NY $1.01
400104 FITG-DRAIN ELBOW 1/2BARB $2.38
550087 COND-COIL C40/MILL $131.19
560007573 HOUSING ASSY MERCH CI 2000 $3,753.83
60440004 COMP 1/3HP 120/60 TCMSEH 134A $191.00
60602002 TIMER 240VAC 2SEC-ON 15MIN-OFF $134.49




86440040 PANEL LIGHT ASY 40" 120V CI97 $516.77
86495008 BUTTON FACIA ASY RHI 8V CI97 $1,235.62
WILSHIRE ICE PARTS
638032575010 KIT DRINK FRT IMD-30PB 6VAL220 $1,285.69
630901602 COMP 3/4HP 120/60 COPLND 404A $0.00
631500185 KIT SERVICE CURTAIN FALL LARGE $77.11
638000875 GASKET DOOR $1.55
638000901 PLATE INSULATION $0.95
638000923 INSULATION DOOR $0.82
638001914 CHUTE REMOVABLE FNT END $50.58
638003898 RELAY $65.67
638003924 SWITCH ASY $62.90
638004416 PIN PIVOT $3.41
638004418 SPRING TORSION UPPER $0.85
638004441 SPACER LOWER FS $2.95
638004443 SPRING TORSION LOWER $1.51
638004643-04 CONTROL WTR LEVEL ASY $228.03
638004791 SWT TOGGLE $19.75
638005826-02 DOOR LATCH $10.30
638007088-06 SCREW MA 1/4-20 HX 24 SSPA $0.51
638007206-04 NUT HEX 1/2-20 JAM $2.40
638007262-01 NUT TINNERMAN TYPE J $0.43
638007301-030 WASHER FT 2.0"OD X 1.01"OD $4.52
638007301-036 WASHER FT 1.5"0DX1.02 $13.20
638007337-02 RETAINER E RING $0.48
638007504 MOUNT VIBRATION 5/16-18 STUD $6.44
638008315 SWITCH DISP $115.26
638008483 SWITCH REED ASY $51.95
638008483-01 SWT REED ASY $42.59
638008483-06 SWITCH REED ASY $58.43
638008600-18 DISP MECH ASY $244.23
638009387 SWITCH BIN CONTROL $54.03
638009755 SWT PRESSURE $175.53
638010002 RELAY 220V $76.39
638010015 RELAY 220V 50 HZ $243.96
638010017 MOTOR FAN 20W 230/50 1200RPM $314.00
638010019 SOLENOID DISP MECH 2 $173.63
638030047 RELAY 24V COIL $88.35
638030819 FLOAT & STEM ASY $59.83
638030822 RESERVOIR ASY $63.44
638030823 KIT HARDWARE WATER LEVEL CONTR $53.43
638031002 GASKET DOOR $9.82
638031027 O-RING 1.975ID 210CS 60DU $10.87
638031036-001 DOOR IMD $10.07
638031108 DISP MECH ASY 120/60 $156.45
638031108-01 DISP MECH ASY 230/50 $137.80
638031156 SWT ICE LEVEL RW $79.73
638031205 CAPAC RUN 04 MFD 440V 60HZ $73.46
638031493-002 MOTOR-ASY GEAR 230/5/6 IMD6/30 $515.10
638031494-002 CONTROL ICE LEVEL ASY 230/5/6 $1,115.85

638031876

CONTROL TIMER DELAY 230/60

$377.35




638032039 CHUTE ICE IMD3/600 $159.16
638032122 DRIP-TRAY DCF DRINK FNT (NEW) $202.80
638032124 CUP-REST IMD-30 STND 17.5X5.2 $36.82
638032132 CHUTE ICE ASY DRK FNT IMD-30 $97.76
638032136 WINDOW FNT ICE CHUTE DRK FNT $19.50
638032143 TRANSFRMR 220/115V $92.60
638032545 CONTROL WTR LEVEL ASY $304.36
638032729 CUP-REST IMD-300 STND 14.1X5.2 $31.25
638032758-001 VALVE THERMAL EXPANSION $98.39
638032760 MOTOR GEAR 64W 120/60 XXXXXXX $525.52
638032844 TRANSFRMR ASY STEP DOWN 220/11 $58.24
638033508 DRIP-TRAY IMD600-90 FOAMED $321.90
638033509 CUP-REST IMD-90 STND 23.1X6.3 $122.96
638036004-01 PANEL TOP SS $105.33
638036063 GROMMET .18ID RBR $0.41
638036067 SWT-ASY BIN CONTROL WCC $207.37
638036085 PROBE THERMOSTAT ASY WCF $182.03
638036121 COND-COIL HEATCRAFT 3CZ14 02D $245.39
638036164 BEARING NUT ASY $263.92
638036213 TUBE- DROP EMBOSS 700 $50.38
638036253-01 PANEL SIDE RH $108.81
638036282-001 EVAP ASY/FOM MCC700 $515.10
638036373-001 EVAP ASY FOM MCC500 $438.70
638036867-001 CLIP CHRISTMAS TREES $1.21
638036869-001 TRAY FOAM DISPENSE ASY $142.21
638036872-001 DISP TRAY ASY FOAM MCC1000 $190.99
638036884 DETECTOR ASY ICE LEVEL $68.95
638038588 COVER PROTECTIVE DISP SWITCH $18.03
638038589 SWITCH DISPENSE RECT PB TEAL $80.25
638040093 BLADE-AGIT $32.74
638040096 RING DRIP $6.71
638040099 HOPPER ASY FOM $303.16
638041906 SCREW 1/4-20 X 7/8 FILLISTER $10.21
638041908 SHIM .625 OD X .379 ID X .030 $5.80
638041909 SPRING WAVE $15.70
638041923 BEARING NEEDLE SCE-57 $49.75
638041926 SEAL OUTPUT TAYLOR CR 9686 $23.21
638041938 SHIM .565 OD X .315 ID X .010 $3.84
638041939 SHIM .565 OD X .315 ID X .005 $3.41
638046300-27 MOTOR-ASY GEAR/CABLE 230/50 $1,339.52
638058292 BULB FLOUR 9W 6.5" $46.96
638059117 BALLAST PREHEAT 120v60 $11.66
638090050 MOTOR-ASY GEAR 120/60 MCC/WCC/ $1,306.38
638090050-002 MOTOR-ASY GEAR 2"D-DRIVE 120/6 $1,142.47
638090050-005 MOTOR-ASSY GEAR 230/50 2" D-DR $1,289.48
638090050-006 MOTOR-ASY GEAR 230/50 WCF712 $1,289.48
638090051 SEAL SHAFT 1" $39.96
638090052 RELAY 3 POLE $129.11
638090053 RING RETN-E $8.18
638090054 RELAY 208V $125.77
638090111 AUGER NUT ASY WCC500 $195.62




638090113 AUGER 2" D-DRIVE $487.41
638090116 SEAT SHAFT SEAL 2" $42.00
638090117 HEAD EXTRUDER ASY 2" CUBER $559.39
638090119 BEARING 2" NYLON $3.35
638090120 BEARING 2" DELRIN $3.64
638090126 VALVE EXPANSION $114.97
638090211-002 NUT AUGER 2.5" $147.00
638090213 AUGER 2-1/2" D-DRIVE $645.83
638090215 MOUNT SHAFT SEAL 2.5" $45.97
638090216 SEAT SHAFT SEAL-2.5" $53.24
638090217 HEAD EXTRUDER ASY 2.5" DIA $541.39
638090218 HEAD EXTRUDER ASY 2.5" $562.55
638090219 BEARING 2.5" NYLON $3.35
638090220 BEARING 2.5" DELRIN $3.64
638090226 VALVE THERMAL EXPANSION $131.70
638090233 MOTOR FAN XXX 230/50 1200RPM $404.00
638090236 MOTOR FAN 35W 120/5/6 1550RPM $217.36
638090242 RELAY START COMP 208V $59.03
638090311 AUGER NUT/DIVERTER ASY $518.57
638090313 AUGER 3.5" D-DRIVE $1,341.57
638090315 MOUNT SHAFT SEAL 3.5" D-DRIVE $141.83
638090316 SEAT SHAFT SEAL 3.5" D-DRIVE $213.87
638090317 HEAD EXTRUDER ASY CUBER 3.5" $1,221.18
638090318 HEAD EXTRUDER ASY FLAKER 3.5 $776.69
638090319 BEARING 3.5" NYLON 40DEG BOSS $5.85
638090320 BEARING 3.5" DELRIN 80DEG BOS $6.45
638090324 CAPAC SRT 88-106M 250V 60HZ $32.18
638090326 VALVE THERMAL EXPANSION R404A $117.98
638090335 EVAP TUBE ASY FOAM $1,083.44
638090344-002 MOTOR-ASY FAN 75W 230/50 WC110 $205.92
638090350 CONTROL WTR LEVEL ASY 3.5 $181.88
638096723 FAN BLADE $26.04
163424000 STRAINRELIEF NY BLK $0.21
630000598 BASE CHASSIS W/A UC700 $206.45
630000714 BIN STORAGE ASY (DCF 90) $799.84
630900630 SCREW SH 10-24 KNSK 40 STBL $1.90
630900766 GASKET STORAGE BIN 2.0 $13.04
630900769 RETAINER RING 2.0 $16.92
630900947 SWT-ASSY BIN CONTROL ELREHA 23 $95.60
631500057 KIT COLLAR EVAP W/BIN 300-30 $1,589.12
631500122 KIT THERMOSTAT 700/500 230V $165.73
631500317 KIT EVAPORATOR CONVERSION WCC7 $2,154.98
631500318 KIT GEAR MTR WCC2001/WCF2201 $1,855.02
631500319 KIT GEAR MTR WCC1001/WCF1101 $0.00
638032731 COVER TOP IMD300-15 $91.45
638032759 SPACER - EYELET $3.30
638032760-002 MOTOR GEAR 80W 230/50 XXXXXXX $241.92
638032763 MOUNTING BLOCK-REWORK P/N31146 $0.00
638032797-001 CABLE TRANSMISSION,DCF302-15 $31.10
638032822 CHUTE ICE ASY IMD-15 $51.27

638090000-001

MOTOR GEAR XXX 230/5/6 8 RPM

$826.80




638090001 MOTOR GEAR XXX 120/60 8 RPM $769.60
630000459 MOTOR-ASSY GEAR 230/50 FRONT E $0.00
630900411 GRAPHICS IMD41 COCA-CO INT $0.00
631500019 KIT-COMP 3/4HP 230/50 COPLND $1,083.00
638032049 LABEL ICE DISPENSE IMD PB TE $9.69
JETSPRAY PARTS
18817 FITG-PUSH 3/8TUBE X 1/4FPT $11.28
7218070 SUPPORT ELBOW JOINT $16.57
A0767 BULB THERMOSTAT W25 $84.70
A1884 DIAPH DUMP VALVE $10.87
A3914 LINE TANK INLET WATER SS $31.39
A3918 LINE WATER INLET COPPER $9.48
A4382 ADAPTER ADJ DISPENSING VALVE $120.98
A4471 FLOAT ROD ASY W/BOOT $63.22
A4476 VALVE ADJ DISPENSE 220V $97.00
A4477 INLET SOLENOID VALVE 220 $83.55
A4750 FUNNEL PORTABLE W/RIB MPH $10.83
A4802 HEATER COIL GASKET $11.91
A5410 INLET WATER SOLENOID $87.17
A5794 PIN- HOPPER RETAINING W/CLIP $6.58
A6151 SEAL WHIPPER SHAFT VITON $4.68
A6158 BASE WHIPPER ASY VITON SEAL $43.95
A6510 HOOD BLACK W/CHOCOLATE DECAL $55.59
A6610 RETAINER SEAL $6.21
A6809 MOUNT ASY WHIPPER MOTOR $8.54
S3715 COVER FUNNEL HC $66.67
S3721 SHAFT WASHER $0.56
S3756 FUNNEL NO RIB HC2 $18.25
S3759 IMPELLER HC2 $5.38
53868 FLOW-CNTL RESTRICTOR HSG HC2 $6.48
S4449 THERMOSTAT $54.94
S4452 YOKE PLSTC $5.99
S4453 SPRING CLIP PKG OF 6 $5.62
S4495 MOTOR- WHIPPER 120V $165.94
S4496 MOTOR- WHIPPER 230V $406.17
S4506 WASHER- .560 X .328 S S $1.03
S4549 FITG-DRAIN PLUG W/TEFLON TAPE $4.30
S4574 FITG CONN $7.05
S4576 RIVET SPR RET PKG 6 $8.33
S4618 HOUSING BLENDER/DEC $17.82
S5171 DRIP-TRAY HCL-3 BROWN $22.05
S5607 OUTLET CHECK VALVE $9.59
55648 BALL PLSTC HCL3A $1.03
S5787 DIAPH PUMP $50.82
S7263 SWT PUSH-B SPDT M-ON/N/F $12.45
S7335 GROMMET TK TO TUBE $8.11
S7336 GROMMET SOL TO TANK $4.68
S7632 FITG- RUBBER $4.72
S7692 PADDLE FOR SQ HOPPER $21.45
S8007 COUPLING DRIVE AUGER PLSTC HC2 $8.73
S8155 PIN RETAINER DRIVE PLSTC $6.12




S8157 RETAINER CLIP PAK-6 $11.28
S9179 HOPPER & COVER HC20 $34.48
S9266 PANEL SIDE ASY LH/RH $32.73
S9267 PANEL FENT JT/JWT20 $65.23
14857 HOUSING BLENDER CUT $14.82
A5629 PLUG RESTRICTOR LO FLO $9.43
A5875 HOPPER ASY COMP LESS AUGER $74.11
A6267 HOPPER WITHOUT LID $49.96
S5561 AUGER $27.12
S7590 HOPPER & COVER #10 TIN HC3 $32.80
A1358 BASE HOPPER ONLY BLACK $35.80
A1649 PIN- SUPPORT WASHER PKG 6 $5.77
A6826 CARTRIDGE HEATER 230/5/6 2000W $244.57
58232 PLUG HEAT MP1 $84.86
S8665 SLEEVE HOPPER PLSTC $50.55
S8668 AUGER PLUG ASY $84.42
18391 OVERLD 8300MRPG06 $19.93
18628 FITG- WATER INLET $15.87
18910 TUBG ZELITE POLY $2.40
A2962 KIT EXT LEG $481.80
A4188 FILTER BACK PANEL JS7 $4.41
A4349 FITG- RUBBER TEE $15.85
A4350 INLET SOLENOID VALVE 120 $74.81
Ad441 TUBG RUBR $16.18
A4475 FLOAT ASY COMP SS $90.46
A5413 VALVE ADJ WATER FLOW DISP 24V $107.58
A6855 PORTION-CNTL SWITCH PACK $155.64
A6897 HEAD PUMP MACHINED 0J2000 $47.20
A7036 BOARD TERMINAL ASY INT $282.58
A7353 DECAL SHT SWITCH BUTTONS $11.95
A5404 BASE HOPPER NHP $191.83
12162 COVER BOWL SHORT $35.00
13927 PLATE COVER SWITCH 20+30 JWT $24.25
14434 SWITCH SPT ASY JW $11.25
18359 COMP 1/5HP 120/60 TCMSEH 134A $305.00
18361 COMP XXXX 230/5/6 TCMSEH 134A $527.56
18710 PANEL FNT JS7 $27.40
18714 BASE PLATE - JT20 (F) $0.00
18720 PANEL FNT JT30 $76.67
18778 BLADE FAN 6 BLADE 6 1/2" DIA A $12.00
724554 #10 X 1/2 THMS-ST-PHIL-NI $0.25
8468 WASHER STAR #10 SS $0.20
8469 SCREW SS 10-32 X 1/4 $0.20
A2476 LABEL SWITCH DECAL JT $21.42
A7969 JT20 TO JWT201 CONVERSION 230V $654.00
A8228 COND-ASY STD W/TRAY WHT NEW ST $0.00
18334 SWITCH ON-OFF JS/JT/TJ3 $18.49
18335 LABEL SWITCH $5.83
18336 LABEL SWITCH $5.83
18355 COMP XXXX 230/50 TCMSEH 134A $480.00
18369 OVERLD $11.07




18449 DRYER 134A JT30 $7.67
18567 RELAY (FOR 18356 COMP) $0.00
18715 PANEL FNT JT20 $57.20
18747 DRIP-TRAY ASY JT/JS/JW WHITE L $53.19
18747001 DRIP-TRAY JT/JS/JW WHITE $15.91
18747002 CUP-REST JT20 STND 07.0X5.9 $14.88
7218368 RELAY START $16.89
A0423 CLIP IMPELLA SUPPORT $1.19
A1168 MOTOR-ASY GEAR 230V JK2 $0.00
A1620 IMPELLER CIRC ASY FOAMY 02 FIN $48.29
Al1717 SPACER SWITCH PLATE TJ PKG4 $39.61
A1753 MOTOR ASY SPRAY DRIVE JT $136.19
A1869 MOTOR-ASY FAN 120/60 JT20 $120.16
A2011 FILTER SIDE PANEL JT $9.81
A2013 FILTER $16.62
A2072 SPRAY DRIVE ASY $144.19
A2081 SPACER COVER MNTG HDWR $6.18
A2256 MOTOR- WHIPPER 120V $311.28
A2475 SWITCH REF JT UNITS $28.34
A2549 PIN SUPPORT IMPELLER W/CLIP SS $16.49
A2566 MAGNET WHIPPER IMPELLA $60.66
A2569 CHAMBER WHIPPER JW6 $149.32
A2754 SWITCH WHIPPER MOTOR $17.33
A3058 IMPELLER & SUPPORT PIN $34.30
A3060 SCREW JS/JTSIDE CLIP $5.04
A3192 IMPELLER J15 W/SUPPORT PIN $33.65
A4298 SWITCH MICRO $12.28
A4446 MOTOR FAN 09W 120/60 XXXXXXX $205.99
A4451 BLADE FAN JT30 $21.65
A7293 DRIP-TRAY TJ3 WHITE $37.50
AT7295 CUP-REST JET TJ3 STND 14.6X4.7 $25.40
A7296 DRIP-TRAY ASY JT/JS/JW WHITE $48.61
A7298 PANEL BACK WHITE OPEN $0.00
A7304 PANEL SIDE RH WHITE EJ1//315 $57.12
A7305 FRAME SIDE WHITE $41.09
A7308 GRILLE STD WHT SIDE TJ LH $29.32
A7310 DRIP-TRAY ASY JT/JS/JW WHITE L $52.64
A7315 PANEL BACK STD WHT BLOCKED $65.23
A7316 PANEL BACK ASY STD WHT $56.54
A7319 PANEL BACK ASY VT CVR STD WHT $68.67
A7342 CUP-REST EJ1/J15 STND 12.5X6.2 $16.20
A7343 DRIP-TRAY EJ1/J15 WHITE $39.02
A8357 KIT-COMP 1/5HP 120/60 TCMSEH $939.56
A8360 KIT-COMP XXXX 230/50 TCMSEH $565.34
A8364 KIT-COMP 1/3HP 120/60 TCMSEH $517.27
S1085 MAGNET ASY $47.60
S1249 CORD SERV $22.19
S1630 MOTOR FAN 06W 120/5/6 1550RPM $111.00
S1717 GASKET BOWL SEAL $37.60
S1748 IMPELLER 254/258 GRAY POLYPRO $19.92
S2220 RELAY COMP 230/50 TCMSEH $43.33




S2397 MOTOR FAN 06W 230/5/6 1550RPM $116.73
S2498 COVER EJ1/J15 BOWL ASMB $220.88
S2721 IMPELLER ASY $64.09
S2722 TUBE SPRAY $37.20
S2747 CONTROL TEMPERATURE $50.58
52828 OVERLD $24.62
S2836 PLATE SWITCH SPRAY W/ $18.65
S2837 PLATE SWITCH REFRIG $21.78
52883 MOTOR-ASY FAN/BLADE 120/60 J15 $154.24
S3004 SWITCH TOGGLE ON/OFF $10.01
S3067 OVERLD $24.62
S3136 DECAL XXXXXXXX XXXXXXX LHS DOM $10.52
S3137 DECAL XXXXXXXX XXXXXXX RHS DOM $10.52
S3138 LABEL SWITCH CONTROL PANEL $18.93
S3150 HANDLE PIN ASY $28.15
S3159 LEG-SET REPLACEMENT PEDESTAL T $34.68
S3169 TUBE SPRAY $29.21
S3170 GASKET BOWL TJ3 $24.42
S3171 MOTOR-ASY FAN/BLADE 120/60 JT2 $111.00
S3195 MOTOR FAN XXX 230/50 XXXXXXX $109.86
S3237 THERMOSTAT TJ3/JR2 $62.94
S3273 BOWL PINCH TYPE $224.52
S3338 COVER BOWL $173.95
S3354 GASKET SEALING BOWL SPOUTT $0.82

S3355 FILTER GRILLE SIDE TJ3 $5.62

S3357 SPRAY ASY 115V $163.66
S3358 SPRAY ASY 220V $169.38
S3402 HOUSING PUMP $56.16
S4081 SPRING CLAMP J15 PK6 $4.53

S4206 TUBE- PINCH $4.36

S4363 TUBE- PINCH SPRING $0.96

S4381 HANDLE PUSH ASY COLD PROD $41.66
S5847 IMPELLER MAGNETIC J15 $42.26
S6082 TUBE SPRAY $42.61
S6127 IMPELLER ASY BEIGE $62.94
S6138 GRILLE ASY SIDE $40.43
S6259 COVER ASY PUMP $68.67
S6361 VALVE CHK ASY J15 $17.34
S6600 GASKET BOWL JS7 $18.75
S6641 SPRAY DR ASY COMP $200.27
S6642 SPRAY DR & FAN MTR $148.55
S6657 THERMOSTAT JS7 $64.09
S6670 TUBE SPRAY JS7 $13.46
S6672 LABEL OPERAT FNT PANEL $12.04
S6676 COVER BOWL JS/JT $131.61
S6677 HOUSING PUMP ASY JS7 $81.25
S6793 PANEL SIDE ASY JS7 $28.15
S6854 IMPELLER & BEARING SCREW $33.53
S6867 SPRAY DR & FAN MTR $184.25
S6901 GASKET BOWL SPOUT $0.96

S7035 IMPELLER BEARING ASY $35.59




S7046 PUMP ASY JS7-W25 $84.69
S7289 DRAIN-ASY CONDENSATE $9.96
S7341002 CUP-REST JT/JS STND 07.0X5.9 $21.92
S7683 SWITCH & COVER PL JS7 $30.08
S7737 DRIP-TRAY ASY JT/JS BEIGE LRG $44.47
A0791 BOWL 3 GAL ONLY $172.21
A0974 KIT BOWL LOCK JS7-JW5 $184.20
A2162 COVER BOWL 3 GAL $97.28
A3035 KIT JT20 BOWL LOCK $238.04
S6469 HANDLE PUSH NON CUP CONTACT $61.80
S6737 IMPELLER CIRC ASY PULPY 02 FIN $47.38
S6750 MAGNET ASY ONLY $25.75
OTROS
0011 FITG- IN CARB & PLAIN WTR $3.83
0228 PUMP WATER 06 GPH 230V $409.05
1320 BLOCK VALVE NYLON $3.90
3428 KIT REPLACE PROBE CARB/CONVBLE $42.07
31525012 O-RING 301ID 070CS 60DU BU-N $0.33
36115006 MOTOR AGIT 18W 230/50 1250RPM $91.03
398033002 O-RING 239ID 070CS 70DU BU-N $0.36
47744001 PUMP 100GPH 30PSI RELIEF VLV $617.64
560001324 LABEL WARNNG PRESSURE HIGH $0.00
569030114 KIT BUTTON FACIA ASY CI 20 $126.43
60061039 MOTOR PUMP 1/3 230/5/6 1725RPM $260.00
60090004 BULB FLUORESCENT F30T8/CW CE $0.00
60259 LEG LEVEL 3/8-16 4"LG CAST $21.46
60310 BLADE FAN THURGEN AGIT MTR $3.83
60381 SCREW ST 08-32 SCKT 10 DOG $0.79
60384 BLADE FAN 11"DIA 5BLD 21D ALUM $32.48
61102006 FITG-CAP 3/8 FLARE BRS TIN $0.00
64678 SPRING $0.68
64686 SLEEVE SS CHK VLV $3.21
65267001 VLV DBL CHK ASY $0.00
710660001 PROBE ASSY INSRT MOLD OMEGA $27.25
71827615 SWITCH KEYLOCK $24.38
71860230 VALVE PRES RELIEF LNCR 54-0066 $19.25
71860576 CONTROL ICE BANK RANCO 72" $112.93
71860673 MOTOR PUMP 1/3 230/5/6 1725RPM $403.98
82969200 CUP-REST OMEGA STND 23.2X6.3 $412.75
82969201 CUP-REST OMEGA STND 23.2X6.3 $125.89
83051201 DRIP-TRAY OMEGA (MCD) $173.00
83518100 VLV MTG PLT ASY 8V OMEGA $0.00
84445006 COIL ASY OMEGA+ 4/2 6V $1,730.35
84445009 COIL PROD ASY OM+ 5/3 3/8BRB B $1,934.06
85157110 COND-COIL OME/OME+ /REM $161.92
85157242 MOTOR-ASY AGIT 230/50 2.8DIA P $275.60
85157246 MOTOR-ASY FAN 230/50 OME $0.00
85162005 COIL PROD ASY OMG 8FL 3/8BRB O $2,255.64
060220121 FOAM PACK ASSESMBLY BRIGHOUSE $0.00
060220128 DOOR ASY FBG FREEZE UK $0.00
060225017 DOOR FREEZE CYL - FBG $0.00




189429000 NUT HEX 1/4-20 STZI KEPS $0.30
342663000 SCREW TC 08-32 PAPH 12 STZI 23 $0.44
343417000 SCREW TC 10-32 PAPH 12 STZI 23 $0.30
45087 COVER TOP HINGE $64.09
45088 COVER BOTM HINGE $13.05
480332 WASHER NYLON FLARE 3/8 $0.16
49154 PLATE HINGE UPPER $5.21
49155 HINGE BOLT SHOULDER $13.61
49157 BUSHING UPPER HINGE $7.52
560004901 HANDLE, PULL POCKET ABS $8.50
60622101 FITG L-BRB 3/8 X 3/8MPT NY $2.44
620201709 LUBE SILICONE NC-1115 Oz $0.00
71010 WASHER- RETAINING #8 $0.18
750300159 FITG-PUSH 3/8STEM X 3/8BRB $2.82
720201439 LATCH ASY QST (SERVICE ITEM) $45.78
720401107 BOTTLE ASY QST $115.97
729011004 KIT SPLASH PANEL EXT QST 2 $146.40
729011126 KIT BIB 2 HOLE OPTION QST-NT 2 $377.42
729011132 KIT QUEST PARTS STOCKING $1,804.59
31001 THERMOSTAT 2230 $70.00
32244 TERM STRIP 2TERM 20A $4.12
32382 MOTOR DRIV 1/3 120-230 1725RPM $247.00
50119 HOSE PLSTC 5/8 ID X 1/8 WALL $1.49
50336 PIPE-PVC SCH 40 3/4" X 20' $0.00
50951 FITG ELL-90 3/4 SOCK X 3/4 SOC $1.52
70018 NUT HEX 1/4-20 KEPS $0.09
70023 NUT HEX 04-40 STCA KEPS $0.04
70545 CLAMP HOSE 312-875 $1.44
70910 SCREW MA 10-32 TRPH40 SS FS $1.08
620046248 DRIP-TRAY ASY TOWER A&W $0.00
569200618 KIT PYTHON RECIRC PUMP/MOTOR $0.00
569200619 KIT A& W PROJECT $0.00
162964027 COMP 3 HP 230/60 COPLND 404A $0.00
162964046 COMP 2-1/2 240/50 COPLND 404A $0.00
164847002 EVAP ASY 322 (FOR MFG ONLY) $0.00
164847003 EVAP ASY 522 (FOR MFG ONLY) $0.00
180353000 VALVE RELIEF ASY GRAY $0.00
2129 COMP 1/3 HP 120/60 R134A $0.00
30895 ACTUATOR SWT 2230AK6 $0.00
310445000 TUBE CUT 500 VNYL 60" $0.00
32824 MOTOR GEAR XXX 230/5/6 XXXXXXX $0.00
350007 BLADE-AGIT 2.42D $0.00
42560 BEARING SHAFT 1.500DX2.70CD200 $0.00
48808001 NOZZLE MIXING SLJ $0.00
49130 TUBE- THERMOSTAT BULB MDJ2 $0.00
52154 LID GRAY DB250/275 $0.00
560002392 TUBE CUT 250 POLY 02" 3750D $0.00
560004202 FLANGE ASY BACK CYL PCL $0.00
560006061 STATOR MTR DC DRIVE EMERSON PC $0.00
60689 LABEL WARNNG TOP HEAVY MCDN $0.00
620045203 PAD GRABBER ABS $0.00




620314901 MOTOR GEAR 38W 140RPM $0.00
620511705 MERCHNDSR DF150-8/175 W/O BRKT $0.00
620903702 GRAPHICS ED175 COCA-CO DOM $0.00
6209208210PR MANL OWNER ABS AUST $0.00
620920907 LABEL WIRING ELECT EMERSON $0.00
630000716 BIN STORAGE ASY DCF30 $0.00
630000815 EVAP & PLATE LH 1230 .001 THK $0.00
630000816 EVAP & PLATE RH 530 .001 THK $0.00
630000882 BASE W/A BOSTON INTELLI 4X12 $0.00
630001001 HOSE ASY CARB TO C-PLT BARB 1. $0.00
630201027 GASKET FRAME EVAP L LARGE $0.00
630201028 GASKET FRAME EVAP R LARGE $0.00
630201156 WRAP CAB 1444 X SERIES $0.00
630201198 WRAP CAB X SERIES 1230 AC $0.00
630800273 S-WRAP 2323 45.25 $0.00
630900598 BOARD CNTL PENSAR $0.00
630900685 PAN WTR 1030/1400/1448/2448 LH $0.00
630900738 COMP 3/4HP 230/60 TCMSEH 404A $0.00
630900739 COMP 3/4HP 240/50 TCMSEH 404A $0.00
630900923 COMP 1-1/2 230/60 TCMSEH 404A $0.00
630900973 COMP 1-1/4 230/5/6 TCMSEH 404A $0.00
630901011 MOTOR FAN 50W 230/5/6 850RPM $0.00
630901034 COMP 1-1/2 240/50 TCMSEH $0.00
630901640 TRANSFRMR 75VA 24V 230/50-60 $0.00
638090321 COMP 1 HP 240/60 COPLND 404A $0.00
638090331 COMP 1 HP 240/50 COPLND 404A $0.00
720507101 NOZZLE STATIC MIXER ASY QST (M $0.00
750100133 REF WATERBATH ASY S $0.00
750200133 LINER WATERBATH ASY M $0.00
99016 LABEL IDENT FLOW VTA CHECK $0.00




